
-;i,,i;- -'JHE· -ill•E- -:JnE- -JuE- -'Jul:· • If- -:!HE· -JuE- -:tut- -M- -:!HE-· -JffE- -JHE-
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·"JnE- ·-:IRE- -JffE- -:JnE- -JuE- -:!HE- • If- -3HE- -3Ht- -3HE- -JuE- -:JnE- • If- -JuE-

1 GOT030 '*** TFC-80 Copyright Cc> 1984, Robert S. French •• All Rights Reserve 
cl *·*ti· 
2 GOT0115 'Error handling *** Serial number 1.06/2.02/000 *** 
3 GOT095 'Strip trailing spaces 
4 GOT0100 'Cnvt to upper case 
5 GOT0105 'Cnvt ta upper/lower 
6 GOTOB5 'Input a line 
7 GOT0180 'Search for fiS,11$ in password 
8 GOT0200 'Display a file 
9 GOT070 'Return to startup 
10 GOT0305'Return ta menu 
11 GOT0210'Extract group name 
12 GOT0340'Force a command 
13 GOT0225'Extract date/time 
14 L 1::<:A: OPEN"R", FD 9 "USERLOG/TFC", Ll: FIELDFD, 2ASNC:$:, '.;;::5AS Cf-.:j~, 5ASTM::lr., 2ASl\!M:t-: N 1:=L.Cl 
F ( F"D) : HETUHN 
1~5 1 ... 2°-=69: DF'EN"R" ,FD, "DSC 11 +CHR~1; (PFH48) +F(IGHT:$: ( 11 000 11 +MID$ (S""fF.:$ <DG) ,2) ,::-::;) +" /TFC" ,L.2 
:FIELDFD,32ASDS$,2ASSZ$,25AS CR$,5ASTM$,2ASDN$,2ASTD$,1ASBI$:N2=LOF<FD):RETURN 
l 6 L.::::;== :I. 09: OPEN II R" , FD, A:$:, L:3: FI ELDFD, 40.ASTT::f::, 2~5ASSD$, 5ASTM$, 2ASMN$, 4ASPS::t::, 25ASWT$, 
2ASNR$,2ASPM$,1ASPT$,2ASNL$,1ASRC$:N3==LOF<FD):RETURN 
i 7 OPEN" F<'." , FD, 11 CONF I G / TFC" : FI ELDFD , 40{-,SNM$, 2ASNC$ , 1 ASRB$ , 15ASVR$, 1 ASE(~:_:j_:: 9 1. ASE 1 ::{::, 1. 
ASE2$,1ASE3S,1ASE4$,1ASE5S,1ASE6S,1ASE7$,25ASFA$,25ASFB$,25ASFC$,25ASFD$,1ASSC$, 
1ASTK$,3ASP1S,1ASP3$,3ASP2$,1ASP4$,8ASP5$,8ASP6$,8ASP7$,8ASP8$,1ASLI$:GDSUB110:G 
ETFD ,1 1 : RETI . .JFH•~ 
1 B L..4:::::(:A: CJ PEN II F~" , FD, "P{-'.iSt,WOF(D / TFC 11 , 1...4-: N4::::LOF (FD) : FI ELDFD, 12(48L$, 12ASF:$:, 8?'.)SPt-'J:t-, 2A 
SAC$,3ASPR$,5ASLL$,5ASL9$,2ASNZ$,2ASNP$,2ASND$,2ASNU$,1.ASVW$,1.ASNN$ 1 1AS CN$,1.ASE 
W$,1ASMW$,2ASL.ZS,1ASTL.$:RETURN '1 to spare 
1 <;> l..!5:=64: OPEN II R 11 , FD, "Gf~(JUPS 11 +CHR:$ ( LV+48 > + 11 / TFC 11 , L5: FI EI..DFD, ::-::;0ASG:t-, 24?,f3 CR:i=, ~5ASTC 
S,2AS GN$,1ASAN$,2ASDU$:N5=-LOF<FD):RETURN '2 to spare 
20 ' 
26 GOT0545'Make log entry 
27 GDT0270'1..ookup a group name/number 
'.:"28 L.6=<?6: OPEN" R" , FD, A$, 26: FORX==0TO 12: FI ELDFD, ( 2* X) ASDLJ::f';., 2ASV:$: ( X) : NEXT: FI EL.DFD, 2~i 
ASSD$,1AS CA$:N6==LOF(FD):RETURN 
29 GDTD540'Check time remaining 
30 CLEAR5000:DEFINTA-Z 
35 DEFFNGS==FNIS(FNH$) 
40 DEFFNH$=CHR$(PEEK(OU+18))+CHRS(PEEK<OU+17))+CHR$(PEEK(OU+16))+CHR$(PEEK<OU+15 
))+CHR$(PEEK(OU+14)) 
45 DEFFNI$(X$)==USR0(X$) 
50 DEFFNP$(X$,X)=X$+8TRING$(X-LEN(X$) ,32) 
55 DEFFNE(XS,Y$)==ASC(MID$(Y$,4))*60+ASC(MID$(Y$,5))-ASC(MID$(X$,4))*60-ASC(MID$( 
XS,5))-1440*(ASC<MID$(X$,4)))ASC<MID$(Y$,4))) 
617) DEFFNAT:t < c, R > ==CHR$ < 27 > + 11 v 11 +CHR~t- < R+::::;2, +CHR$ < c+:::~2 > 
6!5 GOGUB 1000: MERGE II MODEM/ DVf~ 11 

70 I FOV=--= l. THEN80ELSEOV== 1 : ONEPRORGOT02: CMD" F" , DELETE 1000-·· 
7~:.i DI\J[-:Js:RORGOT02: MERGE" LOGIN 11 

80 DNERRORGOT02:GOT01000 
85 POKEOU,TS:POKEOU+4,ML:PDKEOU+1, (TADR(EC*4))AND223:NAME0A$:POKEOU+1,TA:IFA$=CH 
fs::$= C~:~:f.:i) THENAS== 11 O 11 : A3$== 11 Last c: ar--r i er··" : GOTO 12 
9iZt RETURN 
95 NAME3A$:RETURN 
100 NAME1A$:RETURN 
105 NAME2A$:RETURN 
110 FDRI~0T09:FIEL.DFD 9 (25*I)ASDU$,25ASL.1$(I):NEXT:PETURN 



115 ER=ERR/2+1:IFER=20RER=50RER=60RER=90RER=110RER=63THENRESUMENEXT 
12fJ DNEf.:.:F<ORGOTO l 55: POKf.::OU, TS: I FER< !:.."i0THEN l. ~;::5ELSEPF~ I NT: PF< I NT 11 :::::::::::::::::::::: > Di!::; k er~ r· or: 11 ; 

: CMD 11 E 11 : Pf~INT 11 ::::::::::::::::::> ErrcJr :~t 11 ER 11 oc:cured in 1 i ne 11 Et=-.:L: P!::;:INT 11 =:•-==•==> Pl f,:,3.~:i<=: notify t 
he f:1ysop ! ! 11 : Pr.:.: I NT: PR I NT: QW~t-=--= 11 -M·** Disk Error: 11 +EHR$ (ER)+ 11 in 1ini;:1 11 +STR::!:- (ERL.)+ 11 ** 
-~II 

12!:i GOSUB26 
130 DNERRORGOT02:RESUMENEXT 
:l :~:;a!:5 F~E .. :f."JUME l. 4-0 
l 40 PR I NT: PF< I NT 11 ::::::::::::::::: > Syst.f:m Fatal Error! ! ! ! <=====•-=== 11 : PRil\!T: PRINT 11 ErTor cnclp 

==== 11 ER II i n 1 :i. n e II E!=.:L 
14!:i PFUNT:PRINT 11 =====> Please notify the Sysop! ! <===== 11 :PFUNT:PRINT 
150 QlAJ~f-= 11 *-iHt Fatal Error: 11 +STR:t- (ER) + 11 in 1 ine 11 +STR$ (ERL) + 11 ***": GOSIJB26 
1~~ GOSUB20:0NERRORGOT0175 
l60 IFER=62THENCLOSE3:GOT0170 
165 FORX=1T04:0NERRORGOT0175:CLOSEX:NEXTX 
17(Z1 GOTO l 70 
17::i Fi:ESIJMENEXT 
180 L1$=FNP$(L1$,12):F1$=FNP$(F1$,12):L=N4:R=1:F1=0 
185 M=INT((R+L)/2):IFR>LTHENRETURNELSEGETFD,M:IFL$=L1$ANDF$=F1$THENF1~-1:RETURN 
190 IF(L$+F$)((L1$+F1$)THENR=M+1ELSEL=M-1 
1 9!5 GDTO 18~5 
200 OPEN 11 I 11 , 1 , F9$: F'OKEOU, TSORB: PF< I NTCL.~1,:; 
205 LINEINPUT#1,A$:PRINTA$:IFEOF(l)THENCLOSE1:POKEOU,TS:RETURNELSEIFPEEK<OU><><T 
SOR8)THENCLOSE1:F'OKEOU,TS:RETURNELSE205 
210 GOSUB3:GOSUB4:G1=1 
2 :!. :i L 1 :;j:::::M I D:=t:: ( A~t-, G 1 , 1 ) : I FL.1 :!!:=== II II ORL 1 $=::: 11 -- 11 THEN2'.,;-:~0ELSEG 1 ==G 1 + 1: I FG 1 < =LEN ({~:El:-) THEN21. !:\ 
220 A$=LEFT$(A$,G1-1):GOT05 
Z~:i S 1 :1,:=STR I NG$ ( 5, 0) : C-:lOSUB3: GOSUB5: I FLEFT~t- (A$, 1 ) = 11 L II THENS 1 :!!:==LO:$:: RETURNELSE I FLETT 
::t; ( A:,~: , 1 ) ::: 11 S II ANDLEFT:t ( A:t-, 2) < > 11 Se II THENS 1 ::1:~:::::L.8$: RETUF<NELSE I FVAL (A::!:-) < >0THEN240ELSEAl.!-:=t::::: 
LEFT$ ( A:t-, ::::: ) : FDRHX= 1 TO l 2: I FM:$ ( HX) =A4:!l:=THENMI D:$: ( Sl ~t-, 2) ==CHR::1:- ( HX) : CMD II F=-0=POPN II ELSE NEXT 
HX: GCJT026::'.:i 
2:~:0 MI I):=j;: ( S 1 :t,, ~~::, 1 ) =CHR~!:- ( VAL (MI D::I:= (A$, 4, ~5) ) ) : I= INSTR (A:$:, 11 , 11 ) : IF I ===0THENM ID:!!:= ( S l ~t::, 1 , 1 > 

==CHR$(PEEK(iJU+18))ELSEHX==VAL<MID$(A$,I+1,5)):IFHX<100THENMID$(81$,1,l>==CHR$(HX>E 
L.SEMID$CS1$,1,1)=CHR$(HX-1900) 

~;~40 MI D::I:: ( S 1. ~~:, 2, 1 > =CHF<:t- ( VAL (A::!:-) ) : I= INSTR (A$, 11 / 11 ) : IF I =0THEN265ELSEM I D:t- ( S 1 :$:, ::::: , 1 ) ==CH 
R$(VAL<MID$(A$,I+1))) 
24!:.i I:::: I NSTr.:.: ( I+ :l , A~~:, 11 / 11 ) : IF I =0THENM I[):!!,: ( 81 :t:, 1 , 1 > ==CHR:t- ( VAL (MI I):$: (TI ME:$:, 7; 2) ) ) ELS EM ID 
$(S1S,1,1)==CHR$(VALCMIDSCAS,I+1,2))) 
:2:i0 I:::: INSTR (A:$:, 11 : 11 ) : IF I ==0THENM I I):$= ( S :L :;j::, 4, 2) =CHR$ ( 0) +CHR$ ( 0) : RETURN 
255 MID$(81S,5,1)==CHR$CVAL<MIDS<AS,I+1))):GOSUB4:HX=VAL(MID$(A$,I-2)):IFINSTR(MI 
D:=t:: (A:$, I-'.?), 11 P 11 > THENIFHX< >12THENHX===+!X+12: IFHX >23THENHX::::=HX--24ELSEELSEELSEIFHX===12TH 
ENHX=•=0 
260 MID$(S1$,4,1)=CHR$(HX):RETURN 
26~':i PR INT II Il 1 egal date/ti me stri n1;1 ! 11 : IFRETHENRE:::.00: RETURNELSEl.0 
270 X=0:Y=0:AN=0:F1=-1:GOSUB19:IFN5==0THENCLOSE4:PRINT''There are no active groups 
! 11 : F<:ETURNE!...SEGOSUB11.: IFAi~:="*"THENF1=0: CLOSE4: RETURN 
2?:i I FA::!,::::: 11 ? 11 THE NA~~== 11 11 : X ••:0: Y==0: F 1. :::::eJ: AN:::12): fiETUf,:N 
2B0 IFA$= 1111 THENPRINT 11 Null gr-·cJup name illegal! 11 :RETUF~N 
285 IFVAL(A$)<>0THENY=VAL(A$):IFY>=1ANDY<=N5THENGET4,Y:GOT0295EL.SEPRINT''Group nu 
mbi,?r· out o-f range! ":CLOSE4:RETURN 
2c;•&:i A$==FNP~t- < A:$: ,1 30) : FORY== 1 TON5: GET4, Y: I FG:t-=(.:i::l:=THENCMD II F==POPl\l II ELSENEXTY: (:7JCJTff51Z!0 
295 X ==CV I ((31\lj~:) : (-\$=G$: GCJSIJK:-: ?'~N::::AN:t-= 11 Y 11 : CL.OSE4: Fl. ::::0: RETURN 
::::;r,2)(2) l:)CJSLJB:3: FCIRY=- :l TON5: GET t-1,, Y: I FL.EFT:$: ( G~t::, LEN ( (-\::!,:) ) •=A~VrHENCMD II F=POPN 11 : GOT0295ELSENE 
XTY: PRINT 11 Gir·aup '"Ajf- 11 ' dc1es not e:< i st! 11 : CU1SE4: Fl=-·-2: RETURN 
:::::05 FD==4: POKEDU+2~5, 0: POKEOIJ+ :L , TA: ONERRORGOT02: CMD II F=POPS 11 : CLOSE 1 , 2, 4: POl<EDU, TS: F' 
RI NT: X ==FRE ( A:t-) : I FPEEK ( iJU+5) AND :L THENPOKEOU, TSAND252: PF< I NT 11 ** PAGE ON ** 11 : POKEOU, T 
s 
:~; t llJ IF ( TSAl\lD4) ==0THEN~~;'.~~~5F.::l.8EPR I NT€! 1. 31 , UP; : PR I NT@l 39, DL.; : PR l NT@l 47, MS; : I FGR:~;::-.:" ·*·"TH 
ENP1::;: I NT@ :l 56, 11 * 11 ; ELSE I FGR==0THENPR I NT@ 156, 11 X 11 ; ELSEPR I NT@ l. 55 , GR; 



:-.:::1~; PRI NT@163, LV; : IFPEE~< (OU+5) AND1 THENPF~INT@190, 11 Y"; ELSEPRINT@190, 11 N"; 
::::-20 PF: I NT (~960, ; 

~:r.:m PfUNT 11 Command (or ? -for Menu): 11 ;: {~:~~$:::::" 11 

335 ML=40:EC=1:GOSUB6 
::::-1.1-121 Gos, . ..Je:::::: G•BUB4: I FFL THENPF~ I N-rn:::::, TI ME:=t:: 11 - 11 A::t.-
:~:-4-5 IF(..':):*:< > II II THEN365 
3~0 BL==BL+1:IFBL<2THEN360 
355 POKEOU+6,0:POKEOU+7,0:BL=0 
360 PRINT:PRINTSA$(RNDC5)):GOT0305 
36~:i I FLEFT:t- ( A::t,:; 1 ) ::: 11 A II THEN I FFU GHT$ (A$; 1. ) = 11 ? 11 THENPR I NT II La.st. c:rnnmancl: 11 Z A::t,:: GOTff~:05E 
L.SE I FLEFT:t ( ZA:t-, 2) =="Co 11 THENZA$== 11 ? 11 : A:~:= 11 ? 11 ELSEA$=ZA~t-ELSEZ?"~=:!:~=A:'1:: 
::::-70 IF P1::f::=s II PFNSYS 1 11 AND ( PEE~( ( OIJ+ 10) AND4) THEN485 
~575 IFA:t-=011 P!=.:VSYS2 11 AND (PEE~< (OU+10) AND4) THEN4912l 
:3;t3fl) I FW)L (A$) THENA$= II G II +A$ 
385 Q$=LEFT$(A$,1):Q1$=MID$(A$,2) 
:3:90 IFA::t,:::::"*"AND (PEEK (OU+10) AND64) THEN4n5 
~~;95 I FPEEK ( OU+ 10) AND 1. THEI\ION INSTR ( 11 ?GLB I WPETR:OMNVCQYDUFHKZSJ X 11 , Q$) GOTD415; 455 1 45~5 
,420,445,450,475,455,455,455,475,475,455,475,475,475,475,495,475,480,475,455,500 
, 47!.5, ~=:;:3:5, 475 
400 IF ( PEEK ( OU+ 10) AND 1 ) =0THENON INSTR ( 11 ?GLB I WPETROMNVCGlYDUFHK Z SJ X" , Q::~) GOTD415, 1.1.1, 0 
,410,410,445,450,410,410,410,410,475,410,410,475,475,475,475,495,410,410,475,410 
,405,475,535,410 
405 PRINT:PRINTSA$(RND(4)+5):GOT0305 
4:1.0 PHINT:PRINT"I 'm scJrr·y, bu.t you must. be valida.t.ed t.o u.se that command. ":PRINT 
"To find ou.t 17ciw to become vali.dat<-?ci, please read the 11 :PRINT 11 <~~>elc:ome mesisa.g,;:~." 
:GOT010 
41 ~:i F9::j;::::" MENU/ TFC 11 : GOSUB8: GOTO:::H?J5 
L!,'.2[Zl A4::~::::: 11 BB!:3 11 

42~i F9:=t::==f'.'.)4$+"CAT/TFC": IFVAL (C~U:) THENA:$::::QU:: BOT04:::::sELSEPRINT: GOSUB8 
4:30 Pl::;:INT: PRINT"Whic:h c:~::\tt~gory would you 1 i ke? 11 ;: ML=2: GOSUB6: GDSIJK:~: IFVAL (A:~;) ===0 
THEN1.0 
435 OPEN" I 11 , 1. ,F9::t:= 
440 LINEINPUT#1,A3$:IFVAL(A3$)=VAL(A$)THENCLOSE1:PRINT:F9$=A4S+MID$(STR$CVAL(A$) 
) , 2) + 11 /TFC": GOSIJB8: GOTO 10EU3E IFEOF ( 1) THENCLOSEl.: PRINT "That categcwy do(-?.S not '=~>~ i 
st ! 11 : GOTD4:::!:0ELSE440 
445 At..].:;j::c-:: 11 I NFC! 11 : GQTQ425 
450 F<1:=t::== 11 !AJELCOME/TFC 11 : GOSUB8: GDT030~'5 
4~;5 X :<.;~: A:$:::::" MBGBASE 11 

4-6!i'J IFOV=XTHEN470ELSEOV=-•X: ONERROF~GOT02: CMD"F", DELETE1000-
461.::i PF~ I NT 11 <One mom(-?.!'1 t > 11 : MERGEA::l:: 
470 ONERRORGOT02:GOT01000 
47~5 X==<~:: A:t-=="MISC": GOTD460 
480 X ::::4: A::f-== 11 UP DOWN 11 : GOT0'-1-60 
48'.~5 X :::::~:i: A::j::::::: 11 SY SOP 1 11 : GOT0460 
490 X=:::6: A:~r.="SYSOP2 11 : GOT0460 
495 PRINT:PFUNT 11 The c:u.rr·ent dat.e/time is: "DA$(PEEK(l]U+19)) 11 , 11 FNG::f:::GOT010 
~500 I FPEEK ( OU+B) ==0THEN405ELSE I FQ 1 ::j;:,( > 11 11 THEN5 l. 0 
~i05 PFnNT 11 Cu.rrent 21.c:c:ess level: 11 LV 11 -· "LV$ (LV>: GOT0305 
5H, X::::VAL(Gl1::I:-): IFX<>INT(X)ORX<00F~X>9THENPRINT 11 Illegal ac:c:ess lf:?Vel ! ":GOT0305 
515 IFX==9AND(PEEK<OU+10)AND4>THEN525 
520 IFX<>0THENIFPEEKCOU+8)ANDC2[(X-1.)+.5)THEN525ELSEPRINT 11 Ycu don't have access 
t.o that 1 evel ! 11 : GOT0~:-0~:i 
52!:'i I FLV$ ( X) :::::" 11 THENPf-i.:I NT 11 Th2\t. subl evel is none>d st.ant! 11 : GOT• :::::05 
5:3;0 GR:$::::::" 11 : GR=0: GN=0: LV=X: GOT0505 
~-n~:i Pm<EOU+ 1., TAAND22:::::: POKEOU, TSOR8: PRINT 11 Moc:lem test: 11 : PRINT: FORV::::: 1 T04: FORX=:::32T01 
27:PRINTCHR$(X);:NEXTX,Y:PRINT:PRINT:FORX=0T09:PRINTCHR$(X+48):NEXTX:GOT010 
540 I FPEEK ( OU+ 11) =25::'5THENPF-: I NT 11 < Un 1 i m:i t ed > 11 : TR=255: RETURNELSETF~=PEEK ( DU+ 11) -FNE ( 
ST:~:, FNH:$:) : IFTR<=0THENPR INT: PR INT 11 *·*·* Loi;,~ in ti mE~ 1 i. mi t el•: c:eeclf~d *** 11 : i~~~::t== 11 Tj. mi:? l i 
mi t €~:{ c:eeclecl 11 : A$= 11 D 11 : GOTO 12ELSEPRI NT 11 < 11 MID:$: ( STR$ (TR> , 2) 11 Mi. n Rema.in i. nq > 11 : F~ETUf-~N 



541:5 PF~ I NH~3, TI ME:t- 11 ·-· "G!l.>J:t-
5~5t°!.i I FI .... PTHENLPF,: I NTT I ME$" -· "QW:t-
1::?S~::i RE T IJ r:.: N 
1000 OU=&HFFE0:PDKEOU,32:POKEOU+1,11:RANDOM:DEFUSR0=0U+20 
1010 ONERRORGOT02:0P=60:ZZ==-1:SG$= 11 I'm sorry but the Sysop is net available at t 
he moment. 11 

1020 DI MM$ ( 12) , U:~: ( 8) , D:~: (OP) , SA$ ( c1) , L v~t- ( 9) , L 1 $ ( 9) , DA:*: ( 7) 
1030 FORX=1T012:READM$(X>:NEXTX:FORX=1T09:READSA$(X):NEXTX:FORX=1T07:READDA$(X): 
NEXTX:CLS 
1040 RE=-··1: LINEINPIJT"What is the c:urr·ent date/ti me? "; {~$: GOSIJB5: GOSUB3: GOSUB1~::.: I 
FRE=0THEN1040ELSERE=0 
1050 POKEOU+18,ASC(S1$):POKEOIJ+17,ASC<MID$(81$,2)):POKEOU+16,ASC(MID$(81$ 1 3)):PO 
KEOU+15,ASC<MID$(81$ 9 4)):POKEOU+14,ASC(MID$(81$,5)) 
1060 CL..S: Pl~ I NT" Chc1ose? cine o{ : 11 : PR I NT: F!JF,:X==: 1 T07: Pr.:.: I NT X "··- 11 DA::!:- ( X) : NEXT: PF~ I NT: PR I NT 
11 li.Jh21.t day is :it?" 
1. 070 Y:t-= 1 NKEY:t.:: I FY:t-< " 1. " • RY:t- > "7" THEN 1070ELSEP• KE• u+ 1 9, f-,sc < Y:t- > -·-48: cLs 
:l C1~'3f2.l PR I NTDA:~: ( PEEi< ( DU+ 1 9) ) 11 , "FNG:t-: PR I NT II Cc:ir rec: t? 11 

10?0 A:'1:-= INKEY:-1:-: IFA$:::: 11 11 THENl01t0ELSEGOSUB4: I FA$==" N" THENl040ELSEIFA:~=< > "Y" THEN1090 
1100 IJT$=FNH$:RETURN 
1110 DATA Jan,Feb,Mar,Apr,May,Jun,Jul,Aug,Sep,Oct,Nov,Dec 
1120 DATA Speak UP!,Don·t be so quiet!,Talk to me! ,Trying the silent treatment o 
n me?,Please type louder! 
11.::::;0 DATA Run that by me again. , I can· t. cc.1mprehend that. , "Hey man, like I can't 
handl (= tl1at. 11 , Say what?? 
1140 DATA Sunday,Monday,Tuesday,Wednesday,Thursday,Friday,Saturday 
1150 '************************************************************************* 
j_ 160 '**-ll· 
l 1711.) '·lH·M-

11 ElfZJ '*·** 
l.190 '*-ll·* 
1 '..7:'.00 ' ·M-*-M· 

l.210 '~"** 
12:,::0 '*** 
12~:;fl.) ' *·H· 
i240 '*** 

l>Jords of Wisdom 

No force, however great, can stretch a cord, however fine, into 
a horizontal line, which shall be absolutely straight ••• and so 
is the way of a serpent upon a rock; and the way of a ship in 
the midst of the sea; and the way of a man with a maid ••• for 
however beautiful and free, still imperfect. ••• 

·M-*-l'l· 
·M-·** 

-1,l··ll-* 
*** 
*·** 
-ll·** 
-ll·** 
**·* 
*** 

12511.) 
1260 

'************************************************************************* 
'*** 

1270 '-ll+M· 

1280 ' ·!t!-*-M· 

1290 '*·lH 

1300 '-l'l·** 
1:310 '*** 
1. ~:-20 '**-M· 
13:311.) '*** 

-;!·** 
Words of Hope *** 

If builders built buildings the way programmers write programs, *** 
then the first woodpecker to come along would destroy civiliza- *** 
ticm. *** 

-- Gerald Weinberg *** 

1340 '************************************************************************* 



*· -JIil:- ··JIil:- -:'ftlt- -:Ju[- -=Jul:- ·:fuE-· -:IHI:- -JuE• -JHE- "*' -JHE- -:~ii:- -:J11L'- -:IHE­

-:l&E- -Jut:- -:IHI:- ·* L- CJ! C"Ji I 1--..~ -:1ae- -:IRE- -JuE· ~ .. 

-:IHI.'- ·:JDE- ·-:l&E- -JIil:- ·-:l&E- -:Jut- ·-:l&E- -:Jul:- ·:luE- -=JuE- -Jul:-· ·-:l&E- -:IHE· -:lnE- -:IHI:-

1 i:10~:1 CMD II F==KEEP 11 ; SA::!,: ( 0) , M:*: ( 0) , DA:t- ( 0) , [)$ ( 0) , U:t- ( 0) , NT ; NV; SA, OU, l.JT:t-, TU,, TP , OP, Z Z , SG::l:. 
, JY$, J Z $,TR, H3$; LJ $ 
HH0 X::::eJ: y:::.,!ZJ: Z=!Zl: ~\):::(?.): A:'1:-= 1111 : FORX=1 TOOP: D:t- ( X) =1111 : NEXTX: OUT255; 16: DIMV::f:: ( 12) 
1020 PDKE•U,32:POKEOU+1,11:POKEOU+2,132:POKEOU+3,0:FD=4:CLOSE:G• SUB17:NC=CVI<NC$ 
):CB$=RB$:A$=NM$:GOSUB3:SN$=A$:A$=VR$:GOSUB3:VS$=A$:D0$=E0$:D1$==E1$:D2$=E2S:D3$= 
E::~::!,:: D4::j,:::::E4:$:: D5~~:=E5~~:: D6:*:::::E6:$:: OPEN II E" , :3, 11 CALRL.OG/ TFC: "+D4:t-
1030 A$=FA$:GOSUB3:T1$=A$:A$=FB$:GOSUB3:T2$=A$:A$=FCS:GOSUB3:T3$=A$:AS=FD$:GOSUB 
3:T4$=A$:V1$=P1$:V2$=P2$:V1=ASC(P3$):V2=ASC(P4$):A$=P5$:GOSUB3:R1$=A$:A$=P6$:GOS 
U83:R2$=A$:A$=P7$:GOSUB3:R3$=A$:A$=P8$:GOSUB3:R4$=AS 
1032 SC=ASC<SC$):POKEOU+12,ASC<TK$) 
1~33 FL=ASCCLI$)AND1:LP=ASCCLIS)AND2 
1035 GET4,2:FORX=0T09:A$=L1$(X):GOSUB3:LV$(X)=A$:NEXTX 
1. 04tt., .. r~:>=~$:;:: 
1. 04::i CL.OSE4 
1050 OUT&HE9,&H55:GOSUB23 
1060 PDl<EOU+'.;;::::~:, 0: POKEOIJ+5, 0: ONERROF<GOT02: CLS: Pf~ I NTCHR:t- ( 15 > 11 This is .... 11 !:3N$: PR I NT" 
,~ TFC-80 Bulletin Boe.rd System (Vers 11 VS:=t- 11 ) 11 :PRINT" (c:) 1984·, Robert S. Fr-enc:1'1 11 :: 

PFUNT:PRINT 11 Total callers: 11 STR:IHNC) 11 , since power-up: 11 STR$(NT) ", voice: "NV 
107~'1 PfUNT"l"lessaqes posted: 11 8TR$ (TP) 11 , Uploads: 11 STR$ (TU) 
1080 PR I NT: PF<INT II Last call e1~s: 11 : FOF~X= 1 T07STEP2: PR I NTU$ ( X) ; Hrn ( 32) ; U:t- ( X+ 1) : NEXTX 
1090 PRINT:PRINT"Sysop 11 ;:IFSAPRINT"not 11 ; 

11.00 PRINT 11 a.vailable ·for· chat; System is 11 ; :CT=-·1: IFZZTHENPRINT 11 up 11 EL.SEPRINT"DOW 
N" 
1110 POKEOU+6,0:POKEOU+7,0:Y$=INKEYS:TS=32:TA=11 
111 ~5 GCH3UB21 
1. l 20 OL==0: I FCB:t= 11 Y II Tl-·!E]\!2?:::::0 
1130 IFINPC&HEB>AND16THEN1140ELSEG• SUB22:FORX=1TD7000*SC:IFINP<&HEB>AND32THENNEX 
T: (30SUB20: GOT01 l l5ELSECMD 11 F=POPN 11 : TS=87: GOTOl.280 
114fZJ A:1,:=H,!•:::EY$: IFA:t-= 1111 THENGOSUB29l0: GOTOl 130 
l 1~m GOSUB-4: IFP1$= 11 8 11 THEN1.250 
1. 160 IF ?~~r,:,::: 11 G II THEN29~:-0 
11 70 IF A:t,:::., 11 T II THENTS==20: GOTO 1280 
1. 1. 80 I FA::f:::.-:: 11 Gl II THENCLS: CLOSE: PR INT II System shutdown 11 : PF< I NT 11 ======= ========= 11 : PR I NT: P 
DKEDU,32:POKEOU+1,11:POKEOU+2,0:POKEOU+3,0:POKEOU+23,&H78:0NERRORGOT00:END 
1190 I FA::f::::: 11 C II THENSf'.~=NOTS?~: GOTO :l. 060 
1. 2(;;j0 IFA:t-== 11 Z "THENNT=0: NV=0: TF'=•0: TU=0: FOF~X=l T010:: LI$ ( X) = 11 11 : NEXTX: GOTO H160 
1. 2 l 0 I FA:t:::: 11 V II T!-·!ENNV=0: GOTO 1. 060 
1220 I FA:t-=::: 11 N II THENPFi: I NT@896, "New t. i me: 11 ; : LI NE INPUT {.":i::f;:: I FA:'!!== 11 11 THEN 1060EL.SEPOl<EOU+ l. 
:3:; 0: POl<Eou+ 14, VAL <MI o~i- < f-\::1::, INSTR < As 'i " : 11 > -1-1 > > : Pm<Eou+ 1~5 1 VAL < A::1::) : 00-ro 1. 060 
12~H!.I IFA$= 11 D 11 THENZZ=NOTZZ: GOT01060 
l.240 GOT01l20 
1.2~m GOS;UBl.8: FU~= 11 Syst.em 11 : LU== "Opera.tor·": GOSIJB7: IFM=0THENCLOSE4: PRINT"<< System 
en·or ·-- C~::i.nnot find 'System Opf?rat.or' in file! >> 11 :FORX=1T01000:NEXTX:GOTOl01il0 
1260 TS==0:GlW:f:::: 11 Sysop Login ft-om Main ConscJle":GOSUB26 
1270 UN==M: GET 4, UN: CLS: PF~ I NT@960, 11 < < Sysop Login > > 11 : POKEOU, TS: PO!<EOU+ 1 , TA: GOTO 1 7 
40 
l :::'.80 CLS: PCil<EOU, 40R < TSAND64) : PH I NT@ 1 92, 11 < 11 STR I NG:t- ( 62 'l 11 = 11 ) 11 > 11 : PR I NT@.960, 
1. 290 I FT SAND 1. THENPR I NT 11 < < C<:"u-r i el"' Detecb?d > > 11 : QW$= 11 Modem connect 11 : GDSUB26ELSEG!I,~ 
$=="Ma.:i.n console connect 11 :GOSI.JB26:F'RINT 11 << Console Login >> 11 

1300 FT==0:TA=TAAND254:F'OKEOU,TS:F'OKEOU+1,TA:IF(TSAND1)=0THENl380 
1 :~:- 1. 0 HESTClFi:E 
1320 FT=-°FT+ 1: IFFT> 18THENA$= 11 0 11 : A:::::t-= "No ,~esponse at. baud selection 11 : GOTO l 2ELSEREA 
DA$, Y: I FY=0THEN 1310ELSEOUT8d··IE9, Y: Pl~ I NT: PR I NT 11 < 11 A$ 11 BAUD ·- PRESS ENTER> 11 : POKEOU+6 
, 0: POKEfJU+ 7, 0 
1~5:~;0 FORX=-"1 T0500: Y::f::=-INKEY:t-: IFY$== 11 11 THENIFINP (8~HE8) AND32THEN1370ELSENEXTX: GUT• l.:~:20 



1340 IFY$=CHR$(13)THEN1380 
1 ~::-~i0 GCJTO 1 :~;20 
1360 DATA 300,85,1200,119,110,34,DUMMY,0 
1::::-7f1 A:,t-== 11 0 11 :A::::-:$::::::"C.:-:1.rrier lost. at star·t":GOT012 
1380 VP$==CHR$(13):POKEOU,TS:PRINT:Y:::::TS:TS=TSAND254:POKEOU+4,70:POKEOU+1, CTAOR4)A 
ND223: PRINTCHR::I:: ( 27); : FORX=1 T060*SC: NEXTX: PF<INT" I 11 ; : POKEOU, TS: FOF<X= 1 TO 100*SC~ IF IN 
KEY::t,:::::: 11 # 11 THENNAME0f• $: CMD"F:::::PQPN"EL..SENEXTX: PRINT: TS=Y: POKEOU, TS: GOT0:1.480 
1390 TA=TAOR1:POKEOU+1,TA 
1400 TS=Y:VD$=A$:POKE•U,TS:PRINTCHR$(12)"You are using a '';:IFFLTHENPRINT#3,TIME 
i~:" -- Vidte:-:: "A$ 
141 fl! (-.)$=LEFT:$= (VD$, 3) : I FA:=!:== 11 RS5" THENWD==<::-2: PL= 16: PRINT II Col or Comput.E~r 11 : GOTO 1 '4-60ELS 
EI1:.·Ai~:= 11 l~SA 11 THENWD==80: PL.==25: PRINT"Model 4 11 : GOTO:l460 
l4l :I. IFLEFT:$: (VD$, 4) <>"Cc::::;, "THEN:!. 429 
1.412 P!::.:INT"Cc:immodon? 64 with VIP Termins:d. 11 :PL=17+W-,LCMID$(VD$,7,:I.)) 
141 ~~; I FM ID:$: (VD::!:=, 8, :I. ) ::::: 11 G II THENWD==40ELSE I FM I D:t- (VD:$:, 8, :I. ) =CHF::!f:: ( 95) THENWD==64ELSE I Fl"! ID$ 
( \/D::~: , 8 , 1 ) = 11 o II THENWD:-=80ELSEWD= 106 
1414 GOT0:1.460 
1L!-'.,29 IFA:$==•"CC3"THENWD:-=40: PL..=25: PRINT"CcJmmodore 64": GOT01460 
11.1-~.:HZJ IFA:$=== 11 RS2 11 THENPL=16: WD==64: PRINT"Model 1": GOT01460 
1440 IF{-,~r.= 11 RS6 11 THENPL.==16: WD:::::64: PRINT"Model I I I 11 : GOT01460 
1 L!-!.512) l,•JD:::=40: PL..==25: PH I NT II never- bef on-:? encr.:iunter-ed computer" 
1460 EC=1:PRINT:PF<INT"Wauld yc:n..1 like tc.1 use the features of your VIDTEX? 11 ;:ML==l 
: Gm3UB6: GOSUB4: I FA~!:===" v II THEN j_ 4 70ELSE IF A=t-< >"N II THEN 1460ELSE 1490 
1. 4 70 VI)::::-• 1. : VP:t,::::: 11 11 : VK~t,===CHF~~,: ( 27) + 11 K 11 : VJ :'l:===CHR:$: ( 27) + 11 J" : CL:t-=•CHR~t- ( j_ 2) : GOTO :1.490 
1480 PH I NT: p~,: I NT II CAN YOUR TEF<M I NAL DI SPLAY L.01.-'JER cr-,sE? 11 ; : ML= l.: EC= 1 : GDSUB6: GDSUB 
'~-: IF{~~!r.="Y"THENTA=TAOH1: POKEOU+l, TAEU.1F.:IF{~$< >"N"THEN:1.480 
1490 PRINT:PRINT:IFZZTHEN1530 
1~i0k1 PRINTCUt,="I 'm son·y, but the system is not. up at the moment. 11 :Pr-=nNT"Please t 
r .. y a.q,ain 1~:1.ter·. ":PRINT 
151. 0 Y:ilr.== I NKEY~,:: I FY:'(::=" D" ORY~t-=== 11 d II THENF'F< I NT: PF~ I NT II Pw: 11 ; : ML=-=8: GOSUB6: GOSUB3: GOSIJBL!-: 
IF(1:,~::::-aj:=;:4:,HHENZZ===NOTZZ: GOT01530ELSEPRINT"Sm-r-y ! 11 

15'.;?0 GOT09 
1~5:.:H~ FT==0: GOSUB18: POKEOU, TS: IFVDTHENPFUNTCUj;FNAT$ ( WD/2-5, 0) 11 Welcome to: 11 ; : F'RINTF 
NAT~!:= ( (WD-LEN (SN$)) /2 ,1 2) ; SN::!>: PRINTELSEPRINT "Wel came tci: "SN$: PRINT 
154-0 PRINT"Please ent.er ym.1.r· LAST NAME or <NEW> ••• ":PRINT 
:I !=.!.Sill I FVDTHENPR I NTFNAT$ ( !7.J, 6) 11 ) ::::::: > "Vt<:t,; EI...SEPR I NT 11 ) :::::::::: > " ; 
1560 EC=1:ML=12:GOSIJB6 
l 570 GOSIJB3: I FA$== 11 11 THEN 1550ELSEGOSUB5: QW::t::= 11 Ln: 11 +A:!f::: GOSUB26: I FA$==" Ne1;,1" THENPR I NTC 
L..::1:-; VP::!:=; : GOT02210ELSEL l $==Ajf-: F 1$::; 1111 

1580 IFVDTHENPRINTVJ$; 
1590 PF< INT"l,Jha.t is your pas1:;word? 11 ; : EC=l2i: ML==::8: GOSUB6: GOSUB3: GOSUBLI-: IFf• :t-==" "THEN I 
FVDTHENPR I NTFNAT~f. ( 0, 7) V.J $; : {:JOTO 1540ELSE 1540ELSEQl.,J$:::: 11 Pw: 11 +A$ 
1601?.l IFVDTHENPRINTFNAT:$: <WD/2-11, PL--1) 11 ••• Chec:ki ng password ••• 11 ; ELSEPF<INT"--- Chee: 
k:i.ng passtA!ord -- 11 

1610 A$=FNP$(A$,8):GOSUB7:IFNOTF1THENM=M+1 
1620 IFM>N40RN4=0THEN1640 
1.631?.l GET4,M:IFL$<>L:l.$THEN1640ELSEIFPW$=A$THEN1710ELSEM==M+l:IFM<==N4THEN1630 
161.1-((.) Ql,,J::j;.::::(;Jl.>J~j;.+ 11 = BAD 11 :: GOSIJB26: I FVDTHE!\IPH INTFNAT$ ( lAJD/2--12, PL-1) "> > > I 11 egal pa.ss1rJ 
c:ir-d <<<'';EL.SEPRINT''>>> Illegc.'l.1 p.,;\ssworrJ <<<'' 
1650 PRINT@0,STRING$(40,32);:PRINT@960,;:FT=FT+1:IFVDTHENIFFT<3THEN1550ELSEELSEP 
RINT:PRINT:IFFT<3THEN1540 
:l660 PFnNTCL:t-"I 'm sorry, but. ej.t.l·H,?F' you have forgotten" 
1670 PRINT"yoi_w pa.sswor-d or- you h,::1.ve rH:-?ver J. og<;;ied-·i n 11 

1.6B0 PFUNT" on this sy~;;tem be·f cJre. You wi 11 have to" 
1690 PRINT"login aga.in as a NEl.-'J user. ":PRINT 
1 700 GOT0221. 0 
1710 QW$==GlW:t-+" = GOOD": GOSUB26: PRINT@0, "Correct access: 11 CVI (AC$);: PFU:NT@960,;: IF 
VDTHENPRINTFNAT$(0,B>;ELSEPRINT 
1720 PRINT"What j_s yc)t.tr· a.r.:c::ess numbe,,·? 11 ;:Ml....=5:EC===0:GOSIJB6:QW::l=-="ef.,cc:::t:t-"•1·•{,,::f.::If'l.J/:)l...(A 
:1:-) < >CVI (ACjn THENQW$:::::Q(.,.J:t-+" ::::: BAD": GOSUB26: IFVDTHENPFUNTFNAT$ (WD/2-14, Pl...---1) 11 >>> I 1 



lei(_:_.Jal ~,\c:cess nu.mbef" <<<"; :GOTD16!:i0EL.SEPF~INT"t"-lrong ! ! ! ":PRINT:GOTOl.650 
17~:,0 QW:i==GlvJ:t-+" == Goon" : GDBUB26: PR I NT<r~ei, s-rr~ I NG:t. < 40, ~.32 > ; : PR I NT@960, c1...~-t-; 
1740 A$:::::F$:GOSUB3:A1$==A$:AS==L..$:GOSUB3:A2$==A$:PV$==PR$:UN==M:L8$==L9$:LO$:::::L..L$:PDKEOU 
+10,ASCCPV$):POKEOU+9,ASC<MID$(PV$ 9 2,1)):POKEOU+8,ASC(RIGHT$(PV$,1)):IFNOTVDTHEN 
PRINT 
1750 IF<PEEK(OU+10>AND16)==0THENPRINT''I'm sorry, but you have been denied access 
<'::1.t this ti me. 11 : CL..OSE4: A:$==" 0": A3:t-== 11 Access DENIED! 11 : GClTO 12 
1760 IF(PEEK(OU+10)AND4)==0THEN1800 
lT70 FOF~FT==1T02: IFFT=-=1THENPRINT 11 Whe.t is your secondary password? ";EL.SEPRINT"One 

morf:? try? "; 
j_ T71 ML==H: EC==0: GOSUB6: GO SUK::: GOSUB4·: GlW::t:~==" 2nd: "+A~t:: GOSUB26: I FPEEK ( OU+ 10) AND t 28TH 
ENIFA$:::::R1$THENPRINT:GOT01790ELSEELSEIFA$==R2$THENPRINT:GOT01790 
1775 NEXTFT 
1.780 PFHNT"I'm sorTy but you aren't who ycm cla.im tel be!":A$=="0":A:3:S==="Illegal Se 
cond,,u·y pai,;isi,,.ic:ir·d": GOTO l. 2 
1790 IFVDTHENPRJ.NTCLS; 
j_ 800 EC= 1 : Cll..== 1 : GN:::::0: CH==0: GR:t-== 11 11 : GR==eJ: TC==0: DL==0: MS==0: L V=:::0: TA=== ( TAAND 1. ) OR ( ASC ( CNjf,-) {::. 
ND254>:POKEOU+1,TA:POKEOU+3,ASC(NN$):IFVDTHENPOKEOU+2,WDELSEWD=ASCCVW$):POKEOU+2 
,WD 
:l 810 sT~t-==FNl-1:$=: PR I NTDA$ ( PEEK ( OU+ l 9) ) " , "FN I:$= (ST:$=> : pi=;: I NT II TFC-·80 Version II vs~-i;:: PR I NT 
: Pf~ INT "GocJd ";: IFMID:$= (ST$, 4, 1) < CHR:$: ( 1.2) THENPRINT "morn i. ng 11 ; ELSE:CFMI I):$ (ST:$, 4, 1) <CH 
R:$= ( :I. B) THENPR I NT II a.f ternclon" ; EL..SEPR I NT II evening 11 ; 

:1.8'..;:'.0 Pl~INT", "Al.:$" "A2$" (call!er #"STR::1:-(NC+i)")":PRINT 
182~3 IFPEEK (OU+10) ?)ND4THENIFPEEK (()!J+l.0) AND1.28THENPRINT 11 Y0Lt have Sysop pri vs! 11 :: PR 
I NTELSEPR I NT" Hey, you • re a F~emc:ite E.lysop ! 11 : PR I NT 
1 B~m Qlf.1$= 11 On 1 i ne: 11 +f'.°:i 1 ~-t;:+" "+A2$+ 11 - tt" +STR~t- < NC+ 1 > : !30SUB26 
1840 LSETNZ$=MKI$(CVI<NZ$)+1) 
:l.8~50 IFASC(L.0$)==0THENPFUNT 11 This is your first call. ":PRINT:GOT019l0 
1860 PRINT"You hav<f~ c:all.ed"CVI (NZ:*:) "times. 11 :PRINT"Your last login 1,-.ias ,B.t "FNI::1:-(L 
0::1:-) II• II 

18'7f2l X==NC--CVI (LZ:$=): IFA1:$=== 11 System 11 ANDA2::l:-="Oper..i.tor"THENX==X+1 
1880 J.FJY:{,::::::A1$ANDaZ:t=-•A2$THENPfHNT"<YoLt were the last c:aller->":GOT0190!ZJELSEIFX<==0 
THENPFUNT"<No other calls sinc:e then>":GOT01900EL..BEPRINT"<"MID$(8TF~:$=(X) ,2);: IFX=• 
:I.THENPRINT" p~?rson has";EL.SEPRINT" pE~r.:iple have"; 
Hl90 PRINT" c:al 1 ed si nee them>" 
:I. 9012) PF\ I NT 
1910 IFA1$==JY$ANDA2$==JZ$THENIFFNE(L.J$,FNH$)>30THENPOKEOU+11,ASC(Tl..$):TR=PEEK(OU+ 
11)ELSEPOKEOU+l.1,TRELSEPOKEOU+11,ASC(TL$):TR==PEEK<OU+11) 
1920 EW=ASC<EW$):MW==ASC(MW$):LSETL9$=LL$:LSETLL$==ST$:LSETL..Z$==MKI$(NC+1):PUT4,UN: 
CL.CiSE4 
1930 IFJYS<>A1$0RJZS<>A2$THENJY$=A1$:JZ$=A2$ELSEIFTR<=0THENPRINT''I'm sorry, but 
y(:JLI. ha.ve e>:c:eede,:-j you.r tim12 cm the systeim. 11 :A~t-=="0 11 :A'.:.:::,1>== 11 T:i.me limit e>ice€~ded ~3.t l 
oqi.n": GOT012 
1940 IF(TSAND4)==0THEN1990. 
19~im PF\INT@0, "Name: "A1$=" "A2jl>; :PRINT@:::::4, "Pl/II: "PW~'!:=" Ac:c: "CVI (AC:$); 
1 960 Pl:~ I NT@64, 11 Log :i. n: "FN I :t- (ST:$) ; : PF~ I NT<.il!96, "Pr iv: 11 ; : NAME4CHR:t- ( PEEK ( OU+8) ) +CHR$ < 
PEEK(OU+9))+CHRS<PEEKCOU+10)) 
1 i:n0 PRINT@128, "Up: 0 Dn: 0 Mp: 0 Gr: X Lv: 0 Cn: "NC+1" Se: 11 NT+1;: PRIN 
T@:!.B7,"P: N"; 
1. 980 PF<: I NT€!t?60, ; 
19i-y(~ IF (PEEi< <OU+ 10) AND:t) =0THENF9~t-= 11 WELCOME/TFC": !308!..IBB: PFUNT: PRINT 
2000 I FPEEK ( OU+ l. 0.) AND4THENPR I NT: PH I NT" Mem == 11 STF<$ ( MEM) 11 , \;3tr- :i. ng == 11 STR$ ( FRE (A$) ) 11 , 

Sessj_cm =="STR:t-(NT) :PRINT"Me~st:;; .. \ges sent == 11 STR$(TP) ", Uploa.ds ="TU:PRINT 
20112) ?)~$jl>==R I GHT~t- ( 11 0 11 +MI I)$ ( STR:*: ( ASC ( UJ~I>) ) , 2) , 2) ·-I·"/" +RIGHT:$= ( "0" +MI D:t- ( l3TR:t- ( {~SC (MID:,!:: ( 
LC)$,~'.> ) ) , 2) , 2) -r- 11 / 11 +F<: I !3HT$ ( 11 0 11 +MID$ ( STR:$ < ASC (MI D::I:= (LO$; 3) ) ) , 2) ; 2) 
2f!l20 OPEN"I",4,"DAYMSG/TFC":LINEINPUT#4,A$:PRINT"(Sysmsg lar::;t upd.;.-.t.(;?d "A$") 11 :PHI 
NT 
2t!B0 t... I NE I NPLJT#4-, A::!:~: I FL.EFT:$: (A::!:-; l ) == 11 >"THEN I FM ID$ (A$, 2, B) < A:-.:!;:$=H-IEN20~50ELSEPR I NTM ID$ 
(AS,2)ELSEPRINTA$ 
2040 IFNDTEOF(4)THEN2030 



20!50 CLOSE4 
'.::::06f2) OPEN II I 11 , 4 ., 11 QUOTE El/ TFC 11 : {.)i~~::t-=M ID$ (TI ME::!::; 4, 5) : X ::::-.. 1 
'..2!2'.1"70 LI NE I NPIJT#4; ~-li$: I FL.EFT:$= (I~:$, 1. ) :::: 11 > 11 THEN I FM I DjF- (A$, 2,; 5) < :::::A:3:$=THEN X=I...OC ( 4) ! : GOT02(;1 
70ELSE2080EI...SEIFEOF(4)THEN2080ELSE2070 
2(2!!.30 IFX=·-·:l THEN2l00ELSEGET4, ! :t-X: PRINT: PRINT 11 Quc:1te for· the day: 11 : PRINT 
:20c-10 L.. I NE I NPUT#4, A$: I FL.EFT:=!:= (A~:-, 1 ) :::: " > 11 THEN2100ELSEPR I NT" "A$: I FEOF ( 4) THEN2100El_ 
SE:~~090 
21.00 CLOSE4:PF-<:INT:PFnNT:ZA:.=f::::::"Copyh.ght (c) 1.984, Robert S. French" 
2lH'1 IF(EWORMW)=0THENPl:;:INT"Son.-y, "AljF-", no mail waiting today.":GOT0~~200 
21.20 PFnNTA1. :'f::", you. have"; : X==EW: IFX=0THENX=MW: GOT0214-0ELSEPRINTX "pi ec::e"; : IFX< > 1 T 
HENPRINT"s"; 
21~::t?.J PFUNT 11 of pri vat.e";: X=MW: IFXTHENPRINT" and"; ELSE2160 
2140 IFXTHENPRINTX 11 piece 11 ;:IFX<>1THENPRINT 11 s 11 ; 

2150 PF~INT" c:1f public::"; 
21.60 PRINT" ma:i 1 wa:i ting. 11 

2170 IFEW==0THEN2200ELSEPRINT 
21.80 PRINT"Wou.ld you. like to read your private mail now? ";:ML=1:GOSUB6:GOSUB4:I 
FA~~=== 11 Y II THENA$= 11 R --GEma i 1 -M" : GOTO 12 
'..?1 <,>!7.J IFA:t-< >11 N 11 THEN2180 
2200 GOT010 
22Hl F9~:-== 11 NEWINTRO/TFC 11 : GOSUB8 
2220 PRINT" If you do not wish to 1 c:1gi n at this ti me, type! the wc.1rc:I 'BYE' 11 : PRINT" 
inf.5tE"~ad of first name ••• 11 

22'~-0 PR I NT II lf.Jh<::1.t is YO!..ll'" FI F<:ST name? 11 ; : EC== 1: ML=== 12: GOSUB6: GOSUB~~: I FA:t-=•0 11 11 THEN2240 
2250 GOSUB5: IFA$= 11 Bye 11 THENPRINT 11 Bye, bye! 11 : A$= 11 0 11 : A3:t-= 11 BYE entered 11 : (30TfJ:l2EL.SEIF ( 
r:i~~==== 11 System II ORA~-1:-= 11 f.:lysop 11 ) AND ( TS AND 1 ) < >0THENF'f.: I NT" Sorry ! 11 : GOT02240 
226t~ F 1 $==A:$: 
227(!.J PRINT" LAST n.,;\me? 11 ;: ML=12: GOSUB6: GOSUB3: IFA$= 1111 THEN2240 
'.~::'.,200 G0!:31JB5: IF (A:t-= 11 0per·ato!'" 11 ORA::~::::: 11 Sy sop 11 ) AND ( TSAND 1) < >12lTHl:]\JPF,: INT 11 !:ion .. y ! 11 : GOT0224 
0El..f3EIFA::l:-=== 11 New 11 THENPFUNT"Cc.-i.11 't. use 'NEW' as.; a last name! ":GOT02270 
22912) L 1 ::!:====A$ 
:?~%!)0 QW:f.:=0 11 New user name: "+F 1 :.=f::+ 11 11 +L 1 $: GOSUB26 
ZH0 PfUNT"l,,.Jhat is your address? 11 ; :ML=25:GOSIJB6:GOSU~3:GOSUB5:A1$=A:$:: IFf-1:f.:==" 11 THE 
1\12240 
'..;'::~:-:;::0 PFUNT"What city and statf.:~ are you. calling from? 11 ; :ML==20:GOSUB6:GOSUB~::GJOSU 
B~.5: A:;~:~:::::A$: I FA$== 11 11 THENZ:.~20 
~~~:-~::0 PFUNT 11 What is yoLU.- zip code? 11 ; :ML=5:GOSUB6:A3::t,::::A$: IFA$=-•'"'THEN2~:-:::::li~ 
2340 PRINT"And your phone number- (XXX-XXX--XXXX)? 11 ; :ML==12:GOSUB6:A4$===f-)~~: IFLEN<h$ 
><>12THEN2340 
:;-~::~:50 PR I NT II What t. ype of computer· i::'\re you using? 11 ; : ML=20: GOSIJB6: A5:.=f::=ef.\:$:: I FA$== 11 11 TH 
E1,12::~:50 
2~~:-60 PRINT"How did you find c:1ut about this boarc:I (u~;e names)? 11 ;: ML==50: GOSUB6: A? 
ir-==A:t-: IFA$== 1111 THEN2360 
2~70 PRINT 
'.."t3:80 PRINT"How many columns wid!:'! is your video? 11 ; :ML==:3:GOSUB6:GOSLHn: IFA$= 1111 THE 
N2380ELSEVY==VAL(A$) 
2390 IFVY<150RVY>132THEN2380 
24-00 PF<INT:PRINT 11 Enter· a 1-8 character password: 11 ; :ML==B:GOSUB6:GOSUB:3:GOSUB4:A6 
$:::::A:,1:-: IFA$= 1111 THEN2400 
2410 PR INT"(-.,nd r·eenter.. it: 11 ; : ML=8: GOSIJB6: GOSIJB'.'$: GOSUB4: IFA$< >A6:t-THENPRI NT" They 
dcm 't. mat.ch~ Try again ••• 11 : GOT02400 
2420 PRINT: PFO:NT"You enten:~d: 11 : PF<:INT 
2L1.:~;0 PRINT"N<=\me: 11 Fi::t:= 11 11 L:l.$:PRINT 11 Adc:lr: "i• 1$:PRINT 11 City; St.: "A2$" "A~~::t-:PRINT"P 
hcm(-2: "A4$: PRINT"Comp: "A5:$: PfUNT"Recommendati on: 11 A7$: PRINT"Width: "VY: PRINT 11 P~,J: 

"A6:$=: PRINT 
24-4-0 PRINT" Is this c::c:1rr·ect? 11 ;: ML==1: GOSUB6: GOSUB4: IFA:t-< >11 Y 11 ANDA$< >11 y 11 THENIFA$= 11 N 
11 OR(-\:$== 11 n II THEN22~50ELSE2440 
24::'jfl} F'fUNT: PR INT II Pl e<=1.:,e wait. <?.\ moment. ••• 11 : I FN4·==0THEN2Ll,80EL..BEF9$=FNP:$: ( A6::1,:, B) 
2460 FORM== l TON4: GET 4, M: I FPW~:-==Fcr$THENCMD II F==F'OPN 11 : GOT02720ELSENEXTM 



2470 GOSUB7:IFF1THENPRINT''I'm sorry, but there is already someone on this system 
11 :PFUNT"by th;1t name. Try ag.:1in ••• ":GOTCl22:::!;0 
2480 M=M+1:IFM<=N4THENFORX=N4TOMSTEP-1:GET4,X:PUT4,X+1:NEXTX 
2490 A:4-==F 1 :$=: GOSUB:3: IF A$= 11 Sys tern II THENLSETPR$=STI:;: I NG:t- ( 3 , 255) : LSETTL:t-=CHl::.:::1:: ( 25~5) ELSE 
LSETPR$=V1$:LSETTL$=CHR$(V1) 
2500 LSETF$=F1$:LSETL$=L1$:LSETPW$=A6$:LSETNZ$=MKI$(0):LSETLL$==CHR$(0):PRINT:LSE 
TAC:$::.-=MKI:t-<F<ND(32000)) :PRINT 11 YcJLtr" access code is: 11 ;CVI (AC$) 
2510 LSETCN$=CHR$(TA>:LSETVW$=CHR$(VY>:LSETNN$=CHR$(0):LSETNP$==MKI$(0):LSETND$=M 
KIS(0):LSETNU$=MKI$(0):LSETEW$=CHR$(0):LSETMW$=CHR$(0):LSETLZ$=MKI$(0) 
2520 PUT 4. , M 
:;:~~"530 G:!W:$== "- > New user inf or mat i cm <-- 11 : GOSUB26 
2540 A$=F1$:GOSUB3 
2~:i::'.)0 GlW:t-= 11 1\1~~.me: 11 +A::1:-+ 11 11 : A::l:==•L 1. ::~:: GDSUB3: QW$=QW::lr.+A~t:: GOSUB26 
2!560 QW:$== Address: 11 +(.~U=: GOSUB26 
2~:570 (]W;:!::::.:: Ci t y, St: 11 +A2$+ 11 11 +A3:'I::: GOSUB26 
2!.5B0 Qlr!:t= Phone: 11 +A4$: GOSUB26 
2~590 GJW::I::= Comp: 11 +A5:$:: GOSUB26 
2600 (;JW:t== Rf:'?c:ommendat i an: 11 +A7:t-: GOSUB26 
26U?l G1W::f!==• -.. > PW: 11 +A6:$=+ 11 , Acc:f:~ 11 +STF<::I,: CCVI (AC:1;:)) + 11 <·- 11 : GOSUB26 
26:20 OPEi\! E", 1, "NEWUSEH/TFC: "+D4:,l:-
26~:;!i.'l PRINT#l, "Ne~'\J user logged--on "FNG:t-: PRINTtl:1, 
:2640 A:t-=F l. ::~:: GOSUB:3;: PR I NT# 1 , "Na.me: 11 A::~: 11 11 ; : A:$==L 1 $: GOSIJB3: PR I NT# 1 , A$ 
2650 PRINT:f:1:1, "Address: "Al:$:: PRINTtH, "Cj. ty, St: "A2::l:= 11 "A3$ 
2660 PRINT#l,"F'hone: "A4::l:=:PRINT4H,"Computer: "A5::lr.:PRINT*H,"Told by: "A?:,1:-
2670 PFi:INT#1, "Password: "A6$: PRINT:f:H, "{kcount: "CVI (AC:t-) 
2680 PRINT~* 1, STRING$ ( 40, 11 - 11 ) : CLOSE 1. 
2690 PRINT"Please re?member thi!:'J number as you will need it the ne:<t time":PRINT" 
you lc:lgin. 11 :PRINT:Pf.:.:INT"Press <RETURN> to enter "SN$ 
2700 ML=0:GOSUB6 
2710 GCJT01741ZJ 
:?720 PRINT"! 'm 1:mrry, but sornebody else has alr-eady used s;ome":PRINT"af that inf 
ormaticm ••• 11 :PF<INT"Please tr·y a.gain. ":GOT02230 
2730 FORX=1T0401Zl*SC:NEXTX 
27 4-0 FOR X = 1. T030: IF I NP ( 8~HE8) AND 1. 6 THENNE X TX: A$= I NKEY$: I FA$= 11 11 THENGOSUB2910: GOT027 i.f 
ll.JEU:3E I FA:t-= "R" ORA$= 11 r "THEN2880ELSE 1150 
27:'.':'i0 CMD II F=PClPN 11 

2760 FORX=1T030*SC:I\IEXTX:IFINP(&HE8)AND16THEN2740 
~~770 CT==·-.. 1: PRINT@896, "<Ring #1 Received >"CHR$ CH) 
2780 f:lm3UB2870: PRINT@896, "(Ring ~:f:1 Stopped >"CHF<:t- (31) 
2790 FORX==l.T0700*SC:IFINP(&HE8)AND16THENNEXTX:GOT02880 
'.;;::800 CMD 11 F 0-=POPN 11 : PRINT@896, "<FU ng ~*2 Hecej. ved >"CHR:.'I:: (31): GOSUB2870: PRINT@896, "<FU 
nq •1:1:2 Stapp<-:?d >"CHR:f; C:::1.) 
2810 FORX==1T0700*SC:IFINP(&HE8)AND16THENNEXTX:GOT02880 
:;~B'.21l! CMD II F:::::PIJPN 11 

28~::0 PFUNT@896, 11 <Too many rings for· system connection> 11 CHR:t-(31):NV=NV+1 
2840 (;n1.,J:t-= 11 Voice cal 1 received 11 : GOSUB26 
2850 GOSUB2870:FORX=l.T01000*SC:IFINP<&HE8)AND16THENNEXTX:GOT01060 
'..~~861.zl CMD II F::=POPN 11 : GDT02850 
2870 IF(INP<&HE8)AND16)=©THEN2870ELSERETIJRN 
2880 PRINT@896, 11 <Awaiting second call> 11 CHR$C:31> 
2B90 FDRX=l T010000-M·SC: IFit-.lP U~~HEB) AND16THENNEXTX: GOT010t30ELSECMD"F=POF'N 11 

2891 GOSUB22:FORX=1T07000*SC:IFINPC&HE8)AND32THENNEXTX:GOSUB20:GOT01050 
~.~900 CMD II F==•POPN 11 : TS=87: GOTO 1. 21::10 
2910 IFPEEK(OU+14)=CTTHENRETURN 
2920 CT==PEEK ( OU+ 14) : PR I NT@912, DA:t- ( PEEK ( OU+ 19 > ) 11 , 11 FNG~t 11 11 : Fi'.ETURN 
2c.r.:::0 CLS: PRINT 11 Current Sysap absentee message: 11 : PRINT: PRINTSG:t-
2940 PFHNT: PRINT: LINEINPUT"New me~5Sa!]e: 11 ; A$: IFA$< > 11 "THENSG$==A$ 
2950 GOTOl.060 



~~~~~~~~~~~~~~~~~ 

~~~~ MSGBASE ~~~~ 
~~~~~~~~~~~~~~~~~ 

1000 ON I NSTF< ( 11 TNRKGL 11 , l,J:t,) GOT03060, 3210 , ~::-260, 3940, 4550, 4570 
1. (?.) 10 I FMB===0THENMG:t-== 11 11 : H 1 jt,:::: 11 11 : 1-12:$::::: 11 11 : U 1 :$::::: 11 11 : U2$== 11 11 

1 (?120 VW==PEEI< (OIJ+2) : VY=VW: I= INSTR ( Q u:, 11 ····W 11 ) : IF I :.::0THEN 104-0 
H?J::~;0 \JY'===VAL (MID:$: U]U:, I+2) ) : IFVY< 150RVY >240THENPFUNT II Il 1 egal video width! 11 : GOHH0 
:l ~~40 I== INSTR ( Gl 1 ::j::, 11 ·-P 11 ) : IF I THENA::!:-==M I Dj~: ( Q 1 :$, I +2) : GOSUB3: MG:~:==LEFT::J:: ( A:t-, 1 ) : I FMG~t-< > 11 N 11 

AND MG$< > 11 I< II ANDMG$< > II R II THENMG::I:=== II II 

1050 I::: I NSTF< (Q 1 :t-, 11 -C 11 ) : IF I==(?IOR ( PEEi< (OU+ 10) AND2) ==0THEN 1090 
1060 h:,~::::M I D::I:= (Gl 1 :'I>, I +2) : GOSUB 11.: I FA:$:=" 11 THENPR I NT" Can't c:r·eate a nul 1 t;;Jr-c:iup ! 11 : GOT01 
0El.SEIFA$="·*·"0RVAL rn:n THENF'RINT 11 I I legal gr·oup name! 11 : GOT010 
1 C?J70 GOSUB 19: A4-$=FNP$ (A$, 30) : I FN5THENFORX= 1 TON5: GET 4, X: I FALJ.:$:=G$THENCMD II F=POPN 11 : P 
FUNT"Gr·ou.p '"A:$"' alr-eady e:dsts!":CLOSE4:GOT010ELSENEXTX 
1080 GOTOl.120 
1090 I= INSTR ( Gl j_ $, 11 -G 11 ) : IF I ==0THENG8=GN: G9$=GR$: G9=GF,:: I FGR$= 11 11 THENGOSIJB4830: GOTO 11 
l.0EL.SEIFGR~t-=== 11 * 11 THENPRINT 11 You ca.n 't send ~i me~ssage to ALL gr-oups ! 11 : GOT010EU3El.200 
1. 1. 00 (..:)$::•MI D:t- ( Gl 1 ~-1::, I +2) : GOSUB27: I FF 1 THEN l. 0ELSE I FA$== 11 11 THENCLOSE4: GOSUB48:~:;0 
1110 G8=X: G'?=Y: G9:$:::A~t-: IFA:t-="* 11 THENPRINT 11 Yau c:an 't send a mess~-:i.ge t<J <.:!iLL groups! 11 

:GOT010ELSEl.200 
i 1.20 I=INSTR (Qi$:, 11 -A"): IFITHENIFPEEK (OU+10) AND4THENA5$== 11 Y 11 ELSEPRINT 11 I'm sor-r·y; b 
ut only Sysops may c:1--eate anonymous groups! 11 : CLOSE4: GOT010ELSEA5:r,::::,"N 11 

1j_:~:;0 G9:$==-A$:G9==N5+l.r.PRINT 11 Abau.t to c1--eate gr-oup: 11 ~":!i$;: IFA5$= 11 Y 11 THENPRINT 11 (Anon 
) 11 El..)3EPR I NT 
1140 PRINT 11 0k? 11 ;: ML.=1: GOSUB6: GOSUB4: IFA::l:== 11 Y 11 THENl. l50EU::iEIFA$= 11 N 11 THE:I\ICLOSE4: GOTO 
10ELSE1140 
1150 IFN5=0THENLSETGN$::::MKI$(0)EL.SEGET4,N5 
:I. :l 6C.1 LSETGN::l,::::MI< I$ ( CV I ( GN:t-) + 1. ) : G8=CV I ( GN:t-) : LSETG:t-::::G9$: LSETCR::J:::::A 1. :t-+ 11 11 +P12:'l:=: LSETTC:t-
=FNH$: LSETAN$=-A5$: PUT4, G9: CLOSE4 
1170 E0$=D0$:El$=D1$:IFLVTHENE0$==D5$:E1$=D5$ 
1180 f~:t-= 11 G 11 +CHR:$: (LV+48) +MID:~;: (STR:t- (G8) , 2): CMD 11 CREATE 11 +A$+ 11 /TTL: 11 +E0$: CMD 11 CREATE 
"+A:$:+ 11 /GRP:: 11 +E1$ 
11.'i'0 PRINT 11 Gr-oup 11 89~~= 11 c:r-ea.ted ! 11 : PRINT 
1200 IFMB==0THEN1270 
12Hj PFnNT 11 Ther-e is a mes~iage alr-eady in the buffeff: 11 :PFUNT 
1220 PRINT"Subjec:t: ";1--12$:PRINT 
1 ~:'.~;0 PR I NT II Do you want tcJ continue editing wher-e you 1 ef t off? 11 ; : ML=== 1: GOSUB6: GO 
SIJB4 
1 :;:40 I FA$= 11 N II THEN l. 260ELSE I FG9:r.:== 11 Emai 1 11 THENMG$= 11 F~ 11 ELSE I FMG:t-= 11 F~ 11 THENMG::I:==, 11 I< 11 

:l '.2!.50 I FA$=- 11 Y II THEN 1290ELSE :l 230 
l 260 FORX::: 1 TOOF': D$ ( X) = 11 11 : NEXTX: H 1.$= 11 11 : H2$::: 11 11 : MG$::: 11 11 : G7=0: MB::-•0 
1270 PRINT 11 Sending message tt, gr-oup 11 G9 11 - "G9$;: IFAN$:::-011 Y 11 THENPRINT 11 (Ancm) "EL.SEP 
RI I\IT 
1280 p~;: I NT: 87==0 
1.290 I=INSTR (Gll.$, 11 -R 11 ): IFITHENG7==VAL (MID$ <Gl1$, I+2)) 
1300 GOSUB1320:GOT010 
1310 X==Bl.:Y=B2:Z==B3:Sl.=B5:S2==B6:S2$=B1$:F5=B7:RETURN 
1320 Bl=X:B2=Y:B3=Z:B5=S1:B6==82:B1$=82$:B7=F5:IFG7=0THENl.380 
13~;0 A:~;:::: 11 G 11 +CI-IR$ ( L V+48) +MID$ ( STR$ ( G8) , 2) + 11 / TTL 11 : GOSUB 16: Y=G7: I FN3=0THEN 1350 
1340 W=Y:GOSUB4850:IFF1THENIFCVI<NR$)THENY=CVI<NR$):GOT01340ELSE1360 
1 ::::;!:.i0 CLClSE4: F'R I NT II The,,- e is no m£;issag e =!:~ 11 Y: G7==0: GOTO 13 l. t2l 
1. :3;60 G7==M: PR I NT II F,:ep 1 yin g ta rnessa~J e :t-~ 11 Y: CUJSE4: A;;~;=TT::tr.: GOS UK~;: I FLEFT:,t;: ( A::!r., 4) < > 11 He: 

11 TI-IENf'.i::I:=== 11 F~e: 11 +A;;t, 
l. ~;70 H2:t-==A:*: 
1 ~~;B0 I FMBTHENPR I NT II To: 11 H 1. :t-: PFO: NT 11 Subject: 11 1-12::1::: I FGc1::1::< > 11 Em6"\i 1 11 THENPRI NT II Protec:ti 
cm: 11 M(H:: GOTD 1. 590ELSE 1 ~:'i90 
1::::80 IF!-11.::t::< >" "THENPr~;:J:NT"To: "1··11$ELSEGOSUB24·70: IFNOTF1. THEN:1.:::::10 
140eJ I FH Ur.== 11 Al 1 11 ?-'iNDt°:Jc?:t-== "Emai 1 11 THEN PR I NT II Pl ease ck1 not send pub 1 i c: mt,?s~;;ages in qr-



ou.p 'Email '. ":: H1$==" 11 : GOT01~590 
j,4H:l IFXRANDG9$="Emai l "THENPRINT"Mes!:'.;ages in group 'Email' mu~st have an e:dsting 

rE~c:::i. pi <.;mt. 11 : H 1:t-== 11 ": GDT01~390 
1420 I FH2:t-< >" 11 THENPF~ I NT II Subject: "l-l'.:,:~$ELSEPR I NT II Subject: 11 ; : ML=40: GOSUB6: GOSUB3: I 
FA:t-== 11 "THENHi.lELSEH2:t::=A:$:: PF<INT"-> Sul::)ji:~ct: "H'.2$ 11 ·- Corr-ect.? 11 ;: ML•-=1: GOSUB6: GOSUB3: 
GOSUB4: I FA:.'!::<> 11 Y" THENH2::1,::::"": GOTO 1420 
1. 4:~m I FGC1$== "Em~:t i 1 11 THENMG$= 11 R" : GOTO 14 70 
1. 44-0 I FMG:1:-< >" 11 THENPRI NT II Pr·otect ion: 11 MG:t-: GOTO 14-70ELSEMG~t:=" K 11 

:t45(Zl PRINT"Default pr·ot..:ecticm: 11 118~~: 
j_ 460 i::'JOSUB2410 
1. 4 7(1 MB-- :l : PR I NT"-----·-.. --------·-------> Ent er message < -·-···--·-···---.. --,------" 
:l4El0 PRINT 11 Type '-M-END·*' ,:at the beginnini.;, of a 1 ine tc:i stop" 
1. 1.1.90 r-r•: I NT 11 ==:::.,==================~,.======-.::~,.==============~,.=====:::====================~"== •1 

:t 500 CL==0: HL==0 
1510 CL=CL+1:IFCL>OPTHENCL=OP:GOT01590 
1 ~i:2121 I FD$ ( CL-4) == 11 11 ANDD$ ( CL-3) == 11 "ANDD:t- ( CL-2) ==" 11 ANDD:t- ( CL .. -1) == 11 11 THENPR I NT II Use '·M-END* 
' to end the message." 
15:30 Pm<EOU+l, TAAND22:~::: PDKEDl.H-2, VY: IFD:t- (CU< > 1111 THENPRINT 11 Li ne"CL "c:urr·emtl y t-eads 
: 11 :Pl=.:INTUSING 11 4*'1=!: 11 ;CL; :Pf~INT 11 > 11 D$(CL) 
1 ~540 Pf~ I NTIJS I NG 11 #+I= 11 ; CL; : PR I NT 11 > 11 ; : Ml...==PEEJ< ( OIJ+2) -5: GOSUB6 
1550 A:2:.:*==-A$: GOSUB4: I FLEFT$ ( A$ , 4) == 11 ·M-END II THEN 1 ~.590EL.SE I FLEFT$ (A:$, 5) < > 11 -JE·f.,K IP II THEND$ ( 
CL) ==A:;::~1:-
1560 IFCL==OP-·10THENPRINT"---> 1.0 l j_ nes 1 eft..: <--"ELSEIFCL=OP-5THEI\IPRINT"--> 5 J. i ne 
s left <-·- 11 ELSEIFCL==OP-2THENPRINT 11 ---> 2 lines left <-- 11 

1570 IFCL>HLTHENHL=CL 
:t 5Blll GOTO 15 :l 0 
1590 PDKEOU+2,VW:IFCL=0THENCL=1:IFHL==0THENHL=1 
1600 PRINT:PF<INT 11 Ptr: "STR:$:(CL) ", high: 11 HL:PRINT 11 Enter <A,C,D,E,H, I ,.J ,L,N,F',Gl.1 R,S 
,·r,u,'·?>·: 11 ; 

l 6 j_ 0 ML= l 8: GOSUB6: GOSUB4: I FA$== 11 11 THEN 1590ELSEV$==LEFT::!:- ( ("!:t-, 1.) : V 1. ::f::==M ID$ (A::!::, 2) : ON INST 
R < "??~PLD I CEQSNTHJUR 11 , v~1:- > GOTO l 630, 1710, :1. Tm, 1750, 1. 7 60, :1. 830, 1900, 1910, 1. 920, 1 9:::::0 ., 21 
40,2220,2280,2570,2750,2830 
1620 GOTO 1 '.590 
1630 PF.:INT"Choor~e one of: 11 : PF<INT: PRINT 11 <A> - Abort entry and f.'?raSE;.) teHt 11 

1640 PRINT"<C> - Ccmtinue t~nte1ring at. end of te}{t 11 :PFUNT 11 <D> - Delete line(s) 11 

16~i0 PFUNT"<E> - Ed:i. t !:st..:8.rti ng at cur-r·ent line (ptr) 11 : PRINT 11 <H> -· Change header" 
:P1:~INT 11 <I> - Insert l:i.nf:?(s) 11 

1.660 PF~INT"<J> - Justify line(s) 11 :Pl::-.:INT 11 <L> - List line(s) 11 :PRINT"<N> -· Indent 1 
ine(!s) 11 :PRINT"<P> -- F'<::lsition pointer·" 
1.670 PFUNT"<Q> - Qu:i. t - Return to Command pnJmpt..: and 1 eave tewt intact 11 

:l6F30 Pt=-.:INT 11 •:::Fn· - Replace tewt strin~1s 11 

l69(i:l PFUNT"<S> -- Send message 11 :PRINT 11 <T> - Center line(s) 11 :PRINT"<U> -· Unju.sti·fy 
line1(s) 11 :PFUNT 11 <?> ·- List this help" 

1. 700 GOTO j_ 600 
1710 PRINT"** ABOFH -l!·-iE· - This will erase any te:d:. you. ha.ve entered 11 :F'f<'.INT 11 Su.re?? 
? 11 ;: ML==1: GOSUB6: GOSUB4: IFA~:1::< >11 Y 11 THEN1590 
1 7:20 FORX== 1 TOOP: D~,: ( X) == 11 11 : NEXTX: H 1::f,:::: 11 11 : H2:t-== 11 11 : MB•'"0: PR I NT II Aborted! 11 : C-lOTO 1 :310 
1 T:~0 IFV 1:~::.-::" 11 THENPRI NT"P<:Jsi ti on pointer to l i. ne: 11 ; : ML==2: GOSUB6ELSEA~~:a,:Vl.$ 
17.ll-0 GDSIJB2990: IFX< 1.0RX >HLOR I NT ( X) < >XTHENPRINT 11 I 11 €;.)(Jal line number. 11 : GOTD1~590ELB 
ECL .. •-==X: GOTO 1590 
17!50 GOSUB29 l 0: POKEOU, TSORB: FOF~X=-S 1 TOS2: PRINT US I NG 11 :t,j::j:f: 11 ; X; : PH I NT 11 > 11 D:$: ( X) : NEXTX: PO 
KE•IJ,TS:GOT01.590 
1760 IFV1$::::" 11 THENPFnNT 11 Li ne (s) to de!l etf.'-,: ";: ML===6: GOSUB6: v1~$:~,A~1: 
17n1 GOSUB29 l 0: PRINT"Del ete line 11 ; : IFS :l.==S2THENPRINTS1 11 ? 11 ; ELSEPRINT "~; 11 Sl. 11 tc;"S2"? 

II • 

' 17B0 ML===l: GOSUB6: GOSUB4: IFA::I:=< >11 Y 11 THEN1.590 
1790 FORX=S1TOHL-82+81-1:D$(X)==D:t-(X+S2-S1+l):NEXTX 
1800 HL=HL-S2+Sl-1:IFCL>HLTHENCL==HL 
1.a10 For.:.:x===HL+ 1. TDHL+s2--s1.+ 1.: D:t- < x > =="": NEXTX 
:I. 820 GOTO :t ~i90 



18~:;i?.i I FV 1 $::::" 11 THENPR I NT II I nssert before! line: 11 ; : ML=~$: GOSUB6: GOSUB2990: S 1 ::::X: F'FU NT" 1\1 
umber cf lines: '';:ML=3:GOSUB6:GOSUB2990:82=X:GOT01850 
1. 84-0 A~t:::::v 1 ::1;:: GOSUB2c;ci10: S 1. ::.-::X: I•-:: INSTR ( V 1 ::j:: 'I 11 , 11 ) : IF I =0THENf32=•0 1 ELSEA~:t:::::::M ID:$: ( V 1 ~1,:; I+ 1) : GO 

18~i0 IFS1.< 10RS1< >INT (81) Of,:82< 10Fi:S2< >INT (82) ORS1 >HL..THENPl=UNT 11 Bad para.meters": (30TO 
15<7(ZJ 
1f:i60 IFl·il...+S2>0PTHENPRINT 11 Message t1::io long_,,_ c:.;m't inser·t l:i.nr-:!s":GOT01590 
1EF0 P!=.:INT 11 Insc-:-~r-t 11 S2 11 line 11 ;: IFS2<>1THENPRINT"s"; 
1880 PF<INT 11 befon'? l i ne 11 81 11 ? 11 ;: ML.=•0 1: GOSUB6: GOSUB4: IFA::1:-< >11 Y 11 Tl-·IEN1~590 
:I. 890 FDl=<X:::::HJ...TOS 1STEP··· 1: D:$: ( X +S'.,2) :::I)::J:: ( X) : NEXTX: FORX=S 1 TOS 1 +82·-· l.: D::~ ( X) """ 11 11 : NEXTX: HL=H 
L..+B2:GOT01590 
1900 IFHL=OPTHENPRINT 11 MeE;~.;age toe l cmg ! 11 : GOT01590EU3EPRINT 11 Ccmti nuei at. 1 i ne"HL..+1 
11 .... 11 : CL==HL.: GOT01510 
FJ1.0 PFn:NT 11 Edi.t. starting at l:i.ne 11 CL:PRINT 11 Enter '*Sl<IP*' to leave lint~ the same" 
:PfUNT"Enter '·M-END*' tD end edit mode":GOTO:J.5::-::-0 
19'.;;:'.(~ PFU:NT"-M·* Gluit ·lHE· - This messa.ge has not been saV€;!d! You may r'€;!COVer":PFUNT 
"this same tewt by enteri.ng the 'E' command.":GOT01::-::-:l.0 
icr:::;0 A::J::a-::: 11 G"+CHR$ (l.V+48) +MID~i: (STF<::J:: (G8) , 2) + 11 /TTL 11 : PRINT 11 Checki ng group 11 G9~t-" = =. 11 : G 
m;UB16:PRINT 11 There 11 ;:IFN3=1THENPRINT 11 is 11 ;ELSEPRINT 11 ar-e 11 ; 

19L!-0 PF<: I NT II cur-rent 1 y II N3" message 11 ; : I FI\J:3;.,:: > 1 THENPR I NT II s 11 ; 

1950 PRINT". 11 : 1==0: IFN3THENGET4,N3: I=--=CVI (MN:$:) 

1960 PfUNT"This message is numbe1~: 11 I+1 
1970 IFG7THENGET4,G7:LSETNR$=MKI$(1+1):PUT4,G7:LSETPM$=MN$ELSELSETPM$=MKI$(0) 
1980 L..SETNR$=MKI$(0) 
1 C:)90 LSETRC:i:::: "N 11 : I FH 1 :t-< > 11 Al 1 11 f".,NDNOT X RTHENLSETRC$= 11 P 11 

2000 LSETTT$==H2$: LSETSD::l:===A 1 ;$:+ 11 11 +A2::!::: LSETTM:~:-=FNH$: LSETMN:t-=MK I$ ( I+ 1 ) : I....SETl1H~t:.::H l :~:: 
LSETPT$=MG$:LSETNL$=CHR$(HL.) 
2010 OPEN II E 11 , 2, "G" +CHR::1:: < L. V+4-8 > +MI 0::1:: < STR~t- <GB> , 2> + 11 /GRP 11 : LSETPs~1::==MKE:;:,f- <Loe< 2 > % > : PUT 
4, N::::;+ 1 : CUJSE4 
2!.?)20 PRINT 11 Updati ng messctt;:Je f :i. le ••• " 
2030 FORX=1TOHL:PRINT#2,D$(X):NEXTX:PRINT#2;CHR$(255) 
204-0 CI...OSE2:MS=MS+l:TP=TP+1:GOSUB18:GET4,UN:LSETNP$=MKI$(CVI<NP$)+l.):PUT4,UN 
2050 I FH 1 $= 11 11 THEN2110EU::lE I =0 
206el 1 =INSTR < 1 + 1 'i H 1 ::t:=, 11 11 > : IF 1 =-0,ern-1EN2110ELSEF 1 ::1::=LEFT:t < H 1 :i:, I-· 1 > : L 1. ::1:==M :co~~: < H 1. ::1:=, I+ 1 > : 
PiflSIIFl7 
2070 IFNOTF1 THEN2060EL..SEPRINT"Nat.ifying 11 H1.$ 11 of this messa.ge. 11 

20Em :r FMG~~,:::" H" THENLSETEWS=CHR~~ < Ase < EI.AJ~f- > + 1 > ELSEL.SETMW=t-==CHH:t- < Ase < Mws > + :l > 
2090 I FH 1. :q;:::: ( A 1 ~i:+ 11 11 +A2~t-) THENEW=ASC ( EW~-1::) : MW==ASC (MW:$) 
2100 PUT4,M 
;;~ 11. 0 CLOSE4 
2120 B4=•B4+1: PRINT"Me~5sa.ge sent. 11 

2130 FORX::.-=1 TOOP: D$ ( X) :::: 11 11 : NEXTX: H1$= 11 11 : H2$=" 11 : MB=0: GOTOl.~510 
21 Lt-0 I FV u::::: 11 11 THENPR I NT II Indent. 1 i ne ( s) : 11 ; : Ml ... ==6: GOSUB6: V U===A$ 
21.50 GOSUB2cr10: IF INSTR (Vu:, 11 , 11 > ==0THENPRINT "Character!'~ to indent? 11 ; : ML:<::-: GDSUB6: 
V 1. ~;:a,=A:1:-EL.SEV 1 $::::l"J I D~1;: ( V 1 ~'I:-, I NSTJ~ ( V 1 $, 11 , 11 ) + 1 ) 
2:l60 Y=VAL(V:1.::1:-): IFY<00RY<>INT(Y)ORY>40THENPl~INT"Illegal numbe?r- o-f c:har-acter-s":GO 
T01.::':i90 
2170 PF<INT 11 Indent. 1 i ne";: IFS1=82THENPRINTS:I.; EL.SEPRINT 11 s 11 S1 11 tc> 11 82; 
2180 PRINT"? 11 ;: ML.=1: GOSUB6: GOSIJB4-: IFA$< >11 Y 11 THENl.590 
;;;: 1. 90 FORX=:f:l 1. TOS2: {-i$==D:,f- ( X) : GDSUB~5: I FL.EN ( f~::!::) +Y >PEEi< ( OLJ+2) -5THENPR I NT II Li rn-,'? 11 X II is too 

l cmg to be i ndf:nte?d 11 : CMD 11 F==PDPN 11 : GCJT01590ELSENEXTX 
2200 FORX=S1TOS2:AS=D$(X):GOSUB3:D$(X)=STRING$(Y,32)+A$:NEXTX 
2210 GOTD1590 
2220 IFV1$=:::" 11 THENPFnNT 11 CentEff 1 ine (s:,;): 11 ;: ML.==6: GOSUB6: v1::1::::::A$ 
2230 GOSUB21:Y 1. 0 
Z:~'l-(lt PRINT"Center 1 ine";: IFS1=82THENPFn:NTS1; EL.SEPFUNT"s 11 81. "to"S2; 
225(l! p1=nNT 11 ? 11 ; :: ML=l: GOSLIB6: GOSUB4: IFA:;t;:< >"Y"THEN159i21 
2260 FORX=S1TOS2:A$=D$(X):GOSUB3:Y=CVY-5)/2-L.EN(A$)/2:D$(X)==STRING$(V,32)+A$:NEX 
TX 
2270 GOT01590 



22Ell.Zl IF I MnF~ < v 1 :.')::, "--•s" > THEN234@ELSE IF INSTR < v 1 :.')::, "--T" ) THENZ:r1el 
2290 PF<INT "Hf?ader-: 11 : Pl=-.:INT: PRINT "To: 11 HU=: PF<INT 11 Sub jec:t: uH2$: IFG9:t-< >" Ema.i l 11 THENP 
RI NT II Protection: 11 MG:$: 
Z300 PFi:INT: IFG•,'${ >"Em,,:d l 11 THENPFi: INT "Enter- <P, Q, S, T, ?>: 11 ; EL.SEPRINT"Enb2r .. < 0, S, T,? 
>: II ; 

2310 ML==1:GOSUB6:GOSUB4 
23:~~12) ON I NSTF~ ( 11 QST?P 11 , A:$:) GOTO 1590 9 '.,?34-0, 2:::::70, 2:;:,80, 2400 
2:330 GOTOZ:312l0 
Z~::4-0 IFG7THENPFUNT 11 Cannc:1t c:hamge subject of a mess.age r-epl y ! 11 : GOT02:::::eHZ) 
Z3~:i0 PR I NT II Subject: 11 ; : ML==40: GOSUB6: (:JOSIJB3: IF A$=--= 11 11 THEN 1 ~i9fZJ 
2360 H2$==A$:GOT01590 
2370 GOSUB2470:GOT01590 
2~:-r:m Pr~~INT 11 Chcmse one of: ":PRINT: IFG9:'1::<> 11 Ema.il 11 THENF'RINT 11 <P> - Pr-otec::tion" 
2~390 PRINT"<Q> - Quit 11 :PRINT 11 <S> - Subject 11 :PRINT 11 <T> ·- To":PF<INT"<?> - Displa.y 
th i s he 1 p " : Gtrro2:300 
~,:'.400 I FG9$== 11 Ema.i l II THEN2300ELSEGOSUB24 j_ 0: GOT02:300 
'.:24:t0 Pl::.:INT"Pr-otect. ion <K, N, ?>: 11 ; : ML==:t: GOSUB6: GDSIJB4: IFA$::::" 11 THENRETURNEU3EIFA¥< > 
II? II THEN24~5(2) 
24.;J?.) PRINT"Choose one of: 11 :PFU:NT:PFUNT"<K> -· Kill pr-c:1teic:t£~d 11 :PRINT 11 Ever-yon 
E? can r·ead this msg but only sender- and r-ec:eiv~?r- 11 :Pl~INT" ca.n kill it" 
24:?::0, PRINT"<N> - Not pr-c:!t.ectt"?.d":PRINT" Everyone c:.an t"'t'?.i:td ~md kill this mess 
aq£;!11 

24.£1-0 PFUNT"<?> - Displ!::W this; help":PRINT:GOTCJ2410 
'.:::~450 I FA$< > 11 K II ANDA:t-< > 11 N II THEN24 :t t?l 
2460 MG$==AS:RETURN 
24 70 F 1 ==-1 : PR I NT II To ( '-M· ' for ALL) : 11 ; : ML==25: GOSIJB6: GOSIJB3: GOSUB5: IF{-)$= 11 11 THENF i =0 
: ~i:r:::nmNELSE I FA:t-== 11 * 11 THENAS•-= 11 A 11 11 

'.:::~400 IF tU:=" Sysop II ORA:~,:=T 1 SOF~A$==T2$0Rr:.:i~t:====T:::::soRA$==T 4-~t-THENA~t-== 11 System Oper- at t 01'" 11 : PR I NT 11 

You me,:i.n ••• 11 :PRINT"To: "A~t.:PRINT 
2490 XR=--=0: I====0: HU:==A~t=: IFA$== 11 Al l 11THENF~ETURNELSEGOSWH8 
2~5!ll0 I== INSTR ( I+ 1 ; H 1 $; 11 11 ) : IF I ==0THEN2540 
2510 F:t$=LEFT$(H1S,I-1):L1$==MIDS<H:tS,I+1) 
2520 GOSUB7:IFF1THENCLOSE4:RETURN 

2540 CLOSE4:PFUNT"**· Tha.t person is not registered on this system ** 11 

2550 PfHNT"Ac:cept th<-:1 name .anyway? 11 ;: ML=l: GOSIJB6: f:l0SUB5 
2560 IFA:$=::"Y 11 THENF1==-1: XR=•0 -·1.: RETURNELSE2470 
2570 !AJ=VY: IFV1:t,:::::: 1111 THENPRI NT II Ju~;t if y 1 in<.? ( s) : 11 ; : ML=6: GOSUB6: V 1::J.=:=A::t-
2!:i00 GOSUB2<:,' 10: I== I NSTf=i: ( \/ 1 $, 11 , 11 ) : IF I THENW==VAL (MID$ ( V 1 $, I+ 1) ) ELSEPF:I NT 11 !>.Ji dth of ju. 
stifica.tion? 11 ; :ML=:3:GOSUB6:l>J=VAL(A:t-) 
2590 I FW< 1 OF~W>2000Rl.AJ< >INT ( W) ORW >VYTHENPRI NT II I 11 ega.l I.Ali dth for- j Ltst if i cation ! 11 : GO 
TO 1 ~:i<":?0 
2600 PFUNT 11 ~Justify line";: IFSj,==f32THENPFUNTS1 11 ? 11 ;ELSEPRINT 11 s 11 Sl"to 11 82 11 ? 11 ; 
2610 ML•= 1 : GOSUB6: GIJSIJB4: I FA::!::< > 11 Y" THEN 1590 
2620 DIMS<W+10) ,T(W+10) 
26:~::0 FOR X ::::S j_ TOS2: PF~ I NT II Li. ne II X: A~t-===D:.'l:: ( X) : GOSIJB3: D$ ( X) ==A:t:: Y::::l..EN ( D:t- ( X) ) : I FY< 2Tl-11:::NPR I 
NT" (Not ju.~.;tified) 11 :GOT02730ELSEIFY>=--=WTHENPFi:INT 11 (Too :tcmg) 11 :GOT02731ZJ 
2640 F2=0:FORF3=1TOY 
2650 I== I Nsni: < F:~:, D$ < x > , 11 11 > : 1 FI ==0THENF~;•=Y: GOT026 70 
2660 IFI>F3THENS(F2)::::I:F2==F2+1:F3==I 
2670 NEXTF3:IFF2==0THEN2730 
2680 F4=RND(F2)-1:IFINT(F4/2)=F4/20RF4=1THENF5==:tELSEF5=2 
2690 FORF3=1TOW-Y:T(F4)==T(F4)+1:F4::::F4+F5:IFF4>F2-1THENF4=F4-F2 
2700 NEXTF3:FOFi:F3==F2-1T00STEP-1 
2710 D::I:= ( X) =•LEFT$ ( I):.'):: ( X) , S ( F~::) ) +STF~ I NG:.'):: ( T ( F:3) , 11 11 ) +MI I)$ ( D:.'l:: ( X) , S ( F3) + 1. ) : T ( F3) :::::0 
2720 NEXTF3 
2T$0 NEXTX: CMD 11 F==ER~)SE 11 ,S (0), T (0) 
27 41Z.l GOTO 1 ::'i90 
2750 IFV 1. $== 11 11 THENPR I NT II Unjust if y 1 i. ne ( s) : 11 ; : Ml..==6: GOSUB6: V 1 ::!:==~)$ 
2760 GOSUB2910 



'.2:77el PR I NT 11 Unjust if y 1 i ne 11 ; : I FS1 ==S2THENPRINTS 1; ELSEPRINT 11 s 11 S 1 11 to 11 S2; 
2780 PRINT"? 11 ;:ML..==1:GOSUB6:GOSUB4:IFA$<> 11 Y 11 THEN1590 
27c10 FORX=S 1 TOS2: PF< I NT II Line II X 
2fJ0(2) I::: INSTR ( D:t- ( X) , 11 11 ) : IF I THEND:t- ( X) ===LEFT$ ( D$ ( X) , I) +MID:$: ( D$ ( X) , I +2) : GOT02800 
2810 NEXTX 

2ff~:;0 I FV :I. ::t,:= 11 11 THENPR I NT II Rep 1 a.c e 1 in e ( s) : 11 ; : ML.=--=6: GOSUB6: V 1 :t-=i::,::1:: 
2840 GOSUB2910: PR I NT II Sear-ch for: 11 ; : ML.:::40: f:30SUB6: IF r-,::t,:::: 11 11 THEN :I. 5 1?~'.lELSEA4:,l:-===A$ 
'..?81:iill PF~ I 1,1T II F(ep 1 ace with: 11 ; : ML:::40: GOSUB6: I FA::t,:= 11 11 THEN28~i0ELSEA:~;:,t-:::A:;f,: 
2860 Y=0:FORX=S1T082:I===1 
2870 I=INSTR<I,D$(X) ,A4$):IFI=0THEN2900 
'.2880 I FLEN ( D:t- ( X) ) +LEN ( A:3:$) .. -LEN ( A4~~:) >220THENPR I NT II Over f 1 ow in l in e II X: GOT029(Zl0 
2890 Y==Y+1:D$(X)=LEFT$(D$(X) ,I-1)+A3$+MID$(0$(X) ,I+LEN(A4$)):I=I+LEN(A3$):GOT028 
70 
'..?9@2l NEXTX: PRINT "Rep 1 aced 11 Y: GOT01590 
29 :1. 0 I FV 1 ::t,:=" "THENS :1. = 1 : s2=HL: RETURNELSE 1 = 1 NSTR < v 1 $, " : " , : r FI ==0THENF :1. ::t,:=v 1 :$:: L 1 :,r.==F 1 ::t,:: 
l':)OTCJ2Ci>50 
2920 IF I= 1 THENF 1 ::j;:::: 11 1 " : L :I. :;t;::::M ID$ ( V 1 :=t;:, 2 > : GOT02950 
2930 IFI=LEN(V1$)THENF1$=V1$:L1$=STR$(HL):GOT02950 
2940 F1$=LEFT$(V1$,I-1):L1$=MID$(V1$,I+:I.) 
2950 A$=F1$:GOSUB2990:S1=X 
2960 A$=L1$:GOSUB2990:S2=X 
29712.l IFS 1 < :I. Ol~[-31 >S20F~S 1 <>I NT ( €31) 0Fi:S2>HLORS2< >INT (82) THENPFi:I NT II I 11 egal r· ange 11 : CMD 11 

F==F'OPR":GOT01590 
2980 RETURN 
2990 GOSUB:3040 
3000 A$=MID$(A$,2):V$=LEFT$(A$,1):A$=MID$(A$,2) 
3010 IFV:t-== 11 + 11 THENY=X: GOSUB~::;04-0: X==X +Y: RETURN 
:3;020 IFV:$:::: 11 -· 11 THENY=X: GDSIJB3040: X==Y-X 
:3;0:3(Zl l~ETW-=.:N 
:::H?)40 GCJSUff;:;: V$==LEFT$ ( A~P,:, l) : I FV~:::: 11 n II THENX::::CL.ELSE I FV:$:::: 11 ~+ 11 TI-H::]\IX=-0 :I. ELSE I FVj~:::: 11 -lt· 11 THENX::: 
HLELSEX=VAL(A$):A$=MID$(AS,L.ENCSTR$<X>>-l> 
::::;@:i0 f;~ETURN 
:::H~l6C?J F4= r NSTF\ < Q 1 ~i.::, "-A", : F5=== r NSTR < G.11 $, 11 ---T" > ORF4: FB:::= r NSTF~ c Q:I. ::1::, 11 --c" > ORF4: F:~::-== I NSTF~ c G! 
1. $ 7 II .. -i·J II) ORF 4: F 6= I NSTI:~ ( IJ 1 $' 11 -L II) ORF 4: F7== INSTR ( Q 1 $' II-NII ) ORF 4: F9= INSTR ( Q 1 ::j:: 7 11 -R II ) OHF 
4 
3070 Z=1:GOT04270 
3080 POKE OU, TSORB: PR I NT 11 < 11 MI D::1:- ( STR:$: ( CV I (MN:$:) ) , 2) ; : I FF9THENPR I NTPT:t-; 
:3;,:190 Pf~ I NT 11 > - " ; : A:~::=TT:,1:-: GOSUB3: PR I NTA:t-; : I FRC::1:-== 11 P II THEN PR I NT" [ Pn d II CHl~:,f. < 9:::; > ; ELSE 
I FF<C$=: 11 R II THENPF.: I NT 11 [ Re: v II CHF<$ ( 9:::;;) ; 
::::;100 IFF7THENPRINT" ("MID$(STR:t-(f-.)SC(NL$)) ,2) 11 line";: IFASC(NL$)==1THENPRINT") "EL 
SEP!~ I NT II s) II ELSEPR I NT 
3110 IFF5=0ANDF8=0THEN3140 
:3;l,20 PRINT" 11 ;: IFF8THENA$•.,,,SD$: GOSUB3: PRINT"From: 11 ;: IFNOTG60R (PEE~::: (OIJ+H?.)) A 
ND4> THl:::":NPRINTA$" "; EL..SEPRINT"Ancmymcius 11 ; 

:!:1:!;0 IFF5THENPRINT 11 Ti me: 11 ;: IFNOTG60R (PEEK (0U+10) AND4) THENPRINTFNI$ <TM:t-) ELSEF'F<IN 
T"< Nert avai 1 ab 1 e>"ELSEPRINT 
:Y!. 1.1-0 I FF:~:-THENA:=t;:=WT:$:: GC!SIJK:o: PFO: NT II To: 11 A'.1:: 
::;:; 150 I FF 6 THEN I FCV I ( NR~t-) =0ANDCV I (PM$) =0THEN3190ELSEPR I NT 11 11 ; ELSE3 :I. 90 
:~:;160 PRINT" ( 11 ;: IFCVI (PM$)< >0THENPFUNT"P-ref: "STR$ (CVI (PM:$:));: IFCVI (NR$) < >0THENPF~ 
I NT II ' II; • 

:;:;170 IFCVI (NR$) < >0THENPRINT"N-·ref: 11 STR$ (CVI (NR$)); 
:31B0 Pf-UNT 11 ) 11 

:!;190 IFPEEK (OU)<> ( TSOR!:'3) THENPOKEOU, TB: PRINT: PRINT 11 <{.':tborted > 11 : CLOSE2, 4: GOTOl 0 
~~;200 Fi:ETURN 
:::-21.0 F~$=:::INSTR (G"!l:=t;:, 11 ·-R") DR INSTR (Gl1$, 11 -A") 
3220 Z==0:GOT04270 
:3:;~~:;eJ PR I NTN::::;" Messa.ge"; : I FN::::;< > :I. THENPR I NT II s 11 ; 

3240 IFF::-HHENIFN:3==0THENGET4, 1: PRINT" -- NLlmber- 11 Xl:::':LSEGET4, 1: X==CVI <MN$): GET4, N3: PRI 
NT" ..... " X "to"CVI (MN$) ELSEPRINT 



:'Vi'~'Wl RETURN 
:"!:?6(71 F~:i=== INSTR ( C:H :;j::, 11 ., .. F,: 11 ) DfU NSTF: ( Q 1 ~i:, 11 -?) 11 ) : Z:::::2: GOT04270 
:::::27(ll I FVDTHENPR I NTCUlr. 11 Group: 11 89:i:ELSEPR I NT 
3280 Pf,: I NT: POKEOU, TSORB: (.~:~==TT:~:: GOSUE(:::: PF< I NT"< 11 MI D~I:: ( STF~$ ( CV I ( MN~t-) ) , 2) ; : I FF5THENPH 
INTPT::1:-; 
3290 PHINT 11 > .... 11 Ajf.:;: IFRC:.=!,:::::: 11 P 11 THENPRINT 11 [Pend 11 CHR$ (9:3;); ELSEIFF~C::l:-= 11 R 11 THE!,IPF:INT 11 

[ Re vd "CHR~I:- ( 9~~) ; 
:3:~;00 PHINT" ( 11 MID$(STF~$:(ASC(Nl..$)) ,2) 11 line";: IFASC(Nl..$)<>1THENPF:INT"s) "ELSEPRIN 
TII) II 

~:::::::1.0 ?,:t-=SD:.=i,:: GOSUB~~= PF<INT"Fr·om: II;: IFNOTf36tm (PEEK (0U+10) AND4) THENPRINH-~~1:- 11 II; EL.SE 
PF:INT 11 Ancmymciu1:, 11 ; 

:3;~::20 !~~,t,:===!,i.JT~-t::: GOSUB3: PRINT"To: 11 (~$ 

::n:~;0 PR :r NT II Ti me: 11 ; : I FNDTG60R ( PEE~< ( DU+ 10) AND4) THENPR I NTFN I$= < TM:t-) ELSE:F'R :r NT 11 < Not a 
vailable>" 
:~;31.1.0 PR I NT 11 -=-.. •::::--:::::--:::-•::::--=-·=-•-::::-.. ::::-:::-:::::--::::- 11 

3350 GETl, !$CVS<PS$) 
3360 LINEINPUT#1,AS:IFA$<>CHR$(255)THENIFPEEK<DU><>CTSOR8)THEN3370ELSEPRINTA$:GO 
-ro:3~~:60 
:~;370 POKEDU, TS: PF< I NT 11 --::::-·=-·=-::.::-:.-::-::::-•=···=-=-·=-=-·=- 11 

3380 IFCVI<NR$)=0ANDCVI<PM$)=0THEN3420 
~r::::90 I FC'v' I < NFi:$ > THENPF< I NT II N-Ref : 11 cv I < NR:$: > ; : I FCV I <PM$=> THENPF< I NT 11 11 ; 

~.Hl?.J!,Zj I FCV I ( pr,u:) THENF'fU NT II P--F<r-:f: II CV I ( F'M:.f:) ; 
:3;41 t1 PR I NT 
:3;4.;;:~0 Ajl::::::WT~~::GOSUB3:IFA::!,=<> 11 AJ.l 11 ?-1NDPT:.=!::= 11 F<"THENPRINT 11 PJ.~?ase kill this me-~ss21.qe if yo 
u. dcm 't need :lt a.nymor€-:. 11 

34:3;0 IFAj!,:< > (Ai:=t;:+ 11 11 +A2$) ORRC:=t;:< > 11 P 11 THEN~:-490 
:~A40 PRINT: PF<INT" (Not:l ng rece:i. Vt:-?d message) 11 : IFPT:t-= 11 F< 11 THEN3470EU:1EI ==0: CLOSE2: FD==2 
:GOSUB18:A5$==WT$:GOSUB3 
:::::4:m I"" I NSTF< <I+ 1. , Pi5:$:, " 11 > : IF I •==0THEN:3480ELSEF 1 $==LEFT::!!: < A5$, I .... 1. > : L 1 :l==M I D:t: < P1$:, :r + 1 > : G 
CJSUB? 
:3;46(?.l I FNOTF 1. H·IEN:~:;1.f,50EL.SELSETMW:1:::::Cl-·IR:=t;: ( ASC (MW:$:) -1 J : PUT2, M: I FA:t:::: ( A 1 $+ 11 11 +{~2:1,:) THENMt-11 
==ASC (MW~~:) 
34 70 L!:>ETRC~t;:== 11 R 11 : PUT 4, X 
3480 CLOSE2:FD=4:IFWCTHENFD==2:GOSUB19:FD=4 
3490 PF<INT:PRINT 11 (# 11 MID$(STR:=t;:(CVI (MN:=t::)) ,2);: IFX==NTl"HENPRINT"-L."; 
:3;500 PRINT") - Enter <#,A,B,F,K,L,N,P,Gl,S,R,?>: 11 ; :!'1L==5:GOSUBtJ:GOSUB:3:GCJSUB4: IFA 
$==-.::" 11 THEN:::::s00 
~$510 I FL.EFT::!!= (A:$:, 1 ) = 11 ! 11 ANDPEEI< ( OU+ 10 J AND4 THEN ON INSTR ( 11 Fi:S!>JFNPMDT" , MID$ < f,~~1:-; '.,';:~, 1 ) ) i30T 
03680,3690,3700,3710,3720,3730,3740,3750,3770 
:3;~520 I FL.EFT:$= ( A:=t;:; 1 > ::: 11 ~t-" THENA$=M ID:$= (A:$:, 2) : I FA:t-= 11 11 THEN3490 
3530 IFVAL.(A$J<>0THENW=VALCA$J:GOTD3660 
:3;54.0 A::t;:=I...EFT:.=!• <A::!,, 1): ON INSTR ( 11 FNBR(J.?KPL.AS 11 , A$) GOT03640, ~:.800, 3820, ::::;270" ::::;860; 387t1; :5 
910,3840,3780,3560,3790 
35~50 GOT• ::::;490 
3560 IFMB=0THEN3580 
::::570 PFUNT:PHINT"Yau ~\lready l1ave a message! in the bu~=ft"-?F" ••• if you. pI···oceed; 11 :PFH 
NT 11 a.ny teld: pn~viou~.;ly ente!'"ed will bl-:? l.1.Jst.. 11 :PRINT 11 0k tel sE.md messaqe? 11 pML=:lg 
GOSUB6: (30SUB4: I FA:t-< > 11 Y II THEN:3490 
~?"5B!Zl IFMBTHENFORW=l TOOP: D::I:: (W) = 1111 : NEXT!,i.J: MB=0 
:~?::i9ei Vl-~=-PEEK wu+2) : VY=-.::vw: G7=cv I <MN:$:> : r~:t-=:::w·u:: sosue~:-: I Ff..:1:t-=•" Al 1 11 THEI\IH 1 ::1,:=A:t-: MG:1::= 11 !< 11 E 
I...SEIF(.,,5:t-=== 11 Y11 THENH1:$:::::: 11 Al l 11: MG::!:=== 11 K11 ELSEA::l::::::sD~t-: GOSUB3: Hl:t-:==A::I:=: MGji:=::::PT$ 
3600 CLDSE1 9 2,4:PRINT:F2=0:GOSUB1320 
3610 IFWCTHENFD=2:GOSUB19:FD=4 
:::-620 (..-:i:3::~r.== 11 G" +CHR$ ( LV+48) +MI I):$: ( STF<:t- ( 08) ; 2) : A:t-::::f}i:,;;::t-+ 11 / TTL 11 : GOSUB :1. 6 
:36::::;0 OPEN" I 11 , 1, h3$+" /GRP 11 : GET4, X: Pf-i'.INT: GOT•3:J70 
~:06 1'.l-0 IFCVI (NF<::.=!::> =0THENPRINT 11 Nc1 N .. -F<ef message! 11 : GOT0~.3490 
:3650 W=CV I < NR:$: > 
3660 F2=X:GOSUB4850:IFF1THENX~M-1:RETURN 
:367!t) PHINT"Mt"-?t=:;s.age :tt- 11 MID$(STR$(1/.J),2) 11 does not el·::i.st!":X==F2:!3ET4,X:GDT0~5490 
:::::6B0 PRINT 11 Nf.~W pr·otect.:l on? ";: ML==:l: GCJSUB6: GOSUBl.f.: IFA$:::::: 11 "THEN:::!:490ELSEIFA:t-< >11 K"{4ND 



A:,~:<> 11 P II ANDA:t-< > 11 R II THEN:::::680ELSEI..SETPT$==?,::~: PUT 4, X: GOT0:~~490 
:::::690 PRINT"New subjec::t.? 11 ;: ML=40: GOSUB6: GOSUK'::: IFA~t::::::" "Tl·-IEN3490ELSELSETTT:$::::::A:$:: PUT 
4, X: GClT0~.::-490 
:3700 PF~INT 11 Who t.rJ? 11 ;: ML.:::::25: GOSUB6: GOSUB5: G0!:3UB:::!:: IFA$= 11 "THEN349eJELSEl..SETWH:-:::::A;;f:~: P 
UT4·, X: GOT0~.::-490 
3710 IF ( PEEi< ( OU+ 10) AND 128) =0THENPF=i: I NT" I J. J. €~g a 1 r·emc)t e s; ysc)p f Lmc: ti on ! " : GOT0349eJEL. 
SEPR I NT II Who fr-om? 11 ; : ML=25: GOSUB6: GDSUB5: GOSUB3: I FA:$=== 11 11 THEN3490ELSEL..SETSD::!:==A:$:: PU 
T4, X: GOTD:2:-4-90 
:-.:::720 PR I NT II New N···Ref? 11 ; : ML..=-.::5: GOSUB6: GOt1t.JB::::;: I FA$= 11 11 THEN3490EL.SELSETNF~:$==Ml< I ::f:: ( W\L ( 
A$)):PUT4,X:GOT03490 
37:-.:::0 PR I NT II New P-·Ref? "; : ML.=5: GOSLJB6: GOSUB3: I FA:$== 11 11 THEN:3490EL.SELSETPM::!:===MI< I ::1:: ( V{:)L. ( 
A$)):PUT4,X:GOT03490 
~r74-0 PfUNT"New mefJS.:\Q€~ number? 11 ;: ML=5: GOSUB6: GOSUEC3: IFA:t-= 1111 THEN:3;490ELSELSETMN$== 
Ml<I$(VAL(A$)):PUT4,X:GOT03490 
:3;750 PRINT "Are you sure??? 11 ; : ML.===1: f30SUB6: GOSUB:::::: GOSUB4: IF{~:$=< >"Y" THEN::::;490 
3760 FORW=XTON3-1:GET4,W+1:PUT4,W:NEXTW:W=LOC(4)%-L3:PUT4,!#W:PUT4?&&:N3=N3-1:IF 
N3=0THENCL.OSE1,2,4:GOT010ELSEGET4,X:GOT03490 
377G!J PR I NT II New ti me? " ; : ML===21 : GOSUB6: GOSUB5: I FA$= 11 11 THEN349m~LSEGOSUB 13: LSETTM$=S 
1$:PUT4,X:GOT03490 
3780 X=N3-1:RETURN 
3790 X=N3:RETURN 
:3;900 IFX=N~:-ANDNOTWCTl-·IENPFO:NT: PFHNT"·--> End of messages <-•-" 11 

:3910 RETURN 
3820 I FCV I (PM$) ===0THENPF~ I NT II No P-·Ref messagt"! ! 11 : GOT• :;:-490 
3830 W=CVI(PM$):GOT03660 
3840 IFX=1 THENPRINT"No previous messc.-\ge ! 11 : GOT03490 
3850 X=X-2:RETURN 
3860 CL.OSE1,2,4:GOT010 
:3;971?.) PF<INT"Choose one of: 11 : PRINT: PFU!',IT"<#> -· ~'Jump to that msg # 11 : PFnNT"<A> .... Ans 
wer (n~ply to) this message":PRINT"<B> -.. Backr,.1ard link (Fol.low P-·Ref~;;) 11 :PRINT 11 <F 
> ·- Forward link (Follow N-Rf.?fs;) 11 :PRINT 11 <K> - !<ill message" 
:3880 Pt:=.:INT 11 <L> ·- Last messc.-\ge in ~~roup 11 :Pf.;:INT 11 <N> - Ne:-(t message 11 :PRINT"<P> - Pr 
evious message" 
3890 PRINT 11 <Q> - Quit: 11 : PRINT"<R> ·-· Re-.. -1r•ead current. message": PRINT"<S> -· Skip thi 
s grl'.:11..tp":PRINT"<?> - Display thi:~ hEdp" 
3c;-00 GOT03490 
~391. 0 IF ( PEEi< ( OU+ 10) AND4) ORWT::!:==FNP$ ( A 1 :t-+ 11 11 +A2$, 25) THEN3980EL.SE IF ( PEEi< ( OU+ 10) AND::::: 
2 > (.-,ND < PT:t-= 11 N" •RSD:t-=FNP==F- < A 1 ::r-+ 11 "+A2:t-, 25 > ) n-tEN:::.r.900 
::.':820 IFPEEK<OU+10)AND~$2THENPfUNT 11 You can't. kill t:hi~-; mf.'J~ssage! 11 ELSEPFUNT"You may 
<:inly ki 11 E···Mai 1 ! 11 

~::9~::0 GOT• :::::490 
3940 Z=3:GOT04270 
'.3850 IF ( PEEt< ( OU+ 10) AND4) Df-=i:1.>JT::l:==FNP:lt, ( A :I. :i:+ 11 11 +A2$, 25) THEN~$960ELSE IF ( PEEi< ( OU+ :t. 0) {4ND::::: 
2 > ==0.THENRETURNELSE I FP'U:::::: 11 N II OF<:SD$=FNF'$ < A 1 ::f::+ 11 11 +A2:$=, 25) TI-IEN:39612.)ELSERETU!=.:N 
~$960 A:t-=TT::t,: GOSUB3: PR I NT 11 < 11 MI D:t- ( STF=i::$: ( CV I (MN:$:) ) , 2) 11 > - 11 A$: PR I NT 
3970 Pl::.: I NT II Ki 11 t..:h is me~;sage? 11 ; : ML== :I. : GOSUB6: GOSUB4: IF A:$== 11 Q" THENCLOSE 1 , 2, 4: !:JOTO 1 
0ELSE I FA:t-< > 11 Y II THENRETURN 
:3:900 PR I NT 11 !< i J. 1 in g mE'Js;sag e ••• 11 : {~:$==WT~'!:=: GOSUB~:;: U 1 :$==A$: U2:1,===PT$ 
3990 I=CVI(NR$):F2=CVI<PM$) 
i1.rzi00 cL•SE2: A4$= "G" +CHR$ < LV+48 > +MI 0::1:: < snT~~t- <GB> , 2 > + 11 /GRP" : OPEN II E 11 , 2, "KI LL.LOG; TFC: 11 

+D4$ 
4010 PRINT:f:t2, 11 Message kiJ.leid on "FN(3:$= 11 !::iy "Al.$" "A2$:PRINT:f:t2, 11 Group: "G9$" 
Message # 11 CV I ( MNt:) ; : A$===TT::f::: GOSUB:3: PF~ I NT#~'., 11 Subj : 11 A$: A$==SD$: GOSUB3: PR I NHt-2 9 11 Fr 
om: II A:lt- 11 To= II; : A::f,::::WT::t::: GOSt..JB:::~: PR I NT:f:t2; A:$= II P1rot: II PT~t-
4020 PFUNT4:f:2, 11 T:i. me sent: "FN I ~1:= (TM$): PRI NHt2, 11 Messaq~=: 11 

4030 A!=CVS(F'S$):GET1, !$A! 
4040 L.INEINPUT#1,A$:IFAS<>CHR$(255)THENPRINT#2,A$:GOT04040ELSEPRINT#2,''--- Endo 
f message _,,_ .. _ 11 : PR I NT=l:!=2, : PR I NT4*2, : CLOSE2: OPEN II O 11 , 2, A4:t:: GET2, ! :t-A ! : PUT2, ! =l=!=A ! : A! =LOC 
<1. > ! -·A! 
4050 IFEOF<1.>THEN4070 



4060 LINEINPUT#1,A$:PRINT#2,A$:IFAS<>CHR$(255)THEN4060ELSE4050 
4070 PUT2, ~,.~,.: CLOSE :t , 2: OPEN II I 11 , 1 , (-\4~~ 
4080 I FF2CJR I THENPR I NT II Relink i n~;J ••• 11 

4090 IFF2THENW=F2:GOSUB4850: IFF1THENLSETNR$==MKI$CI> :PUT4,MELSEPRINT''Linking erro 
r ! II 

4:t00 IFITHENW=I:GOSUB4850:IFF1THENLSETPM$=MKI$(F2>:PUT4,MELSEPRINT''Linking error 
I II 

4110 PR I NT II Ki 1 l i ng tit.le ••• 11 : IF X < >N::Hl·-IENFOFi:W= XTON3-· 1 : GET Lf., W+ 1 : LSETPS:'1:-==l"ll<S~r. ( CVS ( P 
S$)-A!):PUT4,W:NEXTW 
4120 W=LOC(4)%-L3:PUT4, !#W:PUT4,&& 
4130 IFU1$="Al l 110R (F<C::f::= 11 R 11 ANDPT$== 11 K 11 ) THEN4220 
4140 FD=2:GOSUB18:I=0 
4150 I=INSTR(I+1,IJ1$," 11 ):IFI=0THEN4210 
4160 F1$=LEFT$(1Jl$,I-1):Ll$=MID$(1Jl$,I+l):GOSIJB7 
4170 IFNOTF1THEN4150 
4-180 I FU2:1r.== 11 R II THENLSETEW:t-==CHf~:t- ( ASC ( EW:t:) -1 ) ELSELSETMW::t:===CHR~~ < ASC ( MW:,n -1 ) 
4190 I FU 1 :$::::: ( A 1 :,~+ 11 "+A2~1:-) THENEW=(-~!:3C < EW$ > : MW=ASC ( MW::f::) 
4200 PIJT2,M 
4210 CLOSE2:FD=4 
4220 X:::::X-1. 
4230 IFWCTHENFD=2:GOSUB19:FD=4 
4240 l'f3==N:3-1 
4-250 PF<INT 11 Message ki 11 ed. 11 
4260 f~ETURN 
4270 I:::: I NSTF~ ( G1 j_ :t:, 11 -·G 11 ) : IF I ==--=0THENG8==GN: 89:~===GFi:$: [;J9:::::GFi:: G6=GA: I FGFi::*::::: 11 11 THEI\H30SUB48:::::t.Zl: 
GOT04290ELSE4300 
4280 A:t==M I D:t.-= ( Q 1 $, I +2) : GOSL!B27: I FF 1. THEN 10ELSE I FA:t-= 11 11 THENCLOSE4: GOSIJB48::-::-0 
4290 G9=Y:GB=X:G9$=A$:G6=AN 
4300 FA=INSTR(Ql$, 11 -M 11 ) 

4:3; 10 GOSUB4 780 
4320 WC=-•0: I FG9$( > 11 * 11 THENPR I NTCUt,:; : GOS1..JB4:370: GOTO 10 
4:330 WC==-1 : FD:=2: GOSUB :I. 9: FD==4: FORY= 1 TON5: GET2; Y: A~~=G:$:: GOSUB:::::: G9:,f:=(.:i:t-: G6==AN:t-== 11 Y 11 : IF 
VDTHENA$=="Scanni ng: "+STFi:$ ( Y) + 11 - 11 -1•-[-39:$:: PRINTCUt-FNAT:$: ( (WD-LEN (A$) ) /2, 0) A$ELSEPRIN 
T: Pt=.: I NT 11 < Group "Y 11 -·- "89::f:: 11 >11 
4340 PRINT:G8=CVI(GN$):G9=Y:GOSUB4370 
43:50 NEXTY 
4360 CL•SE2:GOT010 
4370 f:i$= 11 G11 +CHR$ <LV+48) +MID$ (STR:~: (G8); 2) +"/TTL": GOSIJB16 
4~3s0 r F z =20R z =~.::-THENA~t-== 11 G" +CHR$ < 1.. V+4B > +Mr D=*= < sn~$ <GB> , 2 > +" ; GF<P" : OPEN II I " , 1 , A$ 
4390 IFZ=0THENGOSUB3230:CLOSE4:RETL!RN 
4400 IFN3=0THENCLOSE1,4:RETURN 
4410 X=1:IFS1=32767THENX=N3:GOT04470ELSEIFS1<>1THENW=Sl:GOSUB4850:IFF1THENX=M:GO 
T04470ELSEX=M+1:GOT04470 
4420 IFS2$=STRING$(5,0)THEN4480 
4.4:30 L=N3: R= 1 
4440 X=INT((R+L)/2):IFR>LTHENX:::::X+l:GCJT04470ELSEGET4,X:IFTM$=S2$THEN4470 
4450 IFTM$<S2$THENR=X+1ELSEL==X-1 
44-60 GOT04440 
4470 IFX<1THENX=1ELSEIFX>N3THEN4540 
4480 GET4,X:IFCVI<MNS)>S2THEN4530 
4490 I FFATHEN I FWT~-f::( >FNP:t- ( A 1 $+ 11 "+A2:$:, 25) THEN4530 
4500 IFF'T:t-<> 11 R"THEN4520 
45 l 0 IF < PEEK < OU+ 10) AND4) OR ( t,JT:t-:::::FNF':$= ( A 1 ::t,:+ 11 11 +A2:$=, 25) ) OR ( SD$=FNP~~ ( ,~ 1 ;$:+ 11 11 +A2::t::, 25) ) 
THEN4520ELSE4530 
4520 ONZGCJSUB3080,3270,3950 
4530 X=X+1:IFX<=N3THEN4480 
4540 CLOSE1,4:RETL!RN 
4550 IFQ1$=" "THENIFGR:t-:::::" "THENPRINT"Curr·ent group: Not defined 11 : GOT010ELSEPRINT"C 
urn.mt group:";: IFGR:,t-== 11 *"THENPRINT 11 ·** Se?arch All ·1Hf·":GCJTC.l:LIZJELSEF'RINT(3Fi:"- "GR~t-;: 
IFGATHENF'FHNT" <Anon)": GOT010ELSEPRINT: GOT010 



4560 A::!:==Qi~t:: GOSUB27: IFFl THEN10ELSEIFGl::.:==YANDGR:t-< >"?"f..\NDA::!:=< >"?"ANDGR:t-< >"*"ANDA""!:=< > 11 

-M· 11 Tl-·IENPf-U NT II Gr- CJL!p ' 11 GF<:'l:- 11 ' i ~s .;;d. r-ea.dy t. he C:L!F" r f::m t <;;Jr ou.p ! 11 : GOTO l 0ELSEGN=• X: GFi:==Y: GFi:$ 
===A:$=: GA={-\N: Q 1 :1::::::" 11 : GOT04550 
457(~ K=INSTR(Q1;;J::, 11 ·-{-)")0RINSTR(Ql~::, 11 -·C") :J=INSTR(Gl1:t:, 11 -A")ORINSTR(C~i:t-, 11 • .. ·T 11 ) :M=(IN 
STR ( Gl 1 :t- 7 II-NII ) OI~ INSTR ( Q :l :t-' II -A II ) ) AND ( PEEK ( OU+ 10) AND4) < >0 
4580 GOSIJB4780:GOSUB4590:GOT010 
4590 Y=0:GOSUB19: IFN~i===0THENPRINT"There a.re no active groups! ":CLOSE4-:RETUF<N 
4600 IFS1>N5THENS1=N5ELSEIFS1<1THENS1=1 
4610 IFS2>N5THENS2=N5ELSEIFS2<1THENS2=1 
4620 POKEOU,TSORB 
4630 FORX=S1TOS2:GET4,X:IFTC$<S2$THEN4690 
4-640 IFNOTYTHENPRINT 11 Acti ve groups: 11 : Y=-1 
46~.m A:t-=G::1:-: GOSUB:3: PF< I NT X 11 - 11 f• :;r,; : IF f• N:~r.== 11 Y II THEN PR I NT 11 (Anon) 11 ELSEPR I NT 
4660 IFl<=0(.,,I\IDJ=i.2)THEN46B0EU3EPRINT 11 Created 11 ;: IF.JPFUNTFNI~t <TC:t-) 11 11 ; 

46 70 I FKTHENA1::=-.::CR:t-: GDSUB3: PR I NT II by II A$ELSEPR I NT 
4680 I FMTHENPR I NT 11 # 11 CV I ( GN:$) 
4-690 I FPEEK (OU)<> ( TSOF<8) THENPOKEOU, TS: PR I NT: PFn NT 11 ** (cibor·ted *·l!· 11 : X=N5 
4700 NEXTX:CLOSE4:IFNOTYTHENPRINT 11 No groups with those spec:ific:atiorn;!":GOT010EI... 
SEF<ETURN 
4-7U2l X=0: Y=0: Fl=-j.: GOE3UB:L 9: IFN5=0THENCL...ClSE4: PRINT 11 There are nc, active groups! 11 : R 
ETUl~NELSEGOSUB 11 : I FA:;~:::: 11 ·IE- 11 THE NF l. ==0: CU)SE4: RETURN 
4720 IFA$= 11 ? 11 THENA::l:-= 11 11 : X:::0: Y=0: F1=0: RETURN 
47:3:0 IFA$=• 1111 THENPRINT 11 Null gI•·aup namf:-~ illegal! ":RETURN 
4740 IFVAL...(A$><>0THENY=VAL(A$):IFY>=1ANDY<=N5THENGET4,Y:GOT04760ELSEPRINT''Group 
number c1ut of range! 11 : CLDSE4: RETURN 
4 T:50 A$=FNP$ (A$, 30) : FORY= 1 TON5: GET4, Y: I FG$=A$THENCMD II F==POPN II ELSENEXTY: GOT04 770 
4760 X=CVI(GN$):A$=G$:GOSUB3:CLOSE4:F1=0:RETURN 
4 770 GOSUB'.'$: FORY= 1. TON5: GET 4, Y: I FLEFT:t- ( G$, LEN (A$) ) =A$THENCMD II F=POPN 11 : GOT04 7 60ELSE 
NEXTY: PR I NT II G1rou.p ' 11 A$" ' does not eH if., t ! 11 : CLOSE4: F 1 ::::--2: RETURN 
4 780 S2:~;.:::fJTF< I NG:$: ( 5, 0) : S 1 == 1 : 62==:~;27 6 7: I::: I NSTF( ( Gl 1 :t-; 11 --E 11 ) : IF I THENS 1. ===VAL (MID$ ( Q 1. $, I+:-;:: 
> ) : S2=81 : GOT04820ELSE I= INSTR ( Gl 1 $, 11 ·-F 11 ) : IF I THENS :L =327 6 7: S2===81 : GOT04820 
4790 I=INSTR(Ql.$, " .. ··B"): IFITl-·IENS2=W\L(MID$(Gl1$, I+2)) 
4800 I= INSTR ( Gl 1 $, 11 -P 11 ) : IF I THENS :L =VAL (MID$ ( Gl 1 $, I +2) ) 
4-BH:'l I=INSTR(G!1$, 11 .. -8 11 ): IFITHENIFS1<>1THENPRINT 11 -·S a.nd -·P c:imnot both be specifie 
d ! 11 : GOTO l. 0ELSEA$=M I D~t- ( Gl 1 $, I +2) : GOSUB 13: S2$=81 :t-
48'..;:'.0 IFS1< 10RS2< 10F(S:I. >S2THENPFUNT 11 I 11 egal f"ange ! 11 : GOT01.0ELSEF(ETURN 
4830 Pf.:.: I NT II Gn:iup ( '? ' for l :i. 1r:rt) : 11 ; : ML:<%'.): GOSUB6: GOSUB~,: I FA:;r-::: 11 11 THEN 10ELSE I FL.EFT~r­
(A$, 1. > == 11 ?" THENM==0: ~:::==0: J =0: s 1. = :t : s2=::::;27 6 7: S2$=STR I NG~:: < !:'i, 0 > : sosuB4590: G• T• 4830 
4840 GOSUB27:IFF1THEN4830ELSERETURN 
4850 L=N3:R=1:F1=0 
4860 M=INT((R+L)/2):IFR>LTHENRETURNELSEGET4,M:IFCVI(MN$)=WTHENF1=-1:RETURN 
4870 IFCVI(MNS><WTHENR=M+iELSEL=M-1 
4880 !JOT04860 



-Jul:- ·:Jul:-· -:IRE-· ·ilJrr· -'JHE- ·:Jnl:00 ·:Isl'- -Ju£-· ·:IIIE-· -'JuE-· ·* -:fill:· ·:JBE-· -:!!If:- -31!E- -:l•lf:-

-JuE-· -:1111: .. -:Jur- • ir.- l.J g:::::" ][) CJ 11,n.JI 8'1 -:iuE- -:1111:- .3,4, .. • 11:-

-:JsC- -Jnf:· 00:Jul:· ·:lliE-· -:IHE00 -'Jul!-· -'Jnf.,• -JnE- -:JuE- -J!lf:- •:ll•E- -:11,r- •:JuE- -J!•E-· -'J11E- -:JuE-

1000 IF INSTR ( Q 1 ~t- ., 11 ·-- Z 11 ) P1ND ( PEE!< ( OIJ+<;i) r-iND 16) = 16 THENPR::::: 1 ELSEPR=0 
1010 I== INSTR ( Q 1 ::t,:, "--L 11 ) : IF I THENV 1. :t-===M I D:t- ( Q 1 :'if., I +2) : GOTO 1. 140 
1020 IF INSTR ( Q 1 :i,; 11 - .. ? 11 ) THEN 1120 
10:3;0 I::: I I\ISTF~ ( Gl 1 :i:, 11 -u 11 ) : IF I THENQ 1 :t:=-M I D~t- ( Gl 1 :t:, I +2) : GOTO 1510 
104(ll I== INSTR (Q 1$, 11 -D 11 ) : IF I THENQ 1 $==MID$ (Q 1 $, I +2) : GOT02030 
H~50 PFUNT 11 File tr-a.ns·fer- ••• 11 

1060 PR I NT: I FPEE!< ( OU+ 11.) ==255THENPR I NT 11 < Un 1 i mi tee!> 11 : TR=255ELSETR==PEEK ( OU+ 1. 1 ) -·FNE ( 
ST::I·;,FNH$): IFTR<=0THENPRINT:PRINT 11 *** Login time limit e}:ceeded *-iHf· 11 :A3$= 11 Time li 
fld. t e:-: c:eeided 11 : A$== 11 0 11 : GOTO 12EL.SEPR I NT 11 < 11 MID$ ( STFi:$ ( TFO , 2) 11 Min Remain i rnJ > 11 

1070 PRINT 11 Enter- <D,L,Q,U,?>: 11 ;:ML=50:GOSUB6:GOSUB4:GOSUB3 
1. 00~1 r FFL THENPR r NT~n, T :i: ME::1:: 11 -- Ft: "A$ 
1090 V$==LEFT~~: ( A:t-; 1 ) : Q 1 ::I-;::::M I D::I:: (A$, 2) : V 1 ::1,:.-::f,;J 1 ~t-: I FV$= 11 11 THEN 1060 
1100 ON INSTR ( 11 LQ?UD 11 , V$) GOTO 114,0, 10, 1. 1. 20, 1510, 2030 
1110 GOT01061i.l 
1120 PRINT"Choose one of: 11 :PRINT:PRINT"<D> -.. Download a file 11 :PRINT 11 <L> - List d 
1.::ir.1mlaa.d categCJries 11 :PRINT 11 <Ln>-- List downloads in categar-y n 11 :PRINT"<Q> -- Quit" 
11:3;0 PRINT 11 <U> - Upload a file 11 :PRINT 11 <?> ··· Display thi~~ help 11 :GOT010l10 
1140 S1$==8TRINGS<5,0):S1=1:82=9999 
11517.J IFINSTR(GH:t-, 11 ·-P 11 ><>0ANDINSTR(Q1:t-, 11 -S 11 >•=::>0THENPRINT 11 -·S and --P cannot both be 

spec: if i ed ! 11 : GOTO 1 !Zl60 
1160 I== INSTR ( Gl 1 $, 11 -P 11 ) : IF I THENS l ==VAL. (MID~=- ( Gl 1:.=1,:, I +2) ) 
11 70 I= INSTR ( Q 1 ;$:, 11 --s 11 ) : IF I THENA$==M I D::I:= ( f,;J 1 $ , I +2) : GO SUB 1 :3 
1180 I=INSTR (Q1.:t-, 11 -8 11 ): IFIT!-·!ENS'.,';:~==VAL. (MID~: (Q1$, I+2)) 
1 1 <,10 I= I N8TR ( f] u:; 11 -E 11 ) : IF I THENS 1 ==VAL (MID$ <f,;J 1 $, I +2) ) : 8:2==81 
1 :;:~00 I F81 < 1 ORS1 >S'.:?ORS 1. <>I NT ( S 1) ORS2< >INT ( S2) THENPR I NT II Illegal r-ange ! 11 : CL.DBE 1: GOT 
01060 
1210 F6=INSTFi: (Q1.:t-, 11 -·A"): F2=INSTF< (GH:=I::, 11 ·-T 11 ) ORF6: F3=INSTFi: (Q1:t:, 11 -C 11 ) ORF6: F4=INSTR (!;,1 
1 $, 11 --N 11 ) ORF 6: F5== I NfflTi: ( Q 1 ~~, 11 --M 11 ) OF<F 6 
1. 220 {.\$:::V 1 :=1::: GOSUB~$: I FL.EFT$ (A:'!::, :!. ) == 11 * 11 THEN 1. 240ELSE I FVAL ( V 1 :=!:- > THEN 1290 
1230 F9$= 11 DWNCATS 11 +CHR$(PR+48)+ 11 /TFC 11 :GOSUB8:GOT01060 
1:;;~4.0 OPEN" :i:", 1, "DWNCATf:l"+c:1-m::1:: <PR+4B> +" iTFC 11 

1250 LINEINPUT#1,A$:IFECJF(1)THEN1270 
1.260 IFVAL(A$)==0THEN1250ELSEDG=VALCA$):GOSUB1330:GOT01250 
1270 CLOSE 1: I FF'EE!< (OU+ 10) AND4 THENA:t-== 11 9 1=tr1 - Unc:a·l.:ega1r i z eel Up 1 a ads 11 : DG==9r:r9: GDSI..J81. ~=-

1280 GOT01060 
1. 290 D(3=VAL ( V 1. ::~) : OPEN II I 11 , 4, 11 DWNCATS 11 +CHR:=I:: ( PR+48 > + 11 i TFC 11 

1300 LINEINPUT#4,AS:IFVAL(A$)=DGTHENCLOSE4:GOSUB1330:GOT01060 
1310 IFEOF(4)THENIFDG==999AND(PEEK(OU+1.0)AND4)THENA$=''999 - Uncategorized Uploads 
11 : CLOSE4: GOSUB1:3:30: GOT01060ELSEPRINT"That ca.+..:egot-y dcH,,!f.,; not e)•( :i st! 11 : CLOSE4: GOTC!l. 
060 
1. 320 GOTO 1300 
1330 POKEOU,TSOR8:GOSUB15:CLOSE4:IFN2==0THENPRINT:PRINTA$'' is 
1340 PRINT:PRINT"Available downloa.ds: 11 A::I:::PRINT 
1,:3;50 PFi:INT 11 :f:!: D€~scr·iptir.m 11 ;: IFF5THENPF<INT 11 

in 11 EL.SEPRINT 
1360 PH I NT 11 ----· -·-·--------·-- 11 ; : I FF5THENPR I NT 11 

--·- 11 EU3EPR I NT 
1370 GOSUB15:M=S1:J=S2:IFJ>N2THENJ==N2 
1380 IF81.$==STRING$(5,0)THEN1410 

empty!":GOT01490 

Bytes/ Sec/ l'1 

1390 FORM==1. TON2: GET4, M: IFTM:t-<S1.$THENNEXTM: PRINT" (No dclwnl oacls si nc:€~ thf.~n) 11 : CUJSE 
4:GOT01490 
1400 CMD 11 F=POPN 11 

141.0 FORX~MTOJ:GET4,X:Y=CVI(SZ$) 
1420 I FF~::.iTHENPR I NTUS I NG 11 *''~**~ ! % % ##### ! =t,1:##:J:I: ! :J:I:~*#. :f:!: 11 



;; x; BI$; Ds::1::; Y*256; 11 ;"; Y*256/:30; "I"; v~-2~56/ 1. s00ELSEA:$;==Ds~r-: GOSUB:::::: PRINTUS ING 11 #4Ht i 11 ; 

X; BI:$; : PF< I NTA~~: 
1430 IFF2=0ANDF3=0THEN1460 
1440 PRINT" Created 11 ;: IFF2THENPRINTFNU: <TM:.:ln 11 11 ; 

1450 I FF:3THENA:$=CR~F-: GOSIJB3: PR I NT II by II A$ELSEPR I NT 
1460 IFF4THENPRINT" Downloaded 11 CVI(TD$) 11 time(s) 11 

14 70 I FPEE~< (OU) < > ( TSO RB) THENCMD II F=POF'S 11 : CLOSE 1 , 4: POKE OU, TS: GOTO 1060 
1480 NEXTX:CLOSE4 
1490 I FPEEK (OU) <; > ( TSOR8) THENCMD II F==POPt3 11 : CLOSE 1 , 4: POKEOIJ, TS: GOTO 1060 
:t 500 F<'.ETIJF<N 
1510 DF=0:IFPEEK(OU+9)AND32THEN1520ELSEPRINT''I'm sorry, but you may not upload f 
iles!":GOT01060 
1520 IF(PEEK<OU+10)AND132)<>132THEN1560 
:t5~%:'l PRINT" Di r-ect f i J. e up 1 oad? 11 ; : ML= :I.: GOSIJB6: GOSUB4: IFA:$::::: 11 Y"THEN 1f.:i4-0ELSEIFA$< > 11 

N II THEN 1. !:'j~50ELSE 1. 560 
1540 PFUNT 11 Fi 1 e name? 11 ;: ML=21: GOSUB6: GOSIJB:3:: GOSIJB4: IFA$= 11 "THEN1.060 
1550 DF==-1. : A3:t-=A$: ow~t::=--= 11 Ft: Di r·ec t up 1 oad of : "+A~3:$=: GOTO 1640 
1560 DG=c/99 
1570 PRINT"Please enteir· a sl1ort one-line description of the file:" 
1 ~.580 POKEOIJ+ 1 , TAAND223: PR I NT 11 ) ::::::: > 11 ; : ML..::::32: GOSUB6: GOSUB:3;: I FA$:::: 11 11 THEN 1060 
1590 {\4$==A$ 
:l 600 GlW:t=" Ft: Up 1 oacl of : 11 +A$ 
16:l0 GOSUB:l5:IFN2==0THENX=1ELSEGET4,N2:X=CVICDN$)+1 
16'.;:'.0 CLOSE4 
1630 A:::::~::::: 11 D 11 +CHR$ ( PF~+4-8) +RI Gf-lT:.:j;: ( 11 000 11 +MI l)::fr. ( STR~t: ( DG) , 2) , ~~;)+RI 13HT~$: ( 11 0IZIIZI 11 +MI D~:fr. ( STF<:$ 
< x > , 2 > , :~$ > +" i TFC: " : I FPRTHENf-,:3;:if::=f-,3:t-+ D~:>$ELSEA:::::$==r-r3:t-+ 02s 
1640 PRINT:PRINT"Enter- upload method <A,H,M,Q,X,?>: 11 ; :ML=l:GOSUB6:GOSUB4: IFA$= 11 

"THENl.640 
1650 IFINSTFi:("AMXH" ,A$)THENQl.rJ:t-=Gll,<J$+ 11 (using "+A$+") ":GOSUB26 
1660 DN INSTR ( 11 AMGlX ?H 11 , A~t::) GOTO :1. 7912.), 1 71. 0, 1060, 169(?),l 1680 , 1. 780 
1670 GOT01640 
1.680 PF<INT"Choose one c1f: 11 :PRINT:PRINT 11 <A> - ASCII 11 :PRINT 11 <H> - He:< file in ASCI 
I":PRINT"<M> - Modem 1.0/1.1 11 :PRINT"<Q> - Quit":PRINT"<X> - XMODEM 11 :PRINT 11 <?> -­
Display this help":GOTOl.640 
1690 PRINT:PRINT:PRINT"Awaiting XMODEM uplt.::iad ••• 11 :PRINT 
1700 POKE OU, TSAND228: CMD II XMODEM R 11 +A3:.:l:=: GOTO 1 7:::::0 
171.0 PRINT:PF<INT:PRINT"Awaiting MODEM upload ••• ":PRINT 
:l 720 POKE OU, TSAND228: CMD II MODEM F<. 0 11 +A3$ 
1. T:::t.2l I FDFTHENDF==0: GOTO 1060ELSEOPEN II R 11 , 4, A3$: Y==UJF ( 4) : CLOSE4 
1.740 GOSUB15:LSETDS$=-A4$:LSETSZ$=MKI$(Y):LSETDN$=MKIS(X):LSETTM$=FNH$:LSETCR$=A1 
$+" "+A2:t-: LSETTJJ:if::::::M~:::1::r- (0): U::lETBI::f::::: 11 11 

1750 PUT4,N2+1:CLOSE4 
1760 GOSUB18:GET4,UN:LSETNUS==MKI$(CVI(NU$)+:l):PUT4,UN:CLOSE4 
1770 TIJ==TIJ+:l:UP=UP+:l:POKEOU,TS:GOT01060 
1780 F1=-1.:GOT01800 
1.790 F1=0 
1800 IFNOTVDTHEN:l830 
1.SH?.l Pl=i:INT: PF<INT 11 P1~es~~ F<ETURN when yc1u ar·e rec:-i.dy tc:1 start transmit.ti ni;;i. 11 : ML==0: GO 
SUB6:F2==-1 
1 S20 PH I NTCHR$ ( 27) CHF~:~r. < 27 > 11 O*END·M- 11 : PR I NTCHR$ ( 27) CHR:t:: ( 27) "C 11 ; : GOTO 1860 
:l830 F'RINT 11 Use a F')r-ompt cl7ar-at.::"!:er or X)on/Xoff? 11 ; :Ml..=1:GOSIJB6:GOSUB4: IF<-1$<>"P" 
Al\fDA:1,=< > 11 X II THEN 1. 830 
1840 F2°-=0: I FA$=== 11 P II n-lENF2:::-•- 1 
1.850 PRINT:PRINT:PRINT''Ready for upload ••• t.ype '*END*' at the beginning of a lin 
e tcJ":PRINT"end the file, or '*ABORT*' to abar·t a gar-bled upload.": IFF2TI-IENPRINT 
"Pl ease use a prompt c:ha.racter of '>'. 11 

1860 POKEOU+4,255:POKEOIJ+1, (TAOR4)AND223:IFF2=0THENPOKEOU,TSAND254 
1. 870 OPEN 11 0" , 4, A3$: I FF2THENJ =0ELSEJ ==256: POKEOU, TS: PR I NTCHR~=tr. ( 1 7) ; : POKEOU, TSAND254 
1. 880 I FVDTHENF'R I NTCHF<:;f;. ( 27) Cl-IF~:$ ( 27) 11 Y > 11 

:t890 IFF2THENPRINT">"; 



1900 IFF1ANDNOTF2THENJ=256 
1910 NAME0A$:IFF2THEN1930ELSEIFNOTF1THENJ=J+LEN(A$)+1 
1920 IFJ>255THENPOKEOU,TS:PRINTCHR$(19);:POKEOU,TSAND254:FORY=1T040:NEXTY 
1 9::;;;0 I FA:~==CHF~~t- ( 25~5) THEN 1 980EU3E IF fU=== 11 -M·END*" ORA:$= 11 -M·En cl* 11 ORA:t-:::: 11 *end* 11 THEN 1 970EL..SE I 
FA:$=:::: 11 ·ll·ABORT ·li!- II rn::;:r.:i~t-::: 11 ·IE-Abort* II ORA$::: II *abort* II THEN 1980 
1940 IFF1THEN1990ELSEPRINT#4,A$ 
1950 IFJ>255THENPOKEOU,TS:PRINTCHR$(17);:POKEOU,TSAND254:J==J-256 
1 960 (30TO 18C?0 
1970 CLOSE4:POKEOU,TS:IFF2THEN1730ELSEPOKEOU,TS:PRINTCHR$(17);:POKEOU,TSAND254:G 
OT01 T50 
1 98f:l CLOSE4: I< I LLA::::;~f-: POKEOU, TS: PF~ I NT"-··-- Upload ABOFffED ····- 11 : I FF2THEN 10ELfJEPF<: I NTCl-m 
$(17>;:GOT01060 
1990 I FA:$:::: 11 11 THEN 1950ELSEFORY:::: 1 TOLEN (A:$:) STEP2: A5$==M I l):t- ( f°.'.)$, Y, 1) : Z==ASC ( A5:t-+CHFi::$: ( 0) ) 
-48:IFZ>9THENZ=Z-7 
2000 A5$==MID$(AS,Y+l,1):F3==ASC(A5$+CHR$(0))-48:IFF3>9THENF3=F3-7 
2010 Z=Z*16+F3:PRINT#4,CHRS<Z>;:NEXTY 
2020 GOT01950 
2030 IF(PEEK(OU+9)AND15)=0THENPRINT''I'm sorry, but you may not receive downloads 
• 11 :GDT01060 
2040 IFDL==<PEEK(OU+9)AND15)THENPRINT''You have reached your quota of downloads fo 
r this cal L 11 : GOTO:L060 
2050 IF(PEEK(OU+10)AND132><>132THEN2090 
2060 PRINT 11 Din:• ct f i 1 e clCJwnl CJad? 11 ;: ML===l: GOSIJB6: GOSIJB~5: GOSIJB4: IFA:$ 0-="Y"THEN2070.EL 
SE I FA$<>" N II THEN206!ZlELSE2090 
2070 PfUNT"Fi le name? 11 ;: ML===21: GOSIJB6: GOSUB'.:::;: GOSUB4: IFA$==" "THEN1060 
2080 A:3:,~:=A:t-: GlW:t-="Ft: Di r-ect dawnl oad of: "+A3::~:: GOSIJB26: DF=::-0 --1: GOT02220 
2090 DG=VAL(Q1$): IFDG===0Tf·IENPRINT"Category to download fr·om? 11 ; :ML==3:GOSUB6:GOSIJB 
~!,: I FA:$:c-:: 11 11 THEN2090ELSEDG=--=VAI... (A:$) 

21.00 OPEN" I", '-1·, 11 DWNCATS 11 +CHR$ (PR+4-8) +" /TFC" 
211.0 1...INEINPIJT#4,A$:IFVAL(A$)=DGTHENCI...OSE4:GOT02130 
2120 IFEOF(4)THENIFDG=999AND(PEEK(OIJ+10)AND4>THENA$=''999 - Uncategorized Uploads 
":CI...OSE4:GOTD2130ELSEPRINT 11 That t.:a:l:ei;_~ary does not ei<ist!":CLOSE4:GOTCH060EU3E2:l1 
0 
2130 GOSUB1~:i: CLOSE4: IFN2=--=0THENPF<INT"Empty c:ate<;;Jory ! ": GOTOl.060 
214-0 PRINT"Downloading f,~om: "~':*: 
21.50 PF<INT"Which file would you like? 11 ; :ML=='.3;:GOSUB6 
2160 IFVALCA$)<10RVAL(A$))N20RVAL(A$)()INT<VAL(A$))THENPRINT''Illegal download nu 
mbe-~r· ! 11 : GOTO 1. 060 
2170 X=VAL.. (A:~;:) 
2180 f:30SUB 1 ~:i: GET 4, X: A:.=t:===DEl~~;:: GOSIJB:3: PR I NT II Down 1 oad i ng: 11 A:.=t:=: CLOSE4: A3:$== 11 D 11 +CHFt:$ < PR+ 
48) +RIGHT$ ( 11 000 11 +MI 0::1:: ( STR::1:- ( DG) , 2) , :~;) +F,: I GHT::f;: ( 11 000 11 +MI D::t- ( STR:t- ( CV I ( DNS) ) , 2) , 3) + 11 / TF 
(":" 

2190 Y=CVI<SZ$):PRINT:PRINTUSING"Thi.s file will take *t-##.:1--t: minutes to download." 
;Y•256/1.800:IFY*256/1800+1>TRTHENPRINT:PRINT''I'm sorry, but you do not have time 

t.CJ clownl oa.cl this f i 1 e. ": GOTC.H060 
2200 QW:t="Ft: Downl<::i~:1.d of: "+A:$+" fr·om =f:l:"+STR:f;(I)G)+" (using 11 

2210 IFBI~t-=="B 11 THENPF~INT"Note; This file is in binary for-mat. 11 

2220 PR INT: PRINT 11 Ente?r drJwn 1 cad m<ethod <A, H, M, Q, X,? >: "; : ML== 1: GOSUB6: GOSIJB4: I FA$ 
:::: 11 11 THEN2220 
2230 IF INSTR ( "AMXH", A$) THENG!W:=t:::::QWS+A::l:=-1- 11 ) 11 : GOSUB26 
2240 ONINSTR< 11 AMQX?H 11 ,A$)GOT02280,2420,10,2390,2260,2450 
2250 GDTO2220 
==-~'.,;';~60 PRINT"Choose one of: 11 : PF<INT: F'Ft:INT"<A> -·· f:ISCI I": PRINT 11 <l-·I> He:•( conversion i 
n i~SCII 11 :P!=.:INT"<M> - Modem 1.0/1. l":PRINT 11 <Q> -·- G!uit":Pl::..:INT 11 <X> -- XMODEM 11 :PRINT 11 

<?> -· Displa.y this help" 
2270 GOT02220 
2280 IFBI$== 11 B 11 THENPf.:.:INT"I 'm sc:ir1~y, but you mu.st L.!Sf?.! c:\ binc:\ry pr-ot.ocol fo1~ this f 
ile.":GOT02220 
2290 PRINT"Do you wish me to contr·oJ. your buffer f 01·· you? 11 ;: ML=l: GOSIJB6: GOSUB4: 
I FA$=" Y "THENF2=-·-1 ELSEF2=0 



2300 IFVDANDF2THEN2330 
Z.H0 PF~INT: PFUNT"Prepare to r·ecei ve ASCII transfer 11 : PFUNT 
2320 FORY=1T01000:NEXTY 
2330 VY=PEEK(OU+2):POKEOU+2,255:POKEOU,TSOR8:POKEOU+1,TAAND223 
2340 OPEN II I 11 , 4; f'.~:?,.;:$:: I FF2THEN I FVDTHENPR I NTCHR$ ( 27) CHR$ ( 27) 11 Z II CHR$ ( 27) CHR~t- ( 27) 11 0 11 ; E 
LSEPRINTCHR$(18); 
2350 LINEINPUT#4,A$:PRINTA$:IFEOF(4)0RPEEK(OU><><TSORB>THENCLOSE4ELSE2350 
2360 POKEOU, TS: POKEOU•i-2, VY: I FF2THEN I FVDTHENPR I NTCHR:t- ( 27) CHH::I:= ( '.,?.7) 11 C 11 ; ELSEPR I NTCHR 
$(20);ELSEFORY=1T01000:NEXTY 
2:37121 POl<EOIJ+l., TA:PRINT 11 -- Download complete -- 11 

2380 IFDFTHENDF=0:GOT01060ELSEGOSUB15:GET4,X:LSETTD$=MKI$(CVI<TD$)+1):PUT4,X:CLO 
SE4:DL=DL+1:GOSUB18:GET4,UN:LSETND$=MKI$(CVI<ND$)+1):PUT4,UN:CLOSE4:GOT011Z!61Z! 
2'.:::80 PRINT: PRINT 11 F~eady to transmj. t tA!i th XMODEM ••• 11 : PRINT 
2400 POKEOU, TSAND228: CMD 11 XMODEM S "·H~3~~: 
2410 GOT02440 
24·20 PRINT:PRINT 11 Ready to t.r·,:;msmit ••• ":PRINT 
2430 POKEOU, TSAND2'..?.8: CMD II MODEM S. 0 11 +A'.'.:;:$ 
2440 POKEOU,TS:GOT02380 
24~50 PRINT"Do you wish me to contr·ol yclL!r bufff?r for you? 11 ; :ML==1:GOSUB6:l30SUB4: 
I FA$= 11 Y II THENF2==-1 ELSEF2==0 
21.1-6(1 PRINT:PRINT 11 Prepare to l'"eceive ASCII tr·,:;msfer":PRINT 
2470 FORY=1T01000:NEXTY:VY=PEEK(OU+2>:POKEOU+2,255:POKEOU,TSOR8:POKEOIJ+1~TAAND22 

2400 • PEN II R" , 4, A'.34:, 1 : F 1 ELD4, 1 ASA~~:: I FF2THENPr:.: I NTCHR.=!:= < 1. a> ; 
2490 Z==0 
2500 GET4:Y=INT(ASC(A$)/16):IFY>9THENY=Y+7 
2510 PRINTCHR$(Y+48);:Y==ASC(A$)AND15:IFY>9THENY=Y+7 
2520 PRINTCHRS(Y+48>;:Z=Z+1:IFZ<>30THENIFEOF(4)THENCLOSE4:PRINTELSE2500ELSEPRINT 
:IFEOF(4)0RPEEKCOU><><TSOR8)THENCLOSE4ELSE2490 
25:;;:0 GOT02360 
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;: : Ml....:=== :l ~ UDf.1UB6: C:)U'.3U:F: -!.!- :: C:iU~:1UB~:!:: I i:::·r)~!=:-::: > '' Y '' (~ND(-':·,:f< > '' 
r,! 1

' THE~N :1. 17D 
:!. l Ui,?.:i ()14$::==(1~!': 
119iZJ A6$=82$:A7$=CR$:AH$=TM$ 
1200 IFZ<>M2THENFORY=ZTUN2-:l:GET4,Y+1:PUT4,Y:NEXTY 
1?trn Y=LCiC(4l%-L2:PUT4, '#Y:CL.DSE4 
:!. 22i/J F'F I l',!T '' F'l ,:::1.C:(c: :i. n v-;h :i. ch C:<',·•.-1::(c:•JDl'--y'~:• 11 

:, : ML.::::~'::: DD~3UE:h :: Dh:::::\J(-:i!.... (A$) : C3U::3Uf31':.:i 
1:::::~:u F'FiINT''l,1.)c:ir-·k:i.nq,"" II 

1240 IFN2=0THEl\!X=1El....6EGET4,!\!2:X=CVI(DN$)+1 
1 :?~'-'ii?l CMD II h:ENr:iME ') 11 +rY:~:+ -+· 11 

•; 
11 + 11 D 11 +Ci···!h:~!': ( F•i:;:+4B) +Fi: 1 C:J1-rr:1,: ( "~:JWi2l 11 •·H·I ID$< STF\'.:l ( Dc:j J ·i 2 J , :::::) +F: 1 c:n--1T 

$ ( 11 fj1(Z)l}i" +MI D:f ( STF(l ( X) , ::2) , ::!:) + 11 
/ TFT~ 11 

1.260 LSETDS$=A5$:I....SETSZ$=A6$:LUETCR$=A7$:LUETTM$=A8$:I....UETTD$=MKl$(0):LSETDNl=MKI 
+ ( :x:) : l....bETB I :f:::: II II: I Fl'-"14$::: II VII THEl'-11....HET:U I ::j::::::: II B II 

1270 PUT4,N2+1:CLOHE4 



141.0 GOSUB15 
1420 PRINT 11 Delete wh:i.c:h clownlciad? ii; :ML..•-=:3::GOSUB6: IFVAL..(A:,tn<10RVAL(A:f.) >N20RVAL(A:f: 
) <>I NT ( VAL ( A:t-) ) THENPF< I NT II I1 l e.~<J&.l d<JWn 1 oad number- ! ii: CLOSE4: GOTO 1080 
1430 X=VAL(A$):GET4,X 
14-40 A:t-=DS$: GOSUB3: A4:$:=A$: PRINT 11 Del.etin9 "A$" -- Su.re'"?? 11 ;: ML=1: GOSUB6: GOSUB4: I 
FA:t-= 11 Y II THEN 1450ELSE I FA$= 11 N II THENCLOSE4: GOTO 1080ELSE 1440 
1450 Y=CVI (DN:$:): KILL "D"+CHR:t- (48+PR) +F<IGHT$ ( "000"+MID$ (STR$ (DG), 2), :-_::;) +RIGHT$ ( "000 
11 +MID:t(STF<j~(Y) ,2) ,:3)+"/TFC" 
1460 GlW$=-• 11 Pv: D l : Del et. i n g d ciwn l oad: ii +P,4:t: GOSUB26 
1470 IFX<>N2THENFORY=XTON2-1:GET4,Y+1:PUT4,Y:NEXTY 
1480 Y=LOC(4)%-L2:PUT4, !#Y:CLOSE4 
1.4~?0 PRINT"Download deleted. 11 :GOT0112l8(?.l 
1500 F'l:UNT"Category? ";: ML.=~5: GOGUB6: GCISUB3: IFA$= 11 "THEN1400ELSEDG=VAL (A:~::> 
1510 GOSUB15: PRINT"ConcH ticm which download? 11 ;: ML.:::::;::: GOSUB6: IFVAL (Aj~) < lORVAL (A$) 
>N2THENPR I NT II I 11 eqal clown 1 oa.d number- ! 11 : CLOSE4: GOTO 1080 
1520 X=VAL(A$):GET4,X 
15:;:;0 A::!:==DS:$=: GOSUB:-.:::: A4$=A$: F'RINTilCond:i. ti on:i. ng ilA$ 11 -- Sure?? 11 ; : ML::::::L: GOSUB6: GOSUB 
4: I FA$= 11 Y II THEN 1540ELSE I FA~t-= ii N II THENCLOSE4: GOTO 1080EL.SE 1530 
1 ~540 Y=CV I ( DN$) : CL.OSE4: A3$= "D 11 +CHR$ ( 4-8+F'R) +RIGHT$ ( ii 000 11 +MI D:f: ( STR$ ( DG) , 2) , :;;; ) +RI GH 
T::f- ( "000"+MID$ (STR:*: (Y) , 2), :3) + 11 /TFC 11 

1. 550 GlW:1,::::: 11 Pv: Dl : Cone! it i cm :i. ng down 1 oad: 11 +A4::!:=: GOSUB26: OPEN" I 11 , 2, A:3:*:: OPEN 11 0 11 , 1 , A 

1560 IFEOF(2)THENLSETSZ$=MKI$CY/256+1):PUT4,X:CLOSE1,2,4:GOT01081Z!ELSELINEINPUT#2 
, A$: IFA$< >" 11 THENFOF.:Z=l TOLEN (A:n : MID$ ( A::f::, Z, 1) ==CHR::f:: (ASC (MID$ CA::!,, Z, 1)) AND:l27): NEXTZ 
1570 PRINT#l,A$CI-IR$(13)CHR$(10);:GOT01560 
1580 Pl::::INT: PRINT"<Lev: Member·s>" :: PRINT"Enter <A, C, D, M, 0, Q, V, ?>: 11 ;: ML.==l: G0SUB6: !3 
0SUB4-: IF A::j;::::: 11 11 THEN 1. 580 
1590 I FFL THENPR I NT:J.r3;, TI ME:*: 11 -- F'v: Mb: 11 A$ 
1.600 ONINE:rfF~ ( "?DQAOVCM", A:t-) GOT01620 ,1 1 B80, 1010, 2120, 21. 60, 2200, 1960, 1.650 
1610 GOTO:l580 
1620 PRINT"Chc:iose c,ne! of: 11 :PRINT:PRINT"<A> - Modify ALL. membe-~rs":PFnNT"<C> -- Com 
plete info on a. membe:~r 11 :PRINT 11 <D> - Delete a. member" 
1630 PRINT"<M> - Completely mr.1dify ONE member 11 :PRINT 11 <0> -- Modify ONE member":P~: 
INT"<Q> - Quit 11 : PRINT"<V> - Val :i. dab? new members" 
j.f.J4.0 PRINT"<?> -· Display t:hi s help 11 : GOTOl.580 
1650 PR I NT II FIRST name? 11 ; : ML.== 12: GOSLJB6: GO SUK::: GOSUB5: F 1 :t-==A:t: I FA$== 11 11 THEN :l 580 
1660 PRINT" L{• ST namf::!? 11 ;: ML.==12: GOSUB6: GOSUB:::::: GOSUB5: L1$=A:t-: IFA::I,::::::" "THENl.580 
1.670 GOSUB18: GOSUB7: IFNOTFl THENPFnNT"Na.me not found! 11 : CLOSE4: GOT01580 
1680 GET4,M:A:-t-=F$:GOSUB3:PRINT 11 Name: "A:t- 11 11 ; :QW:t-=="Pv: Mb: Mod:i.·fying: 11 +A$+ 11 11 :A$ 
=L.$:GOSUB3:PRINTA$:QW$=QW$+A$:GOSUB26 
1690 IF<PEEK(OU+10)AND132)=4AND<ASC(F'RS)AND132)=132THENPRINT''(Su.pplemental :i.nfor 
ma.ti r.m inac:cesisibl.e) 11 : GOT01.870 
1700 A::!:==PW$: GOSUK$: PRINT 11 Password: "A$" ? 11 ;: ML==8: GOSUB6: [-:l0SUB3: GOSUB4: IFA:t-< >" "T 
HENL.SETPW::l::=A$ 
1 710 PR I NT II Ac: c: #: 11 C'v' I (AC$) 11 ? 11 ; : ML==6: GDSUB6: GOSUB:-.::;: IF A:t-{ > 11 11 THENLSETAC$==MK I$ ( \N~L ( 
Aj~:) ) 
i 720 F'I:~ INT II Last 1 <Jg:i. n: 11 FN I :.=1:: ( LL:t:) : PF< I NT II Sr-:!c:ond--to-l t:\!:.~t.: 11 ; : I FASC ( L 9:$:) THENF'R I NTFN 
I$< L 9:t-) EU3EPF{ I NT II None 11 

:l."J":3;(2'J PRINT"Nu.mber of c:al ls: "CVI (NV!n 11 ? 11 ;: ML==5: GOSUB6: GOSUB3: IFA:t-< >" 11 THENLSETNZ$ 
==MK I::!• ( 'v'AL (A$) ) 
17'-1-0 PFUI\IT"Number of clownl oa.ds: "C'v'I (ND$) 11 ? 11 ;: ML=5: GOSUB6: GOSUB3: IFA:f:< >11 "THENLSE 
TND$=MKI$CVALCA$)) 
1n50 PRINT"Nu.mber· of u.plcE,\ds: "CVI <NU$) 11 '"? 11 ; :ML=5:!:)0SIJB6:GOSUEf5: IFA:t-<> 1111 THENLSETN 
U$=MKI$(VAL(A$)) 
1760 PRINT"Number CJf messages sent: 11 CVI (NP$) 11 ? 11 ; :ML.=--=5:GOSIJB6:GOSUB3: IF{~:t=<>""THE 
NLSETNF'$=MKI$CVAL(A$)) 
1770 PRINT 11 Pe1rsona.J. mai J.: 11 ASC <f:J,J:f:) 11 ? 11 ;: ML=5: GOSIJB6: GOSIJB~$: IF{~$< >1111 THENLSETEW::!:==C 
HR$(VALCA$)) 
1.780 PFUNT"Pu.bl ir.~ ma.i J.: 11 ~1SC CMW:'ln 11 ? 11 ;: ML===5: GOSUB6: GOBUEC$: IFA$< >" "THENL.SETMW::!:==CHH 
$(VAL.(A$)) 



1 790 Pf-~ I NT II Ti me 1 i mi t: 11 ASC (TL.$) 11 ? 11 ; : ML=<::-: GOSUB6: !:lOSIJB3: IF A:~:< > 11 11 THENL.SETTUl:::::::[J--IR$ 
(VAL(A:'I>)) 
1800 PR I NT II Vi d ecJ width: 11 ASC ( VW:t-) 11 ? 11 ; : ML=::::;: GOSIJB6: GOSIJB3: I FA$< > 1111 THENL..SETVW:t-,-=CHR 
:i: ( VAL. ( A:t-) ) 
1810 PR I NT II Nul 1 s: 11 ASC ( NN$) 11 ? 11 ; : Ml..==3: GOSUB6: GOSLJB::::;: I FA:$:<> 11 11 THENLSETNN$:::::CHR$ ( vr.:i! ... ( 
A:=!:=) ) 
l820 PFU:NT 11 L.F after CR: 11 ;: IFASC (CN$) AND2THENPRINT"Yes"E!..SEPRINT"No" 
Hr$0 PRINT"Desti---uc:ti ve c:u.l'"sor: 11 ;: IFASC (CN:,J;:) Al,ID8THENP!::;:INT 11 Yes 11 ELSEPRINT 11 Na 11 

1840 PRINT 11 CF<: at encl of line: 11 ;: IFASC(CN$)AI\ID16THENPRINT 11 Yes 11 EL..SEPRINT 11 No 11 

1850 GOSIJK$120 
186el PF.:INT 11 Save? 11 ;: ML==l: GOSUB6: GOSUB4: IFA$= 11 Y 11 THENPIJT4, MEL.SE I FA$< >"N"THEN1860 
1870 CLOSE4:GOTO:l.580 
1880 PRINT"FIRST name? 11 ;: ML..=l2: GOSUB6: GOSUB3: GOSUB5: F1$=A:$:: IFA:~:= 1111 THEN1580 
1890 PFUNT" LAST na.me? 11 ; :Ml..=12:GOSUB6:GOSUK:-:GOSIJB5:LU:::::r~::l::: IFA:$:= 1111 THEN1580 
19i:ZJ0 G!W$=-.:: 11 Pv: Mb: Deleting "+Fl:$:+" "+Ll:$:: GOSIJB26 
1910 GOSUB1f.l: GOSUB?: IFNOTF 1 THENPf.:.:INT 11 Name not found! 11 : CLOSE4: GOTO:l58(ll 
1920 IF(PEEK(OIJ+10)AND132)=4AND(ASC(PR$)AND132)=132THENPRINT 11 Privilege not grant 
ed! 11 :CLOSE4:GOT01580 
1930 IFM<>N4THENFORX=MTON4-1:GET4,X+1:PUT4,X:NEXTX 
1940 Y=LOC(4)%-L4:PUT4,!#Y:CI..OSE4 
1S-'50 PFUNT 11 Memb€~r deleted! 11 : GOT01580 
1 960 PR I NT II FIRST name? 11 ; : ML= 12: GOSIJB6: GOSUB~!;: GOSUB5: F 1 :$==•=A$: IF A$=== 11 11 THEN 1580 
1970 PR I NT II U.\ST na.mf.~? 11 ; : ML=--= 12: GOSUB6: GOSUB3: GOSIJB5: L 1 $=A$: I FA:!!::= 11 11 THEN 1580 
1980 GOSUB 18: GOSIJB7: I FNOTF 1 THENPI::;: I NT II Name not f cJund ! 11 : CLOSE4: GOTO 1. 580 
1.990 GET4,M:A$=F$:GOSUB~$:PRINT"Name: 11 f.\::l:- 11 11 ; :GlW$= 11 Pv: Mb: E>~amining "+At+" ":A$= 
L$:GOSUB3:PRINTA$:QW$=QW$+A$:GOSIJB26 
2000 IF(PEEK(OIJ+10>AND132)=4AND(ASC(PR$)AND132)=1.32THENPRINT 11 (Supplemental infer 
mat i c)n i nac:c:e!ssi b 1 e) 11 : GOT0211 l.21 

2010 PRINT"Passwor-d: 11 PW$ 11 Ac:e =I=!=: 11 CVI (AC$) 
2020 PRINT 11 La.st 1 ogi 11: 11 FNI$ (LUn: F'RINT 11 Sec:ond---to--·l a.st: 11 ;: IFASC (L9$) THENPRINTFN 
I:r.: (L.9:1;:) ELSEPRINT 11 None:~ 11 

2030 PRINT"Nu.mber of calls: 11 CVI (NZ$) :PFUNT"Number of downloads: "CVI (ND:$:) :F'F.:INT"N 
umber- of uploads: "CVI (NU:$) :PRINT 11 Number- of messa.ge1:-s sent: "CVI (NP$) 
2040 PR I NT II Per·scmal mai 1: 11 ASC ( EW$) 11 Public:: 11 ASC (MW$) 
2050 PF<INT Time limit: 11 f-~SC(TL:$) 
2060 PF;:INT Video width: 11 ASC(VW:t-) 11 Nulls: 11 AfJC(NN:t:) 
2070 PRINT LF after- CR: 11 ;: IFASC (CN~n AND2THENPRINT 11 Yes 11 EI...SEPRINT 11 No 11 

2080 PRINT Df:?~,;truc::ti vi:.::1 c:1..1rso1···: 11 ;: IF{.:iSC (CN:,n AND8THENPF<INT 11 Yes 11 EL..SEPRINT 11 No 11 

2090 pf;:INT CR at end <Jf 1 ine: 11 ;: IFASC (CN$) AND16THENPRINT 11 Yes 11 ELSEPRINT 11 Na 11 

2100 PR I NT Pr iv: 11 ; : NAME4R I GHT~1:- (PR~!:-, j_) +MID$: (PR$, 2, 1 ) +LEFT~t: (PR::!::, j_) 

2110 CLOSE4:GOT01580 
21.20 GtJSUB1f3 
21.30 IFN4=0THENCUJSE4: PRINT 11 No member·s ! 11 : GOT01.580 
2140 FORX=1TON4:GET4,X:GOSUB2320:NEXTX 
2150 PRINT"--- End Df members ---·-- 11 : CLOSE4: GOT01580 
2160 PRINT 11 FIRST natn!;!? 11 ;: Ml..=12: EKJSUB6: GOSIJB5: F1$=A:t-: IFA:,1:'== 11 "THEN1.l:i80 
2170 PH INT" LAST name? 11 ;: Ml..=12: GOSUB6: GOSUB5: L1$=A:f:: IFA$= 11 "THEN1580 
2180 GOSUB18: GOSUB7: IFNOTF1 THENPRINT"N.:lme not found! 11 : CLDSE4: GOT01580 
2190 X=M:GOSUB2320:CLOSE4:GOT01580 
2200 GOSUB18:IFN4=0THEN21.30 
::::2Ull X==j, 
2220 GET4,X:IFASCCPR$)AND1.THEN231.0 
22::::;0 (..\:~r.=F$: GOSUB3: PR I NT II Na.me: 11 A::t:: 11 11 ; : GlW==I=-== 11 Pv: Mb: Vcl: 11 +A::t,:+ 11 11 : A:$:::::,t..$: GOSUB3: PR I 
NTA:t-: QW:$=QW$=+A$+ 11 ( II 

2240 f°4$==PW$: GOSUB::::;: Pf~ I NT II Password: 11 A$: PR I NT II Ace #: 11 CV I (AC$) 
2250 PRINT 11 Val idate? 11 ;: ML==:l: GOSIJB6: GOSIJB4: QW$==QW$+A::l:-+ 11 ) 11 : GOSUB26: IF~":\$== 11 Q 11 THENCI.. 
DSE4:GOT01580 
2260 IFA:!1::::::: 11 Y 11 THENL.SETTL:!l::=:CHF~::~: (V2) : LSETPR$==V2$: PUT4, X: GOTD2'.3;10 
2270 IF A$< > 11 D II THEN2::::;00 
2280 IFX<>N4THENFORY=XTON4-1:GET4,Y+1:PIJT4,Y:NEXTY 



2290 Y=LOC(4)%-L4:PUT4, !#Y:X=X-1:N4=N4-1:GOT02310 
Z::H2l0 IFA:t-< > 11 N 11 THEN2250 
2310 X=X+1:IFX<=N4THEN2220ELSECLOSE4:GOT01580 
2320 A:t-==F:;j::: G0SUK5: PR I NT II Name: 11 A:*: 11 11 ; : QW$== 11 Pv: Mb: Modifying 11 +A:*:+ 11 11 : A$=Uf,:: GOSU 
B3:PRINTA$:QW$=QW$+A$:GOSUB26 
2330 IF<PEEK(OU+10)AND132)=4AND(ASC(PR$)AND132)=132THENPRINT''(Supplemental infer 
mation inaccessible) 11 : RETIJF~N 
Z:340 PF~ I NT II Passworcl: 11 Pl-lJ:t-"? 11 ; : ML=8: GOSUB6: GOSUB3: GDSUB4: I F{~:t-< > 11 11 n·IENLSETPl~J:t-:::,(..\$ 
23!50 PRINT 11 Acc #: 11 CVI (AC$) 11 ? ";: ML==5: GOSLIB6: GOSUB3: IFA$< >" 11 THENLSETAC::!:-=MKI$ (VAi... ( 
A:$:> ) 
2360 PR I NT II Ti mf:? 1 i mi t: 11 ,~SC (TL:$=) 11 ? 11 ; : ML=3: GOSUB6: GOSIJB3: I FA:t-< >" 11 THENU:>ETTUt-==CHR:t­
( W~L ( f~:t-) ) 
2::::-70 GOSUB3120 
23B0 PF< I NT II Save? 11 ; : ML= :I.: GOSIJB6: GOSIJB4: I FA:~::= 11 Y 11 THENPUT4, X: RETIJPN 
2390 IFA$= 11 G! 11 THENCLOSE4: CMD 11 F=POPS 11 : GOT01580 
2400 IFA:*:< >11 N 11 THEN2380ELSERETURN 
241.0 PFdNT:PRINT 11 <Lev: Groups>u:PfUNT 11 Entf?r <A,C,D,M,N,Q,Fi:,T,V,?>: 11 ; :ML=1:GOSUB 
6:GOSUB4:IFA$= 1111 THEN2410 
24:20 GR$= 11 11 : I FFL THENPR I Nnf,~3, TI ME$ 11 ·- Pv: Gr: 11 A:$= 
24:30 ON INSTR ( 11 DNQ?CTl::.:AVM 11 , A~I:-) GOT028•:?0, 25 :L 0, 1010, 2450 , 2560, 2610, 3040 , 2660, 2710, T::: 
20 
2440 GOT02410 
2450 PRINT 11 Chr.:iose one cJf: 11 : PRINT: F"RINT 11 <A> - Change anonymous status": F'RINT 11 <C> 
-· Ch;.mge gr-oup cn:?ator- 11 :PRINT"<D> - DE?lete groL1p 11 :PRINT 11 <M> -- Ma.ss message delet 
ion 11 :PRINT 11 <N> - ChanfJe t;;Jroup name" 
2460 PRINT 11 <Q> -.. G!uit 11 :PRINT 11 <R> .... i=;:f:?rn .. tmber msg :f:1:s 11 :PRINT"<T> - Change time crea 
ted 11 :PRINT 11 <V> ·-- Validat<e structur·e 11 :PRINT 11 <?> - Display thi~; help 11 :GOT02410 
2470 PFnNT"Subl eveJ.? 11 ;: ML=::1.: GOSLJB6: !:30f::1UB:;:: IFA:*:::::" 11 THEN2410EL.SEIFL.V~1,: (VAi... (Ajn) =: 1111 T 
HENF'F<INT 11 That sublevel is none:dstant ! ":GOT024-10ELSELV==VAL(A:t-) 
2480 PFU NT II Gr oLtp? 11 ; : ML.,::::,:~:0: GOSUB6: GO SUB 1. 1 : I FA:t-== 11 11 THEN2410 
2490 GOSUB27: IFFl. THEN2410ELSE IF?,:$::::::"•* "THENPRINT 11 Ncrl::. ,app 1 i ca.bl e to ALL. groups! 11 : GO 
T0:~41.0EL.SEIF?-~$= 11 ? 11 THENPRINT 11 I 11 et;;Ji.'-l.l group name! 11 : GOTD2410 
2500 RETURN 
2510 GOSUB2470:A3$=A$ 
2520 PRINT 11 Ch.:1.nge name c:if c;;p--oup 11 A:;::$= 11 ? 11 ;: ML.=1: GOSLJB6: GOSUB4: IFA:*== 11 Y 11 THEN2530ELS 
EI FA:$=<> 11 N II THEN2!520ELSE2410 
25:::::0 PRINT"Change na.me to what? 11 ;: ML==~30: GOSIJB6: GOSUB~~:: GOSIJB~5: IFA:t-:::: 1111 THEN2410 
2540 FD=4:GOSUB19:GET4,Y:QW~t-="Pv: Gr: Changing group "+A::::::t-+ 11 tr.:i 11 +A:t.::GOSUB26:U3E 
TG$=A$:PUT4,Y:CLOSE4 
2:550 GOT0'.2410 
2560 GOSUB2470:A3$=A$ 
2570 PRINT 11 Chi.'-l.nge cre.;~tor of group 11 A~3$ 11 ? 11 ;: ML=--=1.: GOSUB6: GOSIJB4: IFA:t-== 11 Y 11 THEN2580 
ELSE I FA:t-< > 11 N" THEN2~570ELSE2410 
2580 PRINT 11 New er-ea.tor's name? 11 ;: ML=25: GOSUB6: GOSIJB:::::: GOSUB5: IFA::f,=== 1111 THEN2410 
25c>10 FD===4: GOSIJB 19: QW:,~;= "Pv: C·k: Change c:re-~ator- of gr·oup 11 +A:3~-1:=+ 11 to 11 +A~t-: GOSUB26: G 
ET4,Y:LSETCR$=A$:PUT4,Y:CLOSE4 
2600 GOT02410 
2610 GOSUB2470:A3$=A$ 
2620 PRINT 11 Change crea.tion time of group 11 A3$ 11 ? ";:ML==1:GOSUB6:GOSIJB4-:IFA$=="Y"TH 
EN2630ELSE I FA=t-< > 11 N II THEN2620ELSE2410 
26:::.~0 PR I NT II New ti me? " ; : ML.=21. : GOSUB6: (30SUB:;:: GOSIJB5: IF A$= 11 11 THEN2410ELSEGOSUB 1. ::;;; 
2640 FD:=4:GOSIJB19:QW::!:-="Pv: Gr: Change time of group "+A~3::l:=+ 11 tcJ "+FNI$(S1:t-) :GOSUB 
26:GET4,Y:LSETTC$=S:l.$:PUT4,Y:CLOSE4 
26!50 GDTD24-11Zl 
2660 GOSUB2470:A3$=A$ 
2670 PF<INT"Cha.nge anonymous status o·f gr·cJLtp "A3$ 11 ? 11 ;: Ml...=l: GOSUB6: GOSIJB4: IFA$::::"Y 
11 THEN2680ELSE I FA:t.:< > 11 N II THEN26 70ELSE2410 
2680 PRINT 11 Make grc.1t.tp anonymous? 11 ;: ML:.::1: GOSIJB6: (30SUB4: GOSUB3: IFA:t-=" "THEN2410ELS 
EIFA:~::< >11 Y 11 f-~NDAjl:-< >"N"THEN26fJl2.) 
2690 FD=4: GOSUBl 9: G!W::f::= "Pv: Gr: Cha.nge anonymous st.;,ttus cif "+A3$+" to 11 +A:t-: GOSIJB2 



6:GET4,Y:LSETAN$=A$:PUT4,Y:CLOSE4 
2700 BOT02410 
2710 GOSUB2470:A3$=A$ 
2720 PRINT"Val idate structure of group 11 A3::!:~ 11 ? 11 ;: ML=:::1: GOSUB6: GOSUB4: IFA:'l:-= 11 Y 11 THEN 
2T:::flJELSE I FA:t-< > 11 N II THEN2720EU3E2410 
2T~m G!W:'1-~= 11 Pv: Gr-: Cheeking gr- t"JL•.p 11 +A:3;$: GOSUB26: A4:t-::::: 11 G 11 +CHR:$= < LV+48) +MID::!:= ( STf-i::*: ( X) , 
2) + 11 / 11: A~~=A4:t-+ 11 TTL II: FD=4: GOSUB16: OPEN II I II' 2 7 A4$+ 11 GRP 11 

2740 IFNTrl-!EN2760EL.SEIFLOC ( 2) o/~THENPF~ I NT "Empty tit J. es/non-·empt y met;sages ! "ELSEPRI 
NT"G,~oup is empty! 11 

2750 CLOSE2,4:GOT02410 
2760 IFN3=1THEN2790EL.SEGET4,1:Y=CVI<MN$):A5$=TM$:FORX=2TON3:GET4,X:IFCVI<MN$)=YT 
HENPl::;:INT"DupJ.icate me1ssage nwnbe,~: 11 YELSEIFCVI (MN$)<YTHENPRINT 11 Message numbe1r•s ou 
t c:lf or-de,~: 11 Y 11 ·-> 11 CVI (MN$) 
2770 I FTM:*:< A5:t-THENPF~ I NT II Dater.; C:lU t of or- d er-: 11 CV I (MN::!,:) 11 - > 11 Y 
2780 Y=CVI<MN$):A5$=TM$:NEXTX 
2790 FORX=1TON3:A!=LOC(2) ! 
2800 L.INEINPUT12,A$:IFA$=CHR$C255)THEN2820ELSEIFEOF(2)THENPRINT 11 Group does not h 
ave proper termination - unable to ccntinue'':GOT02880 
2810 GOT02800 
2820 GET4,X:IFCVS(PS$)<>A!THENPRINT''Message pointer does not point to proper mes 
sage: Msg =11 CVI<MN:t> 11 Title ptr ::-.::"CVS(P8$)"Msq pas = 11 A!:IFX<>N3THENGET4,X+1:GET2, 
!$CVS(PS$):GET4,X 
2830 IFCVI<NR$)THENW=CVI(NR$):GOSUB3570:GET4,X:IFNOTF1THENPRINT 11 N-Ref field poin 
ts to non·-e>d sta.nt msg: Msg ="CVI (MN:•n 
2840 IFCVI<PM$)THENW=CVl(PM$):GOSUB3570:GET4,X:IFNOTF1THENPRINT 11 P-Ref field poin 
ts to non-e:dsta.nt msi;_p Msg ="CVI (MN:'!:-) 
28~i0 NEXTX 
'.?860 IFNOTEOF (2) Tl··IENPRINT"Mt~s1,;age f i 1 E~ has el•(c::ess te?rmi na.ti ng data: Ptr ::::"LOC (2) 

2870 PF~INT"Grou.p check complete" 
2880 CLOSE2,4:GOT02410 
2890 GOSUB2470:A3$=A$ 
2900 PRINT"De?lete group "A3:*:"? 11 ; :ML=1:GOSUB6:GOSLJB4: IF{-!i$="Y"THEN2910EL..SEIFA~-I:=<>" 
N" Tl···IEN2f)00ELSE2410 
291.0 GlW::f::::::"Pv: Gr: Deleting 11 +A3:f:: GOSUB26: FD=4: GOSUB19: Z=Y: GET4, Y 
2920 A4:i:::::" G" +CHR$ ( LV+48) +MID:*: ( f::lTR:t- ( X) 'I 2) +" /" : A~l===A4~~:+" TTL" : FD=2: GO SUB 16 
2930 IFN:3:=--•0THENCLOSE2: (·30TC"J:::::000ELSEPFUNT"Resol vi ng ma.i 1 referemces": FD::::1: GOSUB18 
2940 FOF<:X=1 TON~5: GET2, X: A$==WT:t-: GOSUB3: IFM::== 11 Al l "ORRC~t-="R"THEN2990ELSEI ::::(ZJ 

29~i0 I::: INSTR ( I+ 1 , A::!;, " 11 ) : IF I =0THEN2990 
2960 F1$=LEFT$(A$,I-1):L1$=MID$(A$,I+1):GOSUB7:IFNOTF1THEN2950 
2970 I FPT:t-:::: 11 R" THEl'-,11 ... SETEW~::::::CHf~:=t; ( {-!iSC ( EW:t-) -· 1 ) ELSELSETMW::1::::::CHR$ ( (48C (MW$) -1 ) 
:,~C?80 PUT :t , M 
2990 NEXTX:CLOSE1,2:PRINT"Re?ference~; resolved" 
3000 IFZ<>N5THENFORY=ZTON5-1:GET4,Y+1:PUT4,Y:NEXTY 
3010 Y=L.OC(4)%-L.5:PUT4, !#Y:CLOSE4 
~%~20 ~::: I LLA4:*:+ II TTL II : ~::: I L.I. .• A4:t-+ II GRP 11 

30~::0 GRjf-::::" 11 : PR I NT II Gn:n.ip k i 11 ed ! " : FD===4: GOT02410 
3040 GOSUB2470:A3$=A$ 
3050 PRINT"Renu.mber· messages in gr·ou.p 11 A3$ 11 ? 11 ;: ML=-1: GOSUB6: GOSUB3: GDSUB'~-: J.FA$=:: 11 

Y II THEN3060ELSE I FA~t-< > 11 N 11 THEN~5050ELSE2410 
3060 A$== II G 11 +CHR$ ( LV+48) +MID$ ( SH~$ ( X ) , 2) +II/ TTL II : FD='-1·: GOSUB 16: I FN::::::::::0THENCL.0!3E4: PF~ I 
NT"That's a.n empty gr-oup! 11 :GOT02410 
3070 FORX=1T•N3:GET4,X:IF(CVI<NRS)ORCVI<PM$)):::::0THEN3100ELSEI=CVI(MN$):FORY==1TON3 
:GET4,Y:IFCVI<NR$)=ITHENLSETNR$=MKISCX>:PUT4,Y 
3080 IFCVI(PM$)=ITHENLSETPM$=MKI$(X):PUT4,Y 
3090 NEXTY:GET4,X 
3100 LSETMN$=MKISCX):PUT4,X:NEXTX 
3110 CLOSE4:PRINT 11 Done! 11 :GOT02410 
31. 20 A5$=PF<$ 
~~: 1 :;;;0 L.SETPR$::::A5::I.::: PR I NT 11 Pr iv: 11 ; : NAME4R I GHT:$: (PF<:$, 1) +MID::!:= (PR$, 2, 1) +LEFT:$: (PR$, 1 ) 



3140 IFPEEKCOU+10)AND128THEN3150ELSEA$=F$:GOSUB3:IFA$()A1$THEN3150ELSEA$=L$:GOSU 
K::: IFA:t-< >A2:'l::THEN:::H50ELSEPRINT: PRINT" (You ffi<=\Y not modi ·f y your o!-'m pri vs) 11 : '1:ETURN 
::~; l 50 PF< I NT 11 ? 11 ; : ML=• 10: GOSUB6: GOSUB~~: GOSUB4: IF A$= 11 11 THENHETUF~N 
3 :L60 I FU::.FT$ (A:t-, 1.)::: 11 D "THENM ID:$: ( A~i::j::, 2, 1) :::CHR$ ( (ASC (MI D:t- ( A5:t-, 2) ) AND240) ORVAL (MID$ ( 
AS,2))):GOT03130 
~; 1 70 l ::::(7.): I FM I I)::j:: (A:$:, 2, 1 ) > 11 1 11 THE]\(Y=::3EL.SEY==2 
3180 Frn::..:F5=YTOLEN (A::!;:) : IFMI D::~ (A:;(::, F5, 1) < "0 11 0RMID$ (A::~:; F5, 1) > 11 1 "THENPRINT II I 11 egal bi 
n.-,1r-y number-! 11 : GOT031:;T,0 
3190 Z=Z*2+ASC(MID$(A$,F5))-48:NEXTF5 
~5200 I FLEFT:1,: ( A::l::, 1. ) = 11 A II THENF5=/~SC (HI GHT::l:= ( A5:t:, 1 ) ) : GDSUB3260: MID:$: ( A5:$:; ::;;; , 1 ) =CHR$ ( F~5) 
: GOT0~$130 
32 j_ ~1 I FLEFT$ ( {-):$:, 1 > < > 11 C II THEN3240EL.SEF5::-.::ASC ( LEFT:$= ( A5::l:=, 1 ) ) : F3==F5: GOSUB3260 
3220 IFPEEK<OU+10)AND128THENMID$(A5$,1,1)=CHR$(F5):GOT03130 
3230 IF(F5AND132><><F4AND132)THENPRINT''You may not change someone's Sysop status 
! 11 : GOT031 ~;0ELSEM ID$ ( A~'5$, 1 , 1 ) =CHR$ ( F5) : GOTff5130 
~;240 I FLEFT$ (A~:, 1) < > 11 B II THEN:3; 130 
3250 Z=ZAND15:F5=ASC(MID$(A5:t-,2,1))/16:GOSUB3260:MID$(A5$,2,1)=CHR$C(ASCCMID$(A5 
$,2,1>>AND15)+F5*16):GOT03130 
3260 IFY=2THENF5=Z:RETURN 
:3;270 I FM I D::I:= (A$, 2, 1 > = 11 0 11 THENF5=F50fU: RETUF~N 
~;280 I FM ID$ (A$, 2, 1) = 11 A II THENF5=F5ANDZ: RETURN 
3290 I FM ID::~ ( "'$, 2, 1 ) ::::: 11 N II THENF5= ( NOT Z) AND25!5: RETURN 
:;~;00 I FM I D:t- (A::!:=, 2, 1 ) == 11 M II THENF5=F5ANDNOT Z 
3::510 RETURN 
3320 GOSUB2470:A3$==A$ 
3~;~;0 PR I NT II M..-1.ss deJ. et ion of messages in group II A3$"? 11 ; : ML= 1: GOSUB6: GOSUB4·: I Fl·\~t:= 
II y 11 THEN:33.40ELSE IF (4:;j;:{ > 11 NII THENT$:30EU3E2410 
3:340 PFUNT 11 Sta1rti ng mErJssage number? 11 ;: ML=~i: GDSUB6: GOSUB4: IFA:,f-= 11 "THEN2410ELSES1== 
VAL (A:,f-> 
3~;50 PRINT"Endi ng message number? 11 ;: ML.=•5: GOSUB6: GOSUB4: IFA$= 11 "THEN2410ELSES2=VA 
L(A:,f.) 
~~;:3;60 IFS2<==81THENPRINT"IlJ.egal me~:;;sc1.ge number range!":GOT02410 
::=,:::3;70 QW::f-:::: "Deleting messages 11 +STR::~: (81) +" to 11 +STR::I:= (82) + 11 in "+A:3:~r.: GOSUB26 
~;:3s0 PFU NT" Ki J. 1 in g meissag es= •• " 
3:3;90 A4:~== II G II +CHR::I:= ( L V+4B) +MI D:t- ( STR:$= ( X) ' 2) +II/ 11 : A::li==A4::li=+ 11 TTL II: FD=-0 4: GOSUB 1. 6: OPEN II I II ; 1. 
'I (-44$+ 11 GFs:P 11 

~:400 W=S1: GOSUB~.5570: IFF 1.===0THENPRINT "Mes;sage :(:(: 11 S1 "does not e:d. st! 11 : CLOSEl, 4-: GOT02 
410EU3EL 1 =M 
~;410 W==S2: GDSUB~.5570: I FF 1=0THENPRI NT 11 Mes5;a.ge #"82 "does not e:-i i st! 11 : CLOSE 1, 4: GOT02 
410ELSEL2=M 
3420 GET4,L1:A!=CVS(PS$) 
3430 GET4,L2:GET1, !$CVS(PS$) 
3440 LINEINPUT#1,A$:IFA$<>CHR$(255)THEN3440 
:3:.450 OPEN 11 0 11 , 2, A4$+ 11 GRP 11 : GET2 , ! ~t-A ! : PUT2, ! #A ! : A ! ==LOC ( 1 ) ! --A ! 
3460 IFNOTEOF(l)THENL.INEINPUT#l,A$:PRINT#2,A$:GOT03460 
::::A 70 CLOSE :L , 2 
3480 PRINT 11 Relinking ••• 11 

3490 FORX=L1TOL2:GET4,X:I=CVI(NR$):F2=CVI<PM$) 
3500 IFF2THENW=F2:GOSUB3570:IFF1THENLSETNR$=MKI$(I):PUT4,MEL.SEPRINT''Linking erro 
f" ! II 
351.0 IFITHENW=I:GOSUB3570:IFF1THENLSETPMS~MKI$(F2>:PUT4,MELSEPRINT''Linking er-ror 
I 11 

3520 NEXTX 
35:;0 Pl==i:INT 11 Killing titles ••• 11 

3540 IFL2<>N3THENFORX=L2+1TON3:GET4,X:LSETPS$=MKS$CCVS(PS$)-A!):PUT4,X-(L2-L1.+11 
:NEXTX 
3550 W=LOC(4)%-L3•CL2-L1+1):PUT4, !#W:PUT4,&& 
3560 CLOSE4: PRINT"Dcme ! 11 : GOT02410 
3570 L=N3:R=1:F1=0 
3580 M=INTC(R+L)/2):IFR>LTHENRETURNELSEGET4,M:IFCVI<MNS>=WTHENF1=-1:RETURN 



-:Jn[•• •:laf.- •:JHE- ••]HE,• -:lilf:- -'Jul,, •:)!IE- -,1,IE- -'JB[- •:Jul:- -:Juf:• "*' •,:laf.- -:lffl:-· -]llf:" •:IHI:• 

~-:JnF.-~-:JnE- SVSDP2 -:JnE-~~-:JnF.­

··lnE- -ital:- -3"[·· -:1&1:· ·:Ii(- ·:IDI:-· ·:IDI:-· '* *' -:lnE- ·:IHE· -]H[- -ilHF.- ·:li•E- -:'lul:-· -JnE-

1000 IFPEEK <OU+10) AND128TI-IENPRINT"Wel ccJme al mighty Sysop ! "ELSEPRINT"Hel ].Q Remcrl.:e 
!:3ysop ! " 

101. 0 PF: I NT: PFi: I NT"< Lev: Me:\ in>" : PF( I NT" Ent. er < C , I..., N, Gl, S, T, U, V, Z , ? >: " ; : ML::::: 1 : GOSUB6: 
GDSUB4: IFA::lf.:::::" "THEN1010 
1. 020 I FFL THENPFi: I NnJ:::::;, TI ME:=f::" - Pv: "A:t-
10~:::0 ON I NSTF~ ( "QC?TLN zusv" , A$) GOTO 1. !Zl, 11 !Zl!Zl, 1050, 1. 600, 1650, 1960, '..7:!0:::::0, 1870; 2250, 25:30 
1040 GDT0101.0 
1050 PRINT"Choose one of: ":PRINT:PFUNT"<C> -- Configu.n:1.tion":PRINT"<L> ··· Ca.Ile!!'" 1 
ogs" 
1060 PRINT"<N> - New date/time!" 
H:'70 PFi:INT"<Gl> -- Glu.it 11 :PRINT 11 <S> -- Sublevels 11 :PRINT 11 <T> ··· TRS···B!Zl mode":PFUNT"<U> 

- Del c;?te part of User 1 CHJ" 

1el80 PRINT"<V> -- Voting fiJ.es":PFi:INT"<Z> -- Take the system up/down" 
1.090 PRINT"<?> - Display this help":GOT01010 
11. 00 PR I NT: PFU NT 11 <Lev: Con fig>" : PR I NT" Ent. er < C, D, I , L , N, P, G!, R, S, T, V, W, ? >: 11 ; : ML== 1. 
: GOSUB6: GOSUB4: IF A:$==" "THEN 1100 
11 l 0 ON INSTR ( "NCRV?QDS I PWTL." , A$) GOTO 11. El0, l 200, 1240, 1280, l 300, l 010, 1330, 1 l 30, 1220 
,1420,1470,1520,1540 
1.1.20 GOT01100 
11.:::HZI GOSIJB1 7: A$=FA$: GOSUB:::::: PFU NT "Sysop na.me l: 11 A:$= 11 ? 11 ; : ML.==25: GOSUB6: GOSUK::: GDSU 
B!S: I FA:t-< > 11 11 THENLSETFA$==A$: T 1 :$===A$ 
1140 A:=t:==FB:$:: GOSUB:?::: PFnNT"Sysop n2\fll€'-:! 2: 11 A$ 11 ? 11 ;: ML=:::25: GOSUB6: GOSI..JB:::::: GDSUB5: IFA::t-< 
> 11 "THENLSETFB~*===A::t-: T2$=:=A:!I:: 
1.1.50 A:t::.°FC$: GOSUB:::::: PRINT"Sysop n,;,1.me ~5: 11 M:- 11 ? ";: ML===25: GOSUB6: GOSUB:::::: GOSUB5: IFA$< 
>" 11 THENLSETFC$=A~t-: r5:t-=A==t-
11. 60 1!\$===FD:1,:: GOSUB:3: PR I NT II Sysop name 4: 11 {~:$: 11 ? "; : ML===25: GOSUB6: GCJSUB:::::: GOSUB5: I FA$< 
> 11 11 THENLSETFD$=A$: T 4$==A~1:= 
11.70 PUT4,1:CLDSE4:GOT01100 
1180 GOSUB17: A:=t:::::::NM$: GOBUB~~:: PRINT"Cun"t~nt name!: "A::I,:"? 11 ;: ML=40: GOSUB6: GOSUB3: IFA::t,: 
< > II II THENLSETNM::t-==A:$: 
1190 PUT4,1:CLOSE4:GOT01100 
1200 GOSUB17:PRINT 11 Total number of c:alleirs: "CVI (NC::t::) 11 ? "; :ML==5:GOSUB6:GOSIJB3: IFA 
::t-< > II II Tl·-IENLSETNC$==M~< I:~;: ( VAL (A:$=) ) 
121.0 NC=CVI(NC$):GOT011.90 
1220 GOSUBl 7: PHINT"Cl oc:k speed seal e: 11 ASC (SC$) 11 ? 11 ;: ML==1: GOSUB6: GOSUB~~;: IFA::t:=< >" 11 T 
HENLSETSC$==CHR$(VAl...(A$)) 
12'.2::0 GOTO 1. 1 9(ll 
1240 Gm3UB 1 7 
125el PRINT"Ri ng-bac:k: 11 ;: IFRB::t::== 11 Y 11 THENPRINT 11 Yes 11 ; ELSEPRINT"No 11 ; 

1260 PFUNT 11 ? 11 ;: ML==1: GOSUB6: GOBUB3: GOSUB4: IFA:i:< > 11 11 THENIFA::t-< >"Y"ANDf-,$< > 11 N 11 THEN12!S 
IZJEU3ELSETRB:=t::==,A~t:: 
1270 GOT01190 
l 280 GO SUB 1 7: A$=VR:.=t::: GOSUB3: PF~ I NT II Curr en t version: 11 A:$= 11 ? 11 ; : ML= 15: GOSUB6: GOSUK::: I 
F(.:-:i:t-< > II II THENL.SETVR$=•A::I== 
1290 GDT01190 
1300 PRINT 11 Choose one of: ":F'RINT:PF~INT"<C> - Ca.J.J.ers 11 :PRINT 11 <D> -· Default drive 
n1 . .1mber .. s":F'RINT 11 <I> - Incre ... ".J.sed clock speed sc:ale":PRINT"<L> - Log files":PRINT"< 
N> ··· Name 11 :PFUNT 11 <P> ·- Def,;,,ult. pr·ivileges 11 :PFUNT 11 <Gl> -· Gluit 11 

1.:::::1.0 Pl::..:INT"<FD· - Ring-bac:k mode 11 :PRINT 11 <S> - Sysop names":PRINT"<T> -.. Ticks/sec" 
: PFUNT 11 <V> -· Ve?rsi on": PRI NT"<W> -· Misc p,;,\sswords": PRINT"<?> - Di sp 1 ay this help 11 

:GOT011.00 
1 :::::20 GOTO l 1 90 
1. :330 GOSUB 1 7: PR I NT" New group t. i t 1 es: "Dei~i:"? " ; : ML::::: :I. : GOSUB6: GOSIJB3: IF A$< >" "THENLS 
ETE0~t.:==A~t-
1. ~34-0 PR INT" NerrJ group bodies: "DU,:"? "; : ML..=1.: GDSIJB6: GOSUB:::::: IFA$< > 11 "THENLSETE U==•==A~t-



135f.1 F'RINT"New group titles <lev 1--8) ~~ sublevels: "D5:,~:"? 11 ; :M!..=1:GOSUB6:GClSIJff:): 
I FA$< > 11 11 THENLSETE5$==A~~ 
1 :360 PFU NT II Nf:?J;-.J gr ou.p bod i. €~s (]. ev 1-f.:l) : 11 D6:$="? 11 ; : ML::: 1 : GO!:.,UB6: GOSUB:3: I FA::t,:< > 11 11 THEN 
LSETE6$=~,$ 
1:370 PRINT"Unpri ved downloads: 11 D2$ 11 ? 11 ;: ML=-.::1: GOSUB6: GOSUB3: IFA:t:< >" "THENLSETE2$= 
A:$: 
1:::::BIZJ PFi:INT 11 Pri ved clc:1~"-lnl oads: 11 D:J::t,= 11 ? 11 ; : ML=l: GDSUB6: GOSUB:3: IFA:.t-< >11 11 THENLSETE~':,:$==--=A$ 
1390 PR I NT II Log f i 1 f:!~;;: 11 D4~t 11 ? 11 ; : Ml...= 1 : GOSUB6: GOSUB3 :: I FA$< > 11 11 THENLSETE4$===A:t-
1400 D0$=E0$:D1$=E1$:D2$=E2$:D3:.t-=E3$:D4$=E4$:D5$=E5$:D6$=E6$ 
1410 GOT01191ZJ 
1.420 GOSUB17: Pf~$=P1$: PFUNT 11 Ne1w User settings: 11 : F:t-=" 11 : GDSUB2050: LSETPl~t==PR:$= 
14::%:'! PR I NT II Ti me 1 i mi t: "ASC ( P3:$) 11 ? 11 ; : ML=3: GOSUB6: GOSUB3: I FA~t-< > 11 "THENLSETP3:t-:::.•CHl=i'.::J:: 
( VAL. ( A:t-) ) 

:L4-4-0 PR::!i==P2$: PF~INT: PRINT 11 Nor·mal val i dc.•d: j_ on settings: 11 : GOSUB2050: LSETP2~t==PF~::tr.: V2$= 
PR$ 
14~i0 PFUNT 11 Time limit: 11 ASC(P4:$:) 11 ? 11 ; :ML=3:GOSUB6:GOSUB'.3:: IFA:.t-<>""THENLSETP4:$==:CHF<::ir. 
(VAL(A$)):V2=VAL(A$) 
1460 GOT01190 
14-70 IF (PEE!< <OU+ l.0) ANDl.28) =:=f2lTHENPFn NT" Il 1 egal F<:~,mot€~ f unc:t ion! 11 : GOTOl 100ELSEGOSU 
B17: {):t-=P5$: GOSUB3: Pl=i'.INT 11 Sysop passwon;j: "A:t-= 11 ? 11 ;: ML==8: Grn-3UB6: GOSIJB3: GOSUB4: IF?)$< 
> 11 11 Tl-·IENLSETP5:t==A~t 
1. 480 A~i:==P6:1,:: GOSUB3: PR I NT II Remclte p.,;\s!sword: "(.:!}$"? "; : ML.=B: GOSUB6: GOBUB3: GOSUB4: I Ff°.:t 
::t-< > 11 11 TI-IENLSETF-'6$:::::A:;j=; 
149ei A:i:==P7:$=: GOSUB:3: PRINT 11 BASIC passwc:1rc:I: "A:t- 11 ? 11 ;: l"IL=8: !30SIJB6: GOSUB3: GOSIJB4: IFA$ 
< > II II THEI\ILSETP7:$==?,::1:: 
1500 {~:t===P8~t: GOSIJB3: PRINT 11 System-u.p pcisswor"d: "A::(:: 11 ? 11 ;: ML=B: GOSIJB6: GOSUB::::o: GOSIJB4-: 
I FA:~r.< > 11 11 THENLSETPB::t-=-A::1.-
15 l 0 GOT01 j,90 
1520 GOSUB1 7: PR INT"Ti c: ks/sec:t:1nd: "ASC (TK:t-) 11 ? ";:ML=:$: GOSUB6: GDSUB:::::: IFA:t-< > 11 11 THENLS 
ETTK$=CHR$(VAL(A$)):POKEOIJ+12,VAL(A$) 
1 ~5:3;0 GOTO 1. 190 
1540 GOSUBl.7 
1550 PRINT"Fu.11 disk log file: 11 ;: IFASC(LU=>ANDlTHENPRINT 11 Yes 11 ;ELSEPRINT 11 No 11 ; 

l.560 PRINT"? ";: ML=1: f30SUB6: GOSUB:3g f3C)SLJB4: IFA$< >1111 THENIFA$= 11 Y 11 THENLSETLI$=CHR$ <A 
SC ( L.. I~~) OR 1 ) ELSE I FA:t-= 11 N II THENLSETL.. I $=CHR$ ( ASC (LI$) AND254) ELSE 1550 
1570 PRINT 11 Pri. 11+.:er 1 cJg: 11 ; : IFASC (L. I$) ?,ND~~THENPRINT"Yes 11 ; ELSEPRINT"No"; 
1580 PFU NT 11 ? 11 ; : ML= 1 : GOSUB6: GDSUB3: GOf.lUB4: I FA:t-< > 11 11 THEN IF A:t-= 11 Y II THENL.SETL I $=Ct--11=.::t ( (-~ 
SC (LI:'ln OR2) ELSEIFA$= 11 N 11 THENLSETLI$=CHl=i'.$ (ASC (LI$) AND25~;) ELSE1560 
15c?0 GOTOl.190 
1600 IF <TSAND1) =0THEN 1. 6'.3;0EU:3EPRINT: PRINT"Enteri ng c:ommc.-i.nd 1 evel ••• 11 : PFUNT: PRINT" 
Break i.n :3000 11 : PRINT"READY": PRINT" >11 !i 
l 61. 0 1'1L=24e1: GDSUB6: GDSUB3: GOf.lUB4: IF A:t=< >R::::;:$=THENPR I NT" >CONT 11 : GlW:t-= 11 Pv: Tr·: SYSOP pa 
ssword failed' 1 :GOSUB26:POKEOU+10,0:GOT010 
1620 PRINT 11 0k ••• 11 

1630 POKEOU+23,&H78:STOP 
1640 POKEDU+23,0:GOT010l0 
1650 PRINT: PRINT" <L..ev: Log>": PRINT "Ent.er <A 9 K, I',! 9 Q 9 ?>: 11 ; : ML= 1: GOSUB6: GOSUB4: IFA~~= 
::-.::" "THENl.650 
1660 ON INSTR ( "ANGlK?", A:=!;:) GOT017'.3;l~, 1.800, l.010, 1680, 1. 950 
l. 6 70 GOTO 1. 650 
1680 OPEN II I 11 , 4, 11 I< I LLLOG/TFC 11 : POKEOU, TSORB 
1690 LINEINPUT#4,A:.t-:PRINTA$:IFPEEK<OU)<><TSOR8)THEN1700ELSEIFNOTEOF(4)THEN1690 
l.700 CLOSE4:POKEOU,TS:PRINT: IF<PEEK(DU+l0)AND128)~0THENl650ELSEPRINT 11 Delete log 
file? 11 ;: ML=1: GOSIJB6: GOSUB4: IFA~~= 11 Y 11 THEN1710ELSEIFA::~:< >"N"THEN1700ELSE1651Zl 
1710 ~:::ILL "KILLLOG/TFC": CMD"CREATE, KILI..L.OG/TFC: "+D4$ 
1720 GOT01650 
1 7:::::0 cLosE:::::: OPEN" E" , ::::: , "CALHL.001 TFC" : OPEN" I " , 4, 11 CALHL• G; TFC" : Pm<E•u, TS•RB 
1740 LINEINPUT#4,A$:PRINTA$:IFPEEK(OU><>CTSORB>THENl750ELSEIFNOTEOF(4)THEN1740 
1 750 CL(JSE4 
1760 POKEOIJ, TS: PRINT: IF (PEEK (OU+ 10) AND1. 28) =0THEN1650ELSEPRINT" Delete J. og f i 1 e? " 



; : ML= 1 : GOSUB6: GOSUB4: I FA:$::::: 11 Y II THEN 1 770ELSE I FA$<> 11 N II THEN l 7 60ELSE 1650 
1770 CLOSE:;::: KILL 11 Cl~LRLOG/TFC 11 

1780 OPEN 11 E 11 ,3, "CALRL.OG/TFC: 11 +D-<'U: 
1 7c;>0 GOTO l 650 
1800 OPEN 11 I 11 ,1, 11 NEWUSER/TFC 11 :POKEOIJ,TSOR8 
1810 LINEINPIJT#l,A$:PRINTA$:IFPEEK(OU><><TSOR8)THEN1820ELSEIFNOTEOF(1)THEN1810 
1820 CUJ~3E 1 
1 S:3!ll POKE OU, TS: PR I NT: IF ( PEEK ( OU+ 10) AND 128) ::::QlTHEN 16~i0ELSEPF~ I NT II Dr~ let e J. cJg ·f i J. e? 11 

;l : ML.ca: 1: GQSI..JB6: GOSIJB4: I FA::j;:::: 11 Y II THEl\11. B40EU3E I FA:$:{} 11 N II THEN 1 B30El...SE 165,1 
1.84-0 !<ILL 11 NEWUSER/TFC 11 

1851.ll CMD"Cl=.:EATE NEWUSER/TFC: 11 +D4::!:= 
1f::l60 (301'01650 
1870 GOSUB14:IFN1==0THENCLOSE4:PRINT"No entries! 11 :GOT01010 
1E380 GET4, :t:lA!===CVI (NC:$) :GET4,Nl.: Z=CVI (NC::1:-) :PRINT"Ther"e are 11 N:l"user· log entries fr· 
om 11 W11 to"Z 
1890 PF<INT 11 Del ete Ltp to? ";: ML==5: GOSUB6: GOSUB3: IFVAL (A$) ==0THENCLOSE4-: GOT01010 
1 c100 Y==VAL (A:$=) : IFY-:::WOHY >ZTHENPl=.:INT" Il 1 egal cal 1 e1~ number!": CLOSE4: GOTO :t010 
1910 PRINT"DELETE user log entr-ies"lAJ 11 tci 11 Y 11 ???? "; :ML==1:GDSUB6:GOSUB3:GOSUB4: IFA::t:: 
<> 11 Y11 THENCLOSE4:GOT010l0 
1920 FORX==Y-W+2TON1:GET4,X:PUT4,X-(Y-W+1):NEXTX 
1930 Y=LOC(4)%-Ll*(Y-W+1):PUT4, !#Y:CLOSE4 
1. 94-1.ll GOTO l. 0 lel 
1950 PFUNT 11 Choose one of: 11 :PRINT:PRINT 11 <A> - All caller info 11 :PRINT 11 <~<> -- Killed 
messages lcig":Pl==i:INT"<N> -· New user info":PRINT"<Q> ·- Quit 11 :PRINT 11 <?> -- Dii;;;play 

this help":GOTD1650 
1 c?60 PRINT 11 The current. date/ti me is: 11 FI\IG$: PF<INT 
1970 RE==-1:PRINT"What is the current. date/tim(':?? ";:ML==2l.:GOSIJB6:GOSUB5~GOSUB3:IF 
A::j:::::: 11 11 THEN j_ 011.ll 
1980 GOSUB13:IFRE==0THEN1970ELSERE==0:PDKEOU+18,ASC(S1$):POKEOU+17,ASC(MID$(81$,2) 
):POKEOU+16,ASC<MID$(81$,3)):PDl<EOU+15,ASC(MID$(81$,4)):POKEOIJ+14,ASC(MID$(81$,5 
) ) 

1990 PRINT 11 Choose the:~ r.~u.rr·ent da.y: 11 :F'FUNT:FORX==1T07:PRINTX 11 -· 11 DA$(X) :NEXT:PRINT 
2@L10 Pl=.:INT 11 Whc1.t day is it? 11 ; :ML=1:GOSUB6:GOSUB4: IFVAl...<A:t-)<10RVAL<A:t:) >7THEN2000 
2010 POKEOIJ+19,ASC(Y$)-48 
2020 GOTOl.010 
20::::;0 Z Z===NOTZ Z: I FZ ZTHENPR I NTSN:ll=- 11 is now UP! 11 : GOTO 10 l. 0 
20i~0 PR I NTSN:t- 11 i. s now DOWN ! 11 : GOTO l. (i:'l l. 0 
'.::::050 A5:f::::.0PR$ 
2060 LSETPR:,!:==A5:t-: PR I NT II Pt~ iv: 11 ; : NAME4R I GHT$ (PR$, 1) +MID$ ( PR:.=f::, 2, 1) +LEFT:'!:: ( PR:f, 1.) 
2070 IFPEEKCOU+10)AND128THEN2080ELSEA$==F$:GOSIJB3:IFA$<>A1$THEN2080ELSEA$==L$:GOSU 
B~:o: IFA:t<>A2::l:-THEN2080ELSEPRINT:PF<INT 11 <You may not mcJcHfy your 01,--in pr·ivs> ":RETURN 
2080 Pl=.: I NT 11 ? " ; : ML::::: :I. 0: GOSIJB6: GOSUB~:,: GOSUB4·: I FA:$== 11 11 TI-IENRETUF.'.N 
2~190 I FL.EFT:'!:: ( A:t-, 1 ) :::: 11 D II THENM I 1)::j;: ( f• 5::!:=, 2, l. ) :::-°CHR$ ( ( ASC (MID$ ( ?-)5$, 2) ) AND240) ORVAL (MI 0::1:: ( 
A$,2))):GOT02060 
21. 00 Z==0: I FM ID$ (A:$:, 2, 1. ) >" 1 11 THENY=~.:::ELSEY=2 
2110 FORF5==YTOLEN (A$): IFMID:'lr. (A::l:=,F5, 1) < 11 0"0RMID$ (A$,F5, 1) > 11 1. 11 THENPRINT 11 Illegal bi 
nary number! 11 : GOT02060 
2120 Z==Z•2+ASC(MID$CA$,F5))-48:NEXTF5 
2 l. :::::0 I FL.EFT::!'; (A$, 1) == 11 A II THENF5==ASC (RIGHT$ ( A5~t-, 1) ) : GOSUB21 c,0: MID$ ( A5::1::, 3, :I.) =CHR~:t- ( F5) 
:GOT02060 
2 l. 4-0 I FL.EFT$ ( A:t-, 1) < > 11 C II THEN21 70ELSEF5==1• SC ( LEFT$: ( A5::f,:, 1) ) : F3==F5: GOSUB21. 9e) 
2150 IFPEEK<OU+l.0)AND128THENMID$(A5$ 9 1,1)=CHR$(F5):GOT02060 
2160 IF(F5AND132)<><F4AND132)THENPRINT''You may not change someone's Sysop status 
! 11 : GCJTf.J2060ELSEM ID:$ ( A5$, 1 , 1 ) ==CHR:!:= ( F5) : GOT02060 
2170 IFLEFT::I:: (A$, 1. > < > 11 B 11 THEN206fZJ 
2180 Z==ZAND15:F5==ASC<MID$(A5$,2,1))/16:GOSUB2190:MID$(A5$,2,1>=CHR$((ASC(MID:t-(A5 
$,2,1>>AND15)+F5*16):GOT02060 
2190 IFY==2THENF5=Z:F<ETURN 
221210 I FM ID::~: ( A:~: 'l 2, 1. ) :::: 11 0 11 THENF!.5==F50R Z: 1=.:ETURN 
221. 0 I FM I D:t: ( ,~)$, 2, 1 ) =: 11 A II THENF::'i==F5AND Z : RETUHN 



:2:220 I FM I D:1; ( A::j::' 2 7 1 ) ::: II NII THENF5== ( NOT z) AND2~55: RETURN 
2:t::rni I FM r D~-t:: < A:=t::, 2, 1 > :::=" M" THENF~i=F5ANDNDT z 
2'.240 RETURN 
2250 PRINT: PFUNT "<Lf.-?v: Subl eVt-?l s >":PRINT "Enter <C, D, L, N, Q, ?>: "; : ML:::::1.: GOSIJB6: GOS 
IJB4: I FA:t-:::: 11 11 THEN2~~50 
2260 I FFL THENPR I NT#3, TI ME::!:=" -· Pv: Sl : 11 A:$= 
2270 ON INSTR ( 11 CDLNQ? 11 , A~~) GOT02440, 2~::.80, 2:310, 23:30, 1010, 2290 
2280 GOT02250 
2290 PRINT 11 Chor.:ise one of: 11 :PFnNT"<C> -· Create a sublevel":PF<INT"<D> - Delete a. s 
ublevel":Pt:.:INT"<L> - List sublevf:-~ls 11 :PRINT 11 <N> - Rename a sublevel" 
2300 PFi:INT"<Q> -- Quit":PRINT"<?> - Display this hel.p":GOT02250 
z::~; 1.(<J PR INT II Sub 1 evel s: 11 : PR INT: FORX:==0TC)9: PR INTCHR~t- < X +4f-J) 11 • 11 ; : I FLV:$= ( X) == 11 11 THENPR I NT 
"<None:-: istant > 11 ELSEPRINTLV:$= < X) 
2320 NEXTX:GOT02250 
2~~:~::0 PRINT"Subl evel to renc.-l.me? 11 ; : ML::::: 1: GOSIJB6: GOSUB3: IFA$= 11 11 THEN22~i0EU.:3EX==VAL. (A:t­
) : IFI...V~t-(X) == 11 "THENF'fUNT"That sublevel is none:dstant ! 11 : GOT02251Zl 
z::;;4.0 PRINT"Su.blevel "CHH:t-(X+48) 11 's ct.wrent name is: "LV$(X) 
23150 PRINT"New name? 11 ;: ML==25: GOSIJB6: GOSUB3: IFA:$== 1111 THEN2250ELSELV$ (X) ==A$ 
2360 GOSUB17:GET4,2:FORX==0T09:LSETL1$(X)=LV$(X):NEXTX:PUT4,2:CLOSE4 
'..2~'.:70 GDT0'.,;~2:'.:i0 
2:::::t10 PH I NT II f.:lu.b 1 evel to delete? 11 ; : ML=-•= l: GOSUB6: GOSUB3: I FA:$=== 11 11 THEN22~H?.JELSEX==VAL ( A:t­
) : IFLV$ ( X) = 11 11 THENPHINT"Tha.t subl evel doesn't e:-~ i st anyway! 11 : GOT02250 
2:::::9l?l L.V=X:GOSUB19:CLOSE4: IFN5THENPRINT"I c:an't. d1:::,let.e <:':\ ncin--empt.y su.blevel ! ":GOT 
02:250 
2400 PRINT 11 You. hav&"~ c.-l.sked to DELETE st.1.ble1vel 11 X 11 -- 11 L...V:$=(X) 
2410 PRINT: PF<INT"r~r-e you. SUF~E??? 11 ;: ML.==1: GOSUB6: GOSUB3:: GOSUB4: IFA:*=== 1111 THEN2410ELS 
EIFA:=t::< >"Y"THEN2250 
2420 KILL"GROUPS"+CHR$(X+48)+"/TFC" 

24L!,0 PRINT"Cn:!ate subl &"Nel numb€-:,r-? 11 ;: ML.=1.: GOSUB6: GOSUB:::::: IFA$=" "THEN2250ELSEX=:::VA 
L.. ( (..):t- > :: I FL v~~= < X > < > 11 11 THENPF<I NT II That sub 1 evt£"-:! 1 e.':1.l re~,d y eH is ts ! 11 : GOT02251Zl 
2450 PHINT"Name? 11 ;: ML===25: GOSUB6: C~OSt!El'.'.::.: IFA$= 11 "THEN22:'.:i0ELSEA4$===A$ 
2460 PRINT"About to create su.blevel 11 X 11 ·- "A4$" ••• 0k? 11 ;:ML.=1:Gf.JSUB6:GOSUB4:GOSUB3 
: IF {-):1:-( > 11 Y II THEN2250 
2470 LV::t,: ( X) ==A4$: CMD"CHEf'-)TE, GROIJPS"+CHR:I:= ( X+48) +" /TFC: 11 +D5$: PR INT"Su.bl evt-:,1 cn.-?ated 
I II 

2480 GOT02:::::60 
2490 L==N3:R==1:F1=0 
2500 M=INT((R+L)/2):IFR>LTHENRETURNELSEGET4,M:IFCVI(MN$)=WTHENF1=-1:RETUHN 
2510 IFCVI(MN$)<WTHENR=M+1EL.SEL=M-1 
2520 GOT02500 
2~530 IF (PEEK (OIJ+:l0) f7:JND1.28) =0THENnUNT" I l le~1al Hemote Sysop ·function! 11 : GOTOl.0112! 
254-0 PRINT: PRINT"-,::Lf:-~V: Voti nq > 11 : PRINT "Enter· <C, D, L, Q, Z, ?>: 11 ; : ML==1: GOSUB6: GOSUB4 
: IFA~=-= 11 "THEN2540 
2550 I FFL. THENPH I NT#~!,, TI ME:t- 11 - Pv: Vo: 11 A:'I:: 
2560 ON INSTR ( 11 CDQZ?L 11 , A:t-) GOT02580, 2720, 1010, 26 70, 2750, 27 60 
2570 GOT02540 
2~i80 PR INT"Cr-eiate vat i ng c:at.egc:wy number"? 11 ; : ML=:2: GOSUB6: GOSUB'.'.::.: IFVAI... (A~~:) <==0THEN 
2540 
2~590 A:~:= 11 VOTE 11 +MID$ ( STF~$ ( VAL ( A:t-) ) , 2) + 11 / TFC 11 : FD=4: GOSUB28 
2600 FORX=0T012:LSETVS(X)=MKI$(-1):NEXT:PUT4,1:PIJT4,2 
2610 PFUNT"Enter active items, <ENTER> to end: 11 

2620 PRINT" Item? 11 ;: ML.=1: GOSUB6: GOSUB4: GOSUB3: IFA=*:::::: 11 "THEN2660 
26:::::0 IFA:'I:=< "(-~"ORA:'!:=>" Z 11 THENPRINT 11 I 1 legal entry! ": GOTD2620 
2640 Y=ASC(A$)-65:GET4,Y/13+1:Z==Y-INT(Y/13)*13:LSETVS<Z>=MKIS(0):PUT4,Y/13+1 
2650 GOT02620 
2660 CLOSE4:GOT02540 
2670 PfUNT 11 Zero whj,ch voting C<:':\tef.~or·y? 11 ; :ML=2:GOSUB6:GOSUB3: IFVAL(A$)<:::::0THEN254 
0 
~:~6E10 Ajf=-==" voTE 11 +Mr oi= < t:rrR:t- c VAL < A~t::, > , 2, + 11 1 TFC" : FD==4: G• suB2s 



2690 FORY=1T02:GET4,Y:FORX=0T012:IFCVI(V$CX>><>-1THENLSETV$(X)=MKI$(0) 
2700 NEXTX:PUT4,Y:NEXTY 
2710 PUT4, !#(L6*2):CLOSE4:GOT02540 
2720 PfUNT 11 Delete voting c:ategor·y number? 11 ; :ML=2:GOSUB6:GOSUB3: IFVAL(A$><=0THEN 
2540 
2730 KILL 11 VOTE 11 +MID$ (STR$ (VAL({~$) ) , 2) + 11 /TFC 11 : KILL 11 VOTEQ 11 +MID:=tr. (STH$ (VAL (A$)) , 2) + 11 

/TFC 11 

2740 GOT02540 
2750 PRINT 11 Choose one of: 11 :PRINT:PRINT 11 <C> -- Create a voting file 11 :PFUNT 11 <D> - D 
elete a voting file 11 :PRINT 11 <L> ·- List voting record 11 :PRINT 11 <Q> - Quit 11 :PRINT 11 <?> 

- Display this·help 11 :GOT02540 
2760 PRINT 11 List record in c2tt.ei;;JcJry numtJer? 11 ;:ML=2:GOSUB6:GOSUB3:IFVAL(A$)(=0THE 
N2540 
2770 {,,:;jr.:::: 11 VOTE 11 +MID$ ( STRj~: ( VAL (A$) ) , 2) + 11 /TFC 11 : FD==4: GOSUB28 
2780 IFN6(:3THENPRINT"Empty vcJti ng c:ate,;1cir-y ! 11 : CLOSE4: GOT02540 
2790 FORX=3TON6:GET4,X:PRINTSD$;CHR$(ASC(CA$)+65):NEXTX 
2800 CLOSE4:GOT02540 


